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Item format plan

S.N. Type of item Score per item Total item Total score Time
1 Multiple Choice Questions 1 1 1 25 minutes
2 Short Question Answer 5 8 40 155 minutes
3 Long Question Answer 8 3 24
Grand Total 22 75 3 hours
Remarks:

Item format in composite should be met as per the specification grid.

Designated weightage of the units/content areas should be met.

In the case of SAQ and LAQ), these should ensure that 1 mark will be assigned per element expected as correct response.

The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and
30% higher ability level.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 1 "OR"
question

(%)




Model questions

Grade XI
Attempt all questions
Group ‘A’
Circle the best alternative to the following questions. (11x1=11)

1. A metre rule is used to measure the length of a piece of string in a certain
experiment. It is found to be 20 cm long to the nearest millimeter. How should this
result be recorded in a table of results?

(a) 0.2000m  (b) 0.200m (d) 0.20m (d) 0.2m

2. Forces are applied to a rigid body. The forces all act in the same plane. In which diagram is
(a) (b) (c)

the body in equilibrium?
2F @ 2F
F F F F
o 900
2F 2F

3. An athlete makes a long jump and follows a projectile motion. Air resistance is
negligible.

Which one of the following statements is true about the athlete?

() The athlete has a constant horizontal and vertical velocities. é

(b) The athlete has a constant horizontal velocity and constant / \
downward acceleration.

(c) The athlete has a constant upward acceleration followed by a constant downward
acceleration.

(d) The athlete has a constant upward velocity followed by a constant downward velocity.

(1°)



4. At Kulekhani-I1 Hydro-power station, water flows from

Indra Sarowar into the turbines that are a vertical Lake T‘_
distance of 550 m below the lake, as shown in the  ——"7 ’\\
diagram. Generally, 780 000 kg of water flows into the %0m \:\\
turbines every minute. The turbines have the | \\j\
Y ] Tubine |

efficiency of 85%. What is the output power of the

turbines?
(a) 71 MW (b) 60MW (c) 4.2 GW (d) 3.6 GW

5. Graphs of stress-strain for four different materials are shown below. Which graph
represents the stiffest material?

2 2 i 2
tv 3 et b
= S 3 =
n & n
Strain Strain Strain Strain

(a) (b) (c) (d)

6. A boy walks towards a stationary plane mirror at a speed of 1.2 ms™. What is the relative
speed of approach of the boy and his image?
(a) zero (b) 1.2 ms-1 (c) 2.4 ms-1 (d) 1.44 ms-1

7. The critical angle between an equilateral prism and air is 45°. What happens to the incident
ray perpendicular to the refracting surface?
(a) ltis reflected totally from the second surface and emerges perpendicular from the third.

surface.
(b) It gets reflected from second and third surfaces and emerges from the first surface

(c) It keeps reflecting from all the three sides of the prism and never emerges out.
(d) After deviation, it gets refracted from the second surface.
8. In the formation of a rainbow, the light from the sun on water droplets undergoes which of

the following phenomenon/phenomena?

(a) dispersion only (b) only total reflection.
(c) dispersion and total internal reflection (d) scattering

9. In what unit is the power of lens measured?
(a) watt (b) metre  (c) dioptre (d) Hertz

(19)



10. A piece of wire of resistance R is bent through 180° at mid-point and the two halves are
twisted together. What is the resistance of the wire thus formed?

(@) R/4 (b) R/2 ©R (d) 2R
11. What are the elementary particles with half spin called?
(@) quarks (b) bosons (c) fermions (d) hadrons
Group 'B'
Answer the following questions. (8 x5=40)
1. (a) State the law of conservation of momentum. [2]

(b) A jumbo jet of mass 4 x10° kg travelling at a speed of 5000 m/s lands on the airport. It
takes 2 minutes to come to rest. Calculate the average force applied by the ground on

the aeroplane. [2]

(c) After landing the aeroplane's momentum becomes zero. Explain how the law of

conservation holds here. [1]
OR

(a) State Hook’s law. [2]

stress
(b) The walls of the tyres on a car are made of a rubber
compound. The variation with stress of the strain of a
specimen of this rubber compound is shown in Fig. 1.2.

As the car moves, the walls of the tyres end and straighten

continuously. Use Fig. 1.2 to explain why the walls of the % Fig.1.2. ™
tyres become warm. [3]
2. (a) What is meant by specific latent heat of vaporization of water = 2.26MJkg? [1]

(b) A 1.0kW kettle contains 5009 of boiling water. Calculate the time needed to
evaporate all the water in the kettle. (Specific latent heat of vaporization of

water = 2.26MJkg ™). [3]
(c) Explain why the actual time needed is a little longer than the time calculated in
2(b). [1]

3. (a) Sate any three properties of an ideal gas as assumed by the kinetic theory of gas.  [3]
(b) A student needed to use the ideal gas for a certain experiment. But, the ideal gas does
not exist. Suggest what two different things this student could do to solve his problem.

[2]

4. (a) Define temperature gradient in an object. [1]

()



(b) An electric kitchen range has a total wall area of 1.40 m?and is insulted with a layer
of fiber glass that has a temperature of 175°C and its outside surface is 35 °C. The
fiber glass has a thermal conductivity of 0.040 Wm™K*. Calculate the rate of flow of
heat through the insulation, assuming the fibre as a flat slab of area of 1.40 m?.  [3]

(c) How might the rate of conduction be affected if the fiber absorbs moisture? Justify your

answer. [1]
5. Figure 5.1 shows a ray of light is entering and
emerging through a part of a convex lens.

(1) Define ‘convex lens', and state one daily

Normal /
/

application of it. [2] 5
(i) Explain why this lens is also called N e
converging lens? [1] 5a0lf

(if) Calculate the refractive index of the material j
of the lens shown in the figure.

[2] Fig. 5.1
OR

(a) Define ‘concave mirror’ and state on daily application of it. [2]
(b) A certain projector uses a concave mirror for
projecting an object’s image on a screen. It , e = 5m m
. . . . image
produces an image that is 5 times bigger than X
the object and the screen is 5m away from the Object
mirror as shown in Fig. 5.2. I
(i) Give reason why is the image larger than the
object? [1] Fig. 5.2
(i) Calculate the focal length of the mirror.

[2]
6. (a) Sketch an electric field pattern around two identical negative point charges shown
-Q below. -Q [2] y
Y @
r r
Fig. 6.1

(b) Obtain an equation, in terms of Q and r, for the field strength at point X due to two
charges shown in shown in Fig. 6.1 [3]

7. (a) Define capacitance of a parallel plate capacitor and state one application of it in
electric circuit. [2]
(b) Three capacitors each of 1000uF are connected in an electric circuit as shown
below.

(1)
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Fig. 7.1

(i) Identify the type of combination shown in Fig. 7.1, and calculate the effective
capacitance of the combination. [1+2]

8. (a) What is it meant by power of a heater is 2 KW? [1]

(b) Calculate the resistance of the above mentioned heater when it is connected to 220V
source. [2]

(c) Suggest what changes must be done to the heater so that it gives more heat. Justify your
answer. [2]

Group 'C'

Give long answer to the following questions. (3x8=24)
9. A box at rest is accelerated by a rope attached with a motor as shown in the Fig
2.1. The velocity-time graph given below shows the pattern of its motion for 20 s.

25
v/im/s) 20
15
10
5
0
0 5 10 15 20
1(s)
(@) Ifthe box is pulled with constant unbalanced force 10N. Show that the initial
acceleration of the box is 2.5 ms, and calculate its mass. [2+1]
(b) After 2.0 second the box is being pulled by a constant force 12 N.
Determine the size of frictional forces acting on the box at this time. [2]
(c) Determine the distance of the box travels along the ground at 8.0s. [3]

10. A boy is operating a remote-controlled toy car on a horizontal circular track, as
shown in Figure.

(%)



The track has a radius of 1-8 m and the car travels around the track with a
constant speed.

Fig. 10.1

(i) Explain why the car is accelerating, even though it is travelling at a constant
speed. [2]
(i)  The car has a mass of 0-50 kg. The boy now increases the speed of the car
to 6-0 m s 1. The total radial friction between the car and the track has a
maximum value of 7.0 N.
Show by calculation that the car cannot continue to travel in a circular
path. [3]
(iii) The car is now placed on a track, which includes a raised section. This is
shown in Figure 10.2

The raised section of the track can
be considered as the arc of a circle,
which has radius r of 0-85 m. The
car will lose contact with the raised
section of track if its speed is

greater than Vimax. Show that Vmax

is given by the relationship Vmax

= \/ﬁ : [3]
OR
Juno is a NASA orbiter with a
mission to survey Jupiter. It is
in an elliptical orbit around
Jupiter as shown in the figure
below.

(14)



The gravitational potential at point A in the orbit of Juno is -1-70 x 10° J kg*.

(a) State what is meant by a gravitational potential at point A is -1-70 x 10°J
kg™, [2]

(b) At point B, Juno is 1-69 x 108 m from the centre of Jupiter. If the mass if

Jupiter is 1.90 x10%' kg, calculate the gravitational potential at point B.
3]
(c) The mass of Juno is 1-6 x 10° kg. Determine the change in gravitational potential
energy if Juno moves from Point A to Point B. [3]
11. (a) Explain how Rutherford’s a-scattering experiment suggested that the nucleus of an
atom is very small, very dense and positively charged. [3]
(b) Considering that the a-particles carry average kinetic energy of 2.00 x 10%° J,

calculate the maximum size of the gold nucleus. [Atomic number of gold is 79 and

e=1.60 x 10°C] [3]
(c) Explain why the radius of the gold nucleus must be much smaller than the value
calculated in 11(b) above. [2]
K U A H
MCQ 2 5 3 1
SAQ 2+3+1+2+2=10 | 1+1+2+1=5 | 3+3+2+2=10 | 2+1+1+2+1+3+3+2=15
LAQ 3+2+3=8 2+3+3=8 3+3+2=8
Total 12 18 21 24
Mechanics Heat & Waves Electricity & | Modern
Thermodynamics and optics | Magnetism Physics
MCQ 5 (5) 0 4 1 1(1)
SAQ 1(5) 3(15) 1(5) 3(15) 0
LAQ 2 (16) 0 0 0 1(8)
Total 26 15 9 16 9

(%)




“@ttata (Accounting)

FET 19 arattata (Accounting) Acc.103
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T e PrE i I G % faamor
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g9+ (@ T g9 g9 &
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¥ HHERT 0. FRHRT r@Trarg 3 q 2| s 3 3 ¥+% | 9% [ 3% | 3%
Srafafy
STHT 19 9 AR ¥ R 19 E 39 RY ¢ | 9¥0 q¥0
9T R RIS B Y R0
STHT q00 %0

Note: Th=Theory; Nr = Numerical
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¥, STH TEHT qUISHH 0 IAATHT T eI, 3= F&7dT TeAT 0 FAeTqd TheEA T T qg TeHdT AATHATTIR T

@ B |
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wattaf (Accounting) [Acc. 103]

THAT J797 008 (Model Question 2077)

Time: 3 hrs Full Marks: 75

qHE “%”  (Section “A”)
(srfa st Srews geEe / Very Short Answer Questions)

o JEeEeH Juv fage | (Attempt All Questions) 19 X9 =1

1.

@ AferEs T & 8 ?
What is book-keeping?

2. S@ratae 9 33 SI8YT Iwi@ TR |

Mention any two objective of accounting.
3. Hifgd AU qFURIE 9T AR |

Write the meaning of money measurement concept.
4. I TAATS TATIT TRl |

Define trial balance.
5. @EfFEd =@ 97w & & ?

What is cross cheque?
6. Iaifras Ffeerr arewr deTEE |

Write about error of principle.
7. SR AHH F A ?

What is reserve?
8. U @ T AT @ AT FA U AT dederd |

Write any one difference between capital expenditure and revenue expenditure.
9. Ul WIH F & ?

What is dhapot?
10. & 7rer foparerer afearer faEm |

Define bank cash book.
11, e faes 9arT I T |

State the use of budget sheet.

qHe “@” (Section “B”)
(Ffer Sarw® geee / Short Answer Questions)

o yeeeeH SN fege ) (Attempt All Questions) & XY = ¥o
12. A “@EyiEarers HeaH Serd T, | 3

State accounting process in brief.

(<)



13.

TAH [TaRUETH FEARTATE @l FIHFT TR THEE |

Prepare accounting equation from following details.

a)
b)
c)

d)

TE ¥.3,00,000 T HiA=RX & Y ,00,000 q[C FFATIH] FATA AT |

Started business with cash Rs. 2, 00,000 and furniture Rs. 5, 00,000.
T & 50,000 T JART &, 80,000 HI WA @ TRAT |

Purchase goods worth Rs. 80,000 on cash and 70,000 on credit.

¥R ATST &, 20,000 TR AT |

Paid rent Rs. 90,000.

¥, 30,000 H AT &. W, 000 W7 fafe fem |

Sold goods costing Rs 20,000 on cash Rs. 25,000.

A. TTE T TehehT FRIARES T [GZTHT B,
Cash and banking transactions are given below:
919 §: A T FF LT FHA F £0,000 T F 3,00,000

Poush 1: Opening balance of cash and bank are Rs. 60,000 and 2, 00,000
respectively.

Y 93 TG T 30,000 SHHT STEAT AT |

Poush 13: Cash deposited in bank of Rs. 30,000.

qY R A|ATE 633,000 FF W qhHT T & 34,000 &7 feara fgar wifear |
Poush 22: Paid of Rs. 32,000 to Ram through cheque for settling account
of Rs. 35,000.

T Re: Jfar fqEt arad AfaRereTe ® 92,000 F1 FE T ¥, 3,000 TG G AT |
Poush 27: Received a cheque from Aviral of Rs. 19,000 and cash Rs.
3,000 for selling machine.

Far e (Required):

& wewrm Twe qfear (Triple column cash book) 3

=R @ivg gt faare aa fesusr s ¢
Transactions related to furniture purchases are given below:

feqwar Y ®30 qegdre @ig

Dec 5: Purchase from Karuna suppliers
qo &k aaa %. 9,00,000 AT (10 coffee tables for Rs. 1,00,000)
0 =& A F&E %, ¥,000 HT azAT (20 small chairs @ Rs. 4,000 each)
=R ge 90 % (Trade discount @ 10% )
fedmar 9: o=Tell dgdaTe @fe
Dec 19: Purchased from Anjali traders:
Y 7T g9g ¥ 94,000 & AT (5 beds @ 15,000 each)

(0)



14.

15.

© a1 AT 42 . 4,000 F1 341 (8 pieces of sofa @ Rs. 25,000 per sofa)
Far arerd (Required): @fs fwama (Purchase book) 2

forarores fearaar fegusr o

Following information are given:

a) R fdrae HisaTd & 50,000 @M |
Cash book showed a balance of Rs. 80,000.

b) fafa=r =rpezare ST MRUFT ¥ WY 000 W F 30,000 WA FHAT THAT TUHT g |
Bank credited Rs. 20,000 only out of various cheques of Rs. 75,000
deposited in the bank

C)  %.%0,000 F & TR AIHHT %.40,000 ARTATEHT = TRTATHT ATNT SHHT Ao FAfT
TE g AU
Cheques issued of Rs. 90,000 but a cheque of Rs. 10,000 was not
presented for payment till the date.

d)  TTEE =F ARG ST TR & ¥¥,000 F AR fhdradr Afterm sfEud |
A customers deposited a cheque of Rs. 44,000 directly in the bank but
has not been recorded in the cash book.

e) kel UTH FHAT S Aok & K00 G FAITH @aT |
Bank debited Rs. 500 as bank charge in the pass book.

f) % 9R000 F¥ =F e WA T AW feparearr Aferg AT ¥ SEHET STERT g9 T |
Cheque of Rs. 12,000 received and entered into the cash book but failed
to deposit in the bank.

o wer@ (Required): @@ fewma faems faawor (Bank Reconciliation Statement) 5

A, ITIAT THE AR T IS AeATTaRe Afceedrs a=asTed | 3
Rectify following errors before preparing of trial balance.

a)  eTATATE ATEHT fafe wivuEr ¥ wy,000 I @rarr fae it

Cash sales to Sharma Rs. 45,000 debited to his account

b) = 9%,000 fafe ar A= @l fEaremT qaae sfee atar

Sales of machinery @ Rs. 19,000 were wrongly credited in sales account.

C)  TWI HMH %.30,000 FH I& GREATS (i @IATHT Afqer@ AT

Purchase goods from Pema Rs. 20,000 recorded in sales book.

B. I qqeturene METEReS [aRues (Wieuar g
Following information are extracted from the trial balance

(x9)



feraor (Particulars ) gfae (Debit) ez (Credit)
%(Rs.) % (Rs)

fafaa smamies (Sundry debtors) 52,000

@z ok g (Provision for bad 7,000

debt)

e = (Bad debt) 1,000

aq sasrar (Additional information)

a)
b)

ga | % 3,000 (Bad debt Rs. 2,000)
g Aol gagrE 4% (provision for bad debt @ 5%)

Far e (Required): @zrer ot yragr @rar (Provision for bad debt account 2

sraar (Or),

A T FFAF! ATAENNTT T T fqer (Hear fTeusr g
An unadjusted trial balance of ‘A’ trading concern is given below

faazor (Particulars) gfqe (Debit)  |faa=or (Particulars) |#fee (Credit)
%.(Rs.) %.(Rs)

sifa @ar wa= (Land and building) 400,000 g5 (Capital) 425,000
smarr (Debtors) 225,000 =g (Creditors) 120,000
&% #rsara (Bank balance) 145,000 |fa=t (Sales) 515,000
Taa (Salary) 80,000 = (Loan) 250,000
Fraraa @+ (Office expenses) 40,000

@tz (Purchase ) 380,000

7z (Cash) 25,000

gt 4 (Prepaid insurance) 15,000

s(Total) 13,10,000 sr(Total) 13,10,000

aq e (Additional information):

a)
b)
c)
d)
e)

atow wratea @= (Office expenses prepaid) Rs 3,000
st 7= g (Land appreciated by) 10%

fq =t g@= (Salary outstanding) Rs. 1500

e = ¢ (Bad debts written off) Rs. 2500

st Frarer gwrer (Prepaid insurance expire) Rs. 10,000

Tar e (Required): swmtsa == wreer (Adjusted Trial balance) 5

16.

Fa q, R095 AT ABC #F¥IT %, §,00,000 T HIGR 99 @i¥g T=AT | S[ETE q, 3092 AT FFIwT

#H HEX 99 %, 5,00,000 A @RE TAT | § FATs 030 AT Gfedl GRE TH A2 AAATE T8
¥ 40,000 graTHT fafe T=T T Hife fAAET ¥, 90,00,000 RTERF! AH HAEX AT @RE T=AT |

(x3)




feae ferean fafurar ger =g 0% #1 TR gfqad Fferg T 8¢ a7 FEIAR FRIAR FSLqwatem
3 AT F= IR |

On 1% January, 2018 ABC Company purchased a motor van at Rs. 6, 00,000. On
1%t July, 2019, company purchased another van worth Rs. 8, 00,000. On 1% July
2020, the first motor van was sold bearing the loss of Rs. 50,000 and on the same
date company purchased another van for Rs. 10,00,000. Depreciation was
charged @10% p.a. under fixed installment method. The accounts of the
company were closed on 31% December each year.

Far e (Required): d ave@mT wex w= @rar (Motor Van account for the first
three years) (1+2+2=5)

17. 74 9@ =97 30, 0N F AT THAT T R T,
Trial balance of Nabin Trader on Chaitra 30, 2071 is given below.
fera=or (Particulars) %.(Rs.) |fa=zor (Particulars %.(Rs.)
fafe == (Selling expenses) 5,000 |== arwt(Gross profit b/d) 87,000
=t (Interest) 5,000 [=mg (Creditors) 8,000
srardr (Debtors) 25,000 | == =wr(Bank loan) 19,000
e Ao (Bad debt) 2,000 |@Ter HOrehT yradr 2,000
(Provision for bad debt)

g (Insurance) 1000 |gsir (Capital) 50,000
Taa (Salaries) 20,000

@t (Investment) 40,000

T1e (Cash) 14,000

#faw (Machinery) 50,000

arer (Rent) 4,000

s (Total) 166,000 |sm=1 (Total) 166,000

a7 fa faazor (Additional information)

a)  #fawimr g= 0% gfqad (Depreciation on machinery 10% p.a)
b) fa= =@ a=ra % ¥ooo (Salary payable Rs. 4,000)
c) Tat @@ w0 % 9,000 (New bad debt Rs. 1,000)
Tar e (Required):
a) A A @rar (Profit & Loss account)
b)  araama (Balance sheet) (3+2)

(R3)



18. Yewmw® tFmawe faavuee faguw g7 (Red Cross provides following
information):

1-9-3095 @1 amaraa (Balance Sheet as on 1-1- 2018)

zttrea (Liabilities) Amount | Assets Amount
g5t #ww (Capital fund) 4,00,000 | == =+t (Fixed assets) 3,00,000
= (Loan) 60,000 | = (Investments) 1,00,000

gfeaw 7 deera (Closing | 60,000
cash balance)

st (Total) 4,60,000 | s+ (Total) 4,60,000

TERAH fAfq 39-9R-R0%5 F U T SRS qd [GSUH G

Receipts and payments of Red Cross are given below as on 31% -12-2018

gr=it (Receipts)

TT=r & (Subscriptions) Rs. 50,000

gaer & (Entrance fees) Rs. 30,000

e = (interest on investment) Rs. 5,000

T wiF=r fawr (Sale of old Furniture) Rs. 5,000

fer (Payment)

zata=e = (Tournament expenses) Rs.10,000

sarem(wages) Rs. 20,000

fafeg (Printing) Rs. 7,500

grar= @= (General expenses) Rs. 12,000

=T (Newspaper) Rs. 1,800

o faerres e feguat g (Other information and outstanding are given below):

a) fufee == fa= ate#r & woo ¥ wamenm fa+ an#r . 300(Printing outstanding Rs. 500 and
wages outstanding Rs. 3,000)

b)  ¥o% wawr s gsina (40% of the entrance fee is to be capitalized)

c) fer e 7 =@ 90 % (Fixed assets depreciate by 10%)

d) #E= g at#r w.33,000 (Subscription due for the year Rs. 22,000)

Tar e (Required):

a. g ¥ s arar (Receipts and payment a/c)

b. srr @ar =57 arar (Income and Expenditure a/c) (2+3)

(x¥)




19.

A.  99AT THERT F@T YUITSAT AwTd @l e TGS | Il AFas] q, 3099 |T . 3,00,000
AT g 9% TRA | AT FqHTEAT 3. ,000 & T B Geel AT Zagraare "0
femerT T | ITRT AT ATTHERT TR faaRr HETEr TS g |
Shweta keeps her account under the single entry system. She started a
business with Rs. 2,00,000 on 1% Jan, 2017. She withdraws Rs. 2,000 per
month for household work. The position of her business at the end of the
year was as follows;

ferr weiT (Fixed assets) Rs. 1,90,000

Hisara (Inventory) Rs. 85,000

faraiar @= (Due expenses) Rs. 10,000

@z (Creditors) Rs. 50,000

s (Debtors) Rs. 40,000

s wWreard (Bank balance) Rs. 60,000

Tar e (Required):

a)  af=w s fqarer (Closing statement of affairs)

b) = A faerer (Statement of profit and loss) (1+1=2)

FSTeaATEaea FIATAIH! FRERE! (HeTars! faaze fegusr g ¢
Following transactions of District level office are given:

a)

b)

I q, TREAT ATATs 9id AfETT ¥, 5,000 F1 TR 3 AiEHATET TRATST AR AT |

Chaitra 1, House rent @ Rs. 8000 per month for three month paid to

house owner Sailesh

=T Y, AL, THAEA &, Y000 H BIHER e T 3, Q000 HT Sk BT YT AT

fTept Teehl & K000 HPATE TRAT |

Chaitra 15, Furniture advance of Rs. 5000 was cleared as per bill of Rs.

6000 and bank voucher of Rs. 1000 submitted by Na. Su. Ramchandra

FHATIHT F1lceh AT TRHHF & 30000 (FFATH 99 dATeF) T . £000

FHAT JAAHT, F.3000 ATHITF FET FIT T F. U00 ITTHT FHFT T THA faawer

e |

Staff renmeration of kartik Rs. 30000 (with out provident fund) was

distributed after deducting P.F. Rs. 6000, social security Rs. 300 and

income tax Rs. 1500.

Far e (Required): s+« = (Journal Vouchers) (1+1+1=3)
Faar(Or),

(R4)



frerarRe serEs feguw g (Following information are given):

aie gty (Budget sub- | =nfifs =@ (Annual RIATIT FEHRT T

heads ) budget) (Expenses up to
Falgun)

FH=merea @< (Employee 800,000 400,000

remuneration)

Fratea @ (Office 120,000 60,000

materials)

=zarer (House rent) 140,000 80,000

wif=r T fefes (Furniture 80,000 35,000

and fitting)

Tarer ara= (Vehicles) 500,000 350,000

=7 wfeqredr @< (Expenditure for the month of Chaitra):
=7 q, ®iH=Y @ikg ¥ 90,000 (Chaitra 1: Purchase furniture Rs. 10,000)
=7 4, ardr @fvg %.900,000 (Chaitra 5: Purchase vehicles for Rs.100,000)
=7 qo, AR ATeT {hT % q0,000(Chaitra 10: Advance rent paid for Rs 10,000)
T 5, AT FX 9000 T FHARY & 5000 HE TR FHANH JIEEHE & 3000 faawo
afedr | (Chaitra 28 Distributed Rs. 35,000 for employee’s remuneration after
deducting income tax Rs. 1,000 and P.F. Rs 8,000)
Far wer@ (Required): asie faazor (Budget Sheet) 5
qHE “U”  (Section “C”)
(e ST wewee / Short Answer Questions)
Y qeeed I e | (Attempt All Questions) 3IX5 =RY¥
20. gwfes Fwtaer faave fFerEr fTEuwr o
Information of Samriyan Enterprises is given below

a. 7T ¥.30,000 W AAHH qH

Started a business with Rs. 200,000
b. THET F94,000 F FHE @RE

Purchase goods of Rs. 15,000 from Ram
C. T F. 45,000 AT A faih

Goods sold on cash Rs 18,000
d. wwemE % q0,000 R fafer

Cash paid to Ram Rs. 10,000

(%)



21.

e. THHT Hel 7E & 30,000 H FHA @G

Again goods purchase from Ram of Rs. 20,000
f. AHAATE %, R%,000 fTRT FFIO FRER AHATE (AT

Paid to Ram Rs. 24,000 in full settlement of his account.
Tar e (Required):
a. ster siree(Journal Entries) b. smavas @z (Necessary Ledger) ¢. @ aereror (Trail
Balance)

9P LWRH 3, feFFR 2030 & e T MHEATER [T2us 3 .
The trail balance of Deepak Store as on 31% December, 2020 is given below:

(3+4+1)

faazor (Particulars) % (Rs.) feazor (Particulars) % (Rs.)
wree ¥ At (Plant 360,000 | wff=r fazkr =T (Gain 10,000
and machinery) on sale of furniture)
Tae @=(Salary 71,000 | =g (Creditor) 96,000
expenses)
ferel T & BT AT 755,000 | fazr (Sales) 1053,000
(Cost of goods sold)
srardr (Debtors) 34,500 | =g T AfarereRT Fiere 45,000
qeaer@ (Accumulated
depreciation on plant
and machinery)
wfewerr Hvara (Stock 110,000 | 15% == =wr ( Bank 56,000
at end) loan)
gt fwar (Drawing) 15,000 | g5 (Capital) 350,000
10% =T 120,000 | s=mirr = (Interest 10,000
(Investment) on investment )
=t (Good will) 48,500
g ¥ geaa @ (Gas 8,000
and oil expenses)
Tz (Cash) 40,000
#+a @+ (Repair 34,000
expenses)
gt 4 (prepaid 24,000
insurance)
st (Total) 1620,000 | s (Total) 1620,000

(R¢)



aq s (Additional information)

a. dad @@ 0% ¥ gemaeE @=ewr 0%
Salaries are 80% of selling and 20% administrative expenditure.
b. @< 9uear §m@r % 95000
Insurance expires of Rs. 18,000
C. wire ¥ AR 7o =E 4%
Depreciation on plant and machinery is 15%
d Y qAT ST GHET [ @

Gas and oil expenses are selling expenses.
Tar e (Required):

22.

a. @ faazor (Income statement based on NFRS)
b.  a=era (Balance sheet based on NFRS) (4+4=8)
srgan(Or),
TIFTET @1 JOTeAl AT & 212 AT FLHRN @l JUTetiehl (qevares geor@ e | (3+5=8)
What is government accounting? Explain the features of new government
accounting system.
A. FF T fpdTa AR T e FREReT FEuw g 4
Following transactions are given to prepare a bank cash book.
HTY q, S HIwaTT & 94,000
Marga 1: Balance at Bank Rs. 75,000
HTE 3, FoTe [FHTAT . 3,34,000 FRTAEHT S TS T AT
Marga 3: Received bank transfer order Rs. 3, 25,000 as a budget release
AT %, HiTAR @REHT AT ¥, 20,000 & =% AT TRAT |
Marga 9: Issued a cheque of Rs. 20,000 for purchasing furniture.
ATH 3R, AgHd AT THA T, 10,000 I X @RE TH (49 T 5. 3,000 TE T90 W
Tt fTeT ST wagdie e |
Marga 22: Cleared advance of Subodh Regmi against the submission of
bill of book purchase amount of Rs. 10,000 and cash Rs. 3,000.
T 30, HHATHT HTH ATEATH TRATHE $.55,000 FLH %, 95,000 FTFHT T T, ¥,000
HATAHT Fg T oAbl THH HThTA AT |
Marga 22, Distributed total salary of Rs. 88,000 after deduction of Provident
fund Rs. 16,000 and income tax of Rs. 4,000.

(%)



B.

fFTTERE SHerEe faguw ga (Following information is given):

Fore forde (Budget EUREICEES TS FFEH @ AT @

Heads) (Annual (Expenditure (Expenditure of
Budget) upto Bhadra) Aswin)

T (Salaries) 2,75,000 55,000 24,000

w1 (Allowances) 80,000 10,000 6,000

g @=(Office 60,000 15,000 3,000

expenses) 1,50,000

=zarer (House rent) 75,000 25,000 12,000

wi=r ¥ fefeg (Furniture 35000 |-

and fittings) 2,00,000

At (Machinery) || - 80,000

ser (Total) 8,40,000 1,40,000 1,25,000

a7 s (Additional information):
a)  wrgwAr #W % 3,24,000 (Revolving fund received Rs. 2, 95,000)
b) = #ea ® 2000 (Cash Balance Rs. 2,000)
C) wadle g7 ater gedr v quooo (Unclear advance Rs. 15,000)
d) afsw®r #@f@@ee 7w % 3,000 (Loan by nearby office Rs. 3,000)

Tar wer@ (Required): @=ir wiearr (Statement of expenditure) [4]

(x2)
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i wE |9¥ o
SEIELEECIT]
fafues
qR0 |4 % R - E R q 9 R R R q 11 ¥0 | R¥
T GEAT, ASHAR I THT qrieAeT
FHH | TR IFR T qge | 90 A g R RhalIEERRIL T (Fre)

q 8 I ye 19 1 19 %

R BT 999 S Y ¥ 0 _%

3 ATHT 99 3 & Q¥ Yz

SET R 9%, 950 e (3 =van)

JYTEE HIEAT AT TANFUHT THEETHT ekl UHedld TETAR T HBARE] e [Hed TR J9FT Fled T, |

THEH! STEAT HAFHAT FXeh AT T THEFAFT THGHAT £3 Fi¥eh T YA (AT T4 F(obrg, X Tcdeh THIATE 99 Fitge T
fra=e JEar HTAH THIAE, |

JTATITAT T TEHT FIH 0 FIATd, aTe TehT T9F 30 GIq9Td, TANT qehT T9F U FIq9Td T I=o I&TAT qgehl FIH U Ficqere Fivere
3

I FEAATANT [ATAT, HATHA T fasiar @ T JeA (A7 T0 G |

T T 93 T 9% AT T #f1er aAfafead @rar qedes TaH Y9 F 9 AT USer T ArHr Afdiedd g9 @re] 91 |

AfeFTsT THe a7 O FA THTgATe ATHT I AITHT T TS ATeehad UHEATE i @Iel ¥ el oTes Al Ine, | aTH JITH1 T
HeaT 6T 99 Jedee i |red Al g |

(39)




TAFHA faHhE s
T T favg
FAT 99
AT T3 I

I TIETH! IR fETET |

T F: AT TIES 999 = 19

Q. ITHTOr faeRrreRr w we e feaes 1 (K)

(Give an one introduction of rural development.)

3 THIY faemraed g5 Igeuee aeed | (K)

(Write down two objectives of rural development.)

3 9gEd giane & us " aeterd | (U)

(Write any one importance of joint family.)
¥, YT geAs Ue fasraan aeem | (U)
(Write any one features of rural tourism.)

Y. TEHTET S BN SEE T e WS B A E AFErd T T
fetea 1 (A)

(What suggestion will you provide to your friend who is intrested to
run agro based busisnes in mountanious region.)

% FYTCTl ATHINSTE FXAATT THT fqepraAr qeebl w7 uger 5419 e | (HA)
(Write down the any one impact of social structure of Nepal in rural
development.)

S U e AHIART F qedel HeAraadr AarH - aeterd | (K)

(Write any two names of ministries at province level.)

S SOTerel |fgETT 09 T gRT Haata Haae Gifas ewevdr swr@ @ 7 (K)
(Which articles of constitution of Nepal has mention the
fundamental rights of people .)

R, =T ArsareR faeeptad are aetera 7(U)

(Write down long term vision of current plan.)

Q0.  TITHI ATSTATA YTHIOT farebrarer I o % Uk 991d weterd ¢ (HA)

(Write down the impact of local level plan on the lifestyle of
citizen.)

Q4. IS el F g5 daaee aeteE | (K)

(Write down any two components of project cycle.)
e @ Y YYEe Gx¥ = ¥O

)



R

3.

9%.

9.

q%.

qe.

9z.

qR.

TATAR] YTHIT &THT A2+ Tekiqe draee I Ter | (K)

(Mention the natural resources found in the rural areas of Nepal.)
Or

I faepraert (MaRe qeaged! == THed |

(Discuss the determinants of rural development.)

THTOT faehT&eRT AT ATHTRIRT qoT ATAHE STASITdTRl I T W& AT F

g wATEars g e | (HA)

(It is necessity for the upliftment and protection of marginalized and

endangered castes for the rural development. Highlight this

statement.)

TTHTT fepraAT IO T yagel TRl hRIcHSE Te7e% diearsierd | (A)

(Point out the positive aspect of promoting rural tourism regarding

rural development.)

AT I IR ATHIOT [qebTHAT b ARTATAR HHTATAATCHE TTH ool

T | (HA)

(Critically mention the contribution of Nepal electricity authority in

rural development.)

MR AZSATCHE FAATH @l J&qd T1ar | (A)

(Present the frame of organizational structure of rural

Municipality.)

arareRer  fa T faspEed awr aFeeg dargte ™ | (HA)

(Clearify the interrelationship between the environment and

sustainable development.)

AR Ehel AR JagAHT a1 T3 Fa< 7 e ave | (U)

(Right of information enhances the good governance how? Clarify

this statement.)

TTEIFAA T AR Aot wid gearsdea ™ | (K)

(Differentiate between the long term plan and short term plan.)
ERE|]

T AR yHE fadmares I T e | (K)

(Mention the key characteristics of Fifteenth periodic plan.)

YHE T STHT YRAEe gx3 = ¥

0.

TATAH! AR fafaerarer YTHOT STrad T [aeradT qehl THEEs RTUEHAT TF
frarg Taw aEE 1 (U)

(Prepare an essay on the title “The impact of cultural diversity on
rural life and development of Nepal’)

(%)



1.

R

ANTAR TEIANT ATAT AR el gHiarcHs feoqfr e | (HA)
(Give a critical comment on the function of Commission for

Investigation of Abuse of Authority.)

et
HiedT, TR AT TS ANTRE Fearardel UTHIT [GhTqHT B! TR
qated e | (HA)

(Evaluate the contribution of Ministry of Women, Children and
Senior Citizens in rural development.)

THAT JEaraAT dar e | (A)

Prepare a model of a proposal of rural development project that is
going to conduct in your community.

(&)



Jurisprudence and Legal theories

Jurisprudence Class-11
Specification Grid

Plan for Question and distribution of marks covered

Unit |Content Area Teaching | Knowledge | Comprehens | Application | Higher Total Total | Total
Hours ion ability Questions Marks
covered
VS| S| L|VS|S|L|VS|S|L|VS|S VS| S | L

1 Introduction to

Law and

Jurisprudence 20 1 11 1 311 4 8
2 |Types of Law 12
3 |Sources of Law 6 1 1 1 1]12]0 3 11
4 |Various Schools

of Thought of

Jurisprudence 18 11 1 1 2 1)1 4 15
5 |Rights and Duties 12

Concept of
6 |Property 1 11 1 2 11| 4 15

Possession and
7 Ownership 12

Concept of
8 Personality 10 1 1 11111 3 14
9 Morality and Law 8

Concept of
10 |Justice 10 1 1 1 1 21210 4 12

120 |6 |11 ]3|3]1 210] 2|2 11|18 | 3| 22 | 75

Notes:

(34)




1. The alternative short and long questions will be asked from appropriate chapters taking in to account the
nature, depth and coverage of the contents.

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

3. Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the
possible extent. All the questions shall be compulsory. However, two alternative questions will be added to any
two questions among the total questions asked.

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However,
one alternative question will be added to any one of the three questions.

5. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in
higher efficiency and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22).

(%)



T 999 9% 08¢ (Model Question 2077)
faftrerer T w fag (Jurisprudence and Legal theories) [JIt.107]

e (Grade): Xl

Taa(Time) : 3 Hrs. quirgs (Full Marks): 75
TS WHAE AR AT WiE IR AT | AR fASua aewe qieddrs e |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

e % (Group A)

afq e Sarcs Temes (Very Short Answer Questions)

s yreeed 9w fee (Attempt All Questions.) (11x1=11)
1. TS A5 aRHTNT TR |
Define the term 'sanction’.
2. fafgeme awer & & 7
What is jurisprudence?
3. HA [ HEIW B & 35 HRUEE [GHAN |
Why is law important? Give any two reasons.
4. FRATT A TRl % Bl 7
What is meant by Substantive Law?
5. JUTHl Ad efard |
Write down the meaning of Custom.
6.  HIAT TFIH ATQY & | T FAAATS g5 ATHRHAT FHIUTT Tl |
Law is command of sovereign. Justify the statement in two sentences.
7. Hife® &F T FAAT EHATAR B 3eAdT BRFET Jodd TN |
Mention any two differences between fundamental rights and legal rights.
8.  Hifqe waterepr afesTaT fame |
Give definition of corporal property.
9. I AT F AT 7 AETE |
Who is legal person? Write down.
10. FTA ¥ Afqepardi=rel Trw 35 TR Iodd TR |
State the relationship between law and morality in two sentences.
11. WRHRT AT TSl & 2l 7

What is meant by public prosecution?

(z¢)



¥ @ (Group B)
i Saee Teew (Short Answer Questions)

I3 yyeEd S} e | (Attempt All Questions) (8 x 5 =40)
12. fafaemeasl &8s aren T |
Explain the scope of Jurisprudence.
13. LT FAA T AN HTAAAH JAAT THRI |
Compare between national law and international law.
14. [ggmad FEA FTAART TATHE =T 81 7 IS0 Fied ATl T{ar |
How is legislation the primary source of law? Explain with examples.
15. WThide GRS ¥ (TSI uuTcHe TFIRTIAH] HiFed d&lald |
Write the differences between natural school and analytical school of jurisprudence.
#rerar(Or)
FHTSTEATT TR T UAeTasd EIRrIa=dl fidhes deled |
Write the differences between sociological school and historical school of jurisprudence.
16. HTHl TUTEH! F T [GHET ATRAT FMH FRATETHT TTH YT AT S,
TETHT A (R ATHATIATS T=ATIH TR AUTE ANl e hefed T BT
FAAETAN & HEAT AodTe G¥h1a [, ?
Imagine one of your neighbours is often commented of his activities, in that case how you
suggest him regarding the moral and legal duties of citizen so that his wrong activities
would be well corrected.
17. Eutea aafadcs® fag=aee Te=aHl gahd THerd |
Discuss the theories of corporate personality.
Foran(Or)
A ATHT T AAHRT ATHThT HIAT S1GIT AT TR |
Explain the legal status of dead person and unborn person.
18, TUTSHT FHTSTHT SATHT JTH (AP AT GG T GAT A qUIS & o HH AT
TTE 7 WA TS |
What things do you consider while implementing the civil administration of justice in your
society? Make a list of them.
19. FTA ¥ Afqepardrerel wRFars faemo THa- |

Analyze the difference between law and morality.

(37)



g T (Group C)
A ITae Feaes (Long Answer Questions)

I3 yyeEd S} e | (Attempt All Questions) (3X8=24)
20. FATIATET AFIRTIH] [TTATEEA THTT T T ATTH(A BIeHAR AR
FATH THE |
Highlight the basic characteristics of realistic law school and describe the contribution of
Justice Holmes. 4+4
#oan(Or),
ATTHF TR THHl & &l ? Hel ATIH IR FATH Tl | 4+4

21.

22.

What is economic law school? Describe the contribution of Karl Marx.
FHTT FAHl & &1 7 FEfq Y T FFIf XATR Tl aLhesaly STedl THerd |

What is property? Explain the modes of acquisition and transfer of property. 2+6
A Abl & & 7 AT T WTHER Fihes delary |
What is Ownership? State the differences between possession and ownership. 2+6

()



I faepra ¥ faeerg

faRrsdepRur arferer
daifra® qearee
faug : ste fae X f@eTg (Cdl.115) FET 99
97 ST qIT ASHAR faaeor
ThTg S EVALCIES P [ALh ELE] TN I AT | STHT ASHAR STEAT
HTET AT | &Y |@rer| @ | 8 (@ B |grer| e &% @ A P
rer grer el el
q | "SR rgaroT (12 8 - 1 - 1 1 1 - 1 |- 4 3 27
R | qHETETERT 16 |10
3 | AT 15 9
B EIEEIEC RN 10 6 -1 2|1 - 1| - 1| - 6 2
Y |faergeT s 15 9 24
% |farger fagaes |15 9
O |TgyeeE T W |7 5 - -] 1 - -1 -1 1 1 2
o |qataererdy fgerger (15 | 9 24
afvere®e! faeereor
¢ |aTerebisd fgergdr |15 | 10
? NN
STHAT 120 | 75 - 3 2 1 2 2 1 2 1 75

(¥0)




TYA ST, HSHIR T GHY ATfAT

FI | ORI THR | T ST | TG T AEPAR | T IEHHR Y (fe)
Q| EE T |9 9 19 %
R BIAREE] 5 Y %0 2%
3 ATHI J9 3 5 Y Ys
ST R 9y 9z0 fq¥e (3 ")
e .

o HHEITAT AT TEH T 0 YIAeTd, a1 Teepl T 30 GiqeTd, TN qeal T97 W F(qerd T S=of FeTaresl Yo=Y Jfaqerd g7 & |
TR HHAATCHS SFF] TeaeTAaHd +3 87 T G970 (AT T Fieb G |

. TFTEHAR] HEH! STHHT ASHAT FXh A9 T THE HAFT THSHT +3 HXeh T JeF [HHT T Alchelgg AT TdeH Tehlgare Jed Qlrd
T FATIEEe AT FTAH TS, |

. DIET 997 T ATHT JHT Teh a1 aal 39 YIHe® Ui qred gihd 3 |

o T THATHAT (AT, HATSHA ¥ FqSAT T8 T g7 (AT T 3 |

o TIET YITEE HET F 5 AT “HIAT YIA” T ATHT IYAH] U “HIAT IR T |

(¥9)



T’

fore = feere ¥ faes —Cdl.115—— FET : 99
e (&)
qAHT TIAERH! AT el S (e NxI = N
Q. v wAfaRT WeAH FET 7
What is educational psychology?
R AT g F TeAEl IEEEE AETEd |
Write any two examples of human growth.
3 Jd ATATIRATH E qEATel fadideE qetRie |
Write any two characteristics of early childhood stage.
¥, IO ATATARATH ATAAIAFEEAT AT B 3 ARG Tghe Iootd TR |
Write any two physical hazards occuring in the late childhood
Y. qoar X T fa=re awEradrs Uk arRHT deterd |
Write about the relationship between readiness and learning in one sentence.
% GERIHE SRS [qerg aigedig T A TaRT T4 g ! F 35 SUTIe®
AETET |
How can be positive transfer used in learning? Write any two ways.
S ATAATARTH TqRTSHT ATTATES [RTaTehl AT AHE gy 7 g3 SQTHT Y& ITa 4 |
What is the role of parental education in children’s learning? Write in two points.
S T G AT GETeI B qEATel SiEE TNeE defer |
Write any two educational applications of classical conditioning theory.
%,  [oeTgw TSRl WA T % F ARHEE JEEd |
Write any two techniques of using feedback in learning.
Q0. T TRTSH & q5 ATFEINF IJUIEE ACTEI |
Write any two practical techniques of improving retention.
9. IRTHET HHH F & 7

What is counseling?

(¥2)



qqE (@)

qAHT TeER! Blel I TR g x ¥ = ¥O
Write short answers of the following questions.
Q2. HE faFEH F TR AAE® TR ¥ Y g5 AT SIEHTHT qUH THE
| (R+3)
Write any four characteristics of human development and explain any two of
them in brief.
ERCIN(e]p)
wTHa afg ¥ farret F O T WRPEw deterd |
Write any five differences between human growth and development
3. SR ATATARATH FF TR AT [GhTaTcHE FeEH o qIR T BT Tehahl
IR AT T | (R+3)
Make a list of any four developmental task of late childhood and explain any one
with examples.
@74t (or)
=TIl T | (R+3)
Make a list of any four hazards of early childhood and explain any one of them
with examples.
¥, ST ATATARATRT FRCHE [AFTERT SrATATS SIEHHT AT TR |
Explain in brief the pattern of emotional development in late childhood.
. Rreor fawrg yfwara afaamadessr TEaiTar dersy &+ UrEHaT ATaRTE
SUTIEE TEd Tad |
Present any five practical ways of increasing the parental participation in
teaching learning process.
1% 9RO FHR & 8l 2 qRadadr 2 faeprg foeen greaers IeevEied I%E 9 el |

q+Y)
What is maturity? Clarify the relationship between maturity and learning with
examples.

(¥3)



qe.

9z.

q-.

YR SATATABIR (qbTSHT FEI HEAN Tee, 7 ATl THEE |

How does guidance help in children’s learning? Explain.

farameraaT aTd WER T ATATETEATS THIEd T % 9re dNFEE I TR |
Present any five methods of integrating child care and child development in
schools.

AT fAATAAT TART FEReeh T4 (i (qeprgert diRearaea! qeeoor THard |
Analyze the pre-school learning approaches used in Nepalese schools.

g (M)

AAHT JAEER! ATAT IR (& eI 3 x5 =RY¥

20,

<1

KR

.
[

HIAT TUTE F ATATTRTE Fraehl AEThAT 8w | T AGITAT T ATeATAEITHT

ATASABTRT AT faebTaest ANT FEE TedRT I g7 7 F AR AT ATAETNF
JUTIE® Tiead T [qHewd SIehdl AT THerd | (+%)

Suppose that you are the facilitator of a child development centre. How do you
help the children of early childhood stage for their language development?
Identify any four practical methods and explain them in short.

IR ATIRUTATE Y& IR | ISR (qehgars ®ad qednl g 7
ITERElET AT T | (3+YK)

Clarify the concept of motivation. How does motivation help for learning?
Explain with examples.

Faar (or)
EIECI I I S E L AT G AL Lo M 1R B o T O £ B AL E L 1K
ATASAFEEA HA (TFG ? IaTeXUEEd T THe | (3+K)
Give introduction to socio-cultural theory of learning. According to this theory,
how does a child learn? Clarify with examples.
TATCTRT fARITaaT ATeAbiega faebTge aTAT e favur e AredbiEa fawTg
fafugsa! T T SATEEIRE IUAEE HTITEE |
Analyze the existing situation of early childhood learning in the schools of Nepal
and suggest the practical ways of using child centered approaches.

(¥¥)



Psychology

Specification Chart/Grid
Psychology (Psy. 119) Class 11
S.N. Unit/Area CH |[Marks | Remembering | Understanding | Applying Higher No. of Total
/Knowledge ability questions Marks Marks
vs |S |L VS |S (L |VS |S |L |VS |S (L [VS S |L (VS |S |L
1 Introduction to 8 5 1 1 |- - 1 - - - |- - - - 11 2 |- |1 10 |- |11
psychology
2 Evolution of 10 |6
psychology and
pioneers of psychology
3 Application of 12 8 1 - - 1 1 - - - 1 |- 1 |- |2 2 1|2 10 |8 |20
psychology
4 Research methods 20 12
5 Biology and behavior (14 |9 2 1 |- 2 - - - 2 |- |- 1 |1 (4 |4 |14 20 (8 |32
6 Learning and behavior |18 |11
7 Cognition and 20 |12
behavior
8 Psychological basis of (18 |12 1 - - 1 - 1 1 |- |- |1 |- |- (4 |- [1|4 - |8 |12
individual difference
Total 120 |75 5 2 - 4 2 1 1 2 |1 |1 2 (1 |11 (8 |3 |11 40 |24 |75

Question and Mark Distribution

SN | Types of questions | Number of questions | Marks per question | Full Marks Time in minutes
1 | Very Short 11 1 11 26
Questions
2 | Short Questions 8 5 40 96
3 | Long Questions 3 8 24 58
4 | Total 22 75 180 minutes (3 hrs)

(¥4)



Remarks:

Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but £3 marks variation will be allowed within the combined cells. But cannot
be nil.

In case of 5 or 8 marks items, these should ensure that 1 mark will be assigned per element expected as correct response.
However, cognitive behavior intended might not be single behavior within the item. But in total cognitive distribution should
met. +3 marks variation will be allowed within the cognitive levels.

SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive
behavior should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearby 20% knowledge/remembering, 30% understanding,
25% applying and 25% higher ability level.

In case of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question

(¥%)



wAtesT (Psychology)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl

THa(Time) : 3 Hrs.

guiis# (Full Marks): 75

TR FHTFH AR 9TeqHT WA A% faqg | [hARTAT fagust gl quigsars
e | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T % (Group A)

Ffa wiwa Saaes gemew (Very Short Answer Questions)
T qeeed 9w} fae (Attempt All Questions.)

9.

q0

AAGAAATs IR T |

Define Psychology.

FTTE AR I AR Teh TANTCHE &7 &7
How clinical psychology is an applied area of psychology?
fasTer T @TemRor AT fo=rdT = T faear SETeHE |

State any one differences between science and common sense.

ATANRTF FTIATE AATETATE  FeATSTad |

Differentiate phenotypes from genotypes.

fareprzars afefod TR |

Define learning.

AU AT (b SHATATE ATEAT ATeaTbl  IaEX (G |
Give an example of classical conditioning from your real life.
GagATATs ARATIId THE |

Define sensation.

qlgated FEL TUAT TG, ?

How is 1Q calculated?

F qZ T TETUTRT AH G |

Name any two projective tests.

qiferer FREHHT AFIAT THEEEET AN g 7

What is the use of aptitude tests in educational setting ?

(¥e)

(11x1=11)



9. YRUITHT ATARHT HUBT HGERPT ATRT HHA T Hichees, 7

How motivation can be used to explain someone’s behavior?
e @ (Group B)
Higre sacH® weAee (Short Answer Questions)
o yreeE I} faE | (Attempt All Questions) (8x5=140)
43, HATASIET & AU T |
Describe the scope of psychology.
3. Mg FAEITESTHAT dig TR ANEE qfe=ne e |
Identify the Buddhist Philosophy's contribution to modern psychology.
V¢, HHATF WA T FTAAT AT FAMGATTATE I TART T Aieprag ?
How psychology can be applied in mental health and legal context?
. FUATCHE AT fafaars qaeror saear fafuer smarar Seeeo afed g
AT |
[llustrate descriptive research on the basis ofthe survey research method.
€. AHATE O T FRF Jcdg®edl JU T |
Describe the factors affecting attention.
Q9. fragedr virrer afthe! aaRAT H&T AHE T 73Tl THa ]
What role does the pituitary gland play in the behavior of an individual?
Explain
&9ar (Or)
BT st fordef ¢ foregfaedt &1 e fagr=e =amet ey |
How do we forget? Explain the mechanism behind the decay theory of
forgetting.
iz, Tearaae STERUEE ATUrharal FA i JATSS ATl THerd 7
Explain how "tools of thought™ help in the thinking process?
9% “HTEw  HIMEASETHT WIEE T HTH THe” AT TATgH! ditacd qitd T |
“Emotion adds colour to one’s life” Justify this statement.
&#9ar (Or)
“frefa Tar avaT &, | &red |V ATt A |

“Forgetting is a boon not a curse”? Explain

(¥=)



e T (Group C)
AT IacRsd TeeE (Long Answer Questions)

T geeEd! I &g | (Attempt All Questions) (3X8=24)

%0,

1.

R

faemeraeT faandiesr FIME 98 & FATGHIE TAE6E AATT T & Bl

TRUEE ATAYTF Te] ! AR |

What steps are needed to study the psychological effects of COVID-19 among

school students?

AT AT T PhATCHE AqavahT [qgTedeadhl drerehl FHAAT T [Feaar

afEaT e« |

Compare and contrast classical and operant conditioning theories of learning.

HAASAEATHT FAHE TGl ATAYAFAT [ B 796 R JQEEH] ATEAT THEIE |

Why is emotional intelligence essential in human life? Explain any four points.
g4t (Or)

“AfHEE TF AF =T FXF Gror Al AAISATE HAlAd ATRAT ATche

et fedmae =arer TR |

"People differ with each other" explain this statement based on the

psychological basis of individual difference in behavior.

(¥2)
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THAT 921 99 090 (Model Question 2077)
Fe (Grade): X

Twa(Time) : 3 Hrs. quiige (Full Marks): 75

TSI ThaTH TR TeaHT Hifersr Iar faave | fopamrar faguet dgsed quigsars
sMrss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full

marks.)
e % (Group A)

fq i SaxrcHs Temes (Very Short Answer Questions)
qa JeeEed 9 e (Attempt All Questions) 99%x9=19
1. UTSFHTAHT HISATS] ITARHT MATAALT ey B A9 AqTHA T=AT 7

Who ruled Kathmandu Valley after the Gopala dynasty in the

ancient
period?
R foesfa aew Frees @O wfAEET £ 9% RO AR |
Give any two reason for considering Lichhavi dynasty as 'Golden

age
3 Hed UASEEd Fal AT Th (907
Where did the Mallas rule?
¥. AT TUTCAh] TehlchRUTehl AT el T 7
Who started the unification campaign in Nepal?
Y. TATSHT O MEAHT I EAF B G5 FRUEE Joi@ TR |
Mention any two causes for emergance of Ranas in Nepal.
% U THEE® Hed Uled H 3 H I = el g ?

L



Which Rana ruler took the title of His Royal Highness [HRH]
Maharaja for the first time?
o, ¥ 00¥% TR ATATRIGTEHN B T WAEE Fooi@ TeTd |
State any two acheivments of people revolution of 2046 B.S.
. @9 009 TR FId ISHT el TATFTHAT & (97 7
Who was the first prime minister after the revolution of 2007 B.S. ?

Q. SIE-SHCAT 99 TATAPT FF SATAATCH] HET ATSHT & ?
Which caste celebrate Ubhauli-Udhauli as a major festival in
Nepal ?
Q0. T T ATEHIAF (ATTLATH T 5% HILAEE TR |
Write any two advantages of linguistic and cultural diversity.
9. AT ATRIATHT Tl GoIhl F Ueh AT TTE=TT TR |
Identify any one role played by Nepal in non-aligned movement.

¥9E € (Group B)
iy IavrcHe weAews (Short Answer Questions)

qa JyeEEd 9uX e | (Attempt All Questions) SXY=¥0
qR. FUTTR! SAETIHT FIAEE & & g ! H g8 GIHl AT T4 | +3

What are the sources of history of Nepal ? Explain any two

sources.
3. (R ST SAFRITHT aHT BIChUHT == THard |

Discuss in brief about Kirat regime.

EREN]

Y ITSUETR] FTCTAT qR=T a2 |

Briefly introduce Sen states.
9%, TR STEh F T3 (G ACTEd T (el Hecas! aeHT Sial aren

T |
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Write any two of the ‘Divya Upadesh’ [Divine Counsel] of King
Prithvi Narayan Shah and explain their importance in brief.
Y. T TfhFITHT FETGY YMEh! TNTRTHH! a0d T |
Describe the contribution of Bahadur Shah in unification of Nepal.
9%, TUTAR! STTETIAT IVMEA FTAHT Tl THE AT TIATEEATE THICETHT
ErSTe |
Show the major incidents of Rana regime in timeline.
Q. IO STTEFHT TAF qfeg, TATART ASTANTHT FEAT TATT IGAT 7 BIThAHAT HeATFA
TR |
What was the impact of the fall of the Ranas in the Nepalese

politics? Evaluate in brief.
95. TS HATS F U =TS Taeh! ATHIF ATEHAH Hed v THar |
Analyze social and cultural significance of one of the festivals you

celebrate?

9R. WOl FHTSTHT FIEAATH T TR |
Discuss the structure of the Nepalese society.
qgar

AT T SATAAEA =] FFehl a0 THa |

Discuss the relations between Nepal and Japan.

¥Hg T (Group C)
A SAcHS JeHe® (Long Answer Questions)
I JreEEd 9uX e | (Attempt All Questions) 3IXG=RY
9. AITART SITETEHT Hed SMHARAR FRTRTHAH == TR |

Explain the contribution of Malla regime in the history of Nepal.
ERLCI

AT THTRIUTHT JATARTI QMMEhT TR A3 Tl |

Y ¥



R

<2

Evaluate the role of Prithvi Narayan Shah in the Unification of
Nepal.

TATAHT 053/ 0%3 ATTHT HUH! ATRIATR] FTATH b g1 ? FHIET THald |
What are the achievements of Revolution of 2062/63 B.S.?
Critically analyze.

T, A ¥ ARTAE AUHT AT TR ATATRT TN T |

Explain the condition of tripartite trade relations between Nepal,

China and India.
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THAT JITIT

FeT 99
fowr : <fger sreoas
w“$”

Fiq e I ST T4 Q1 x9 =19

Q. AT5F ATAAATS Teh ATRIAT TRATIT TR |

R Hfedr oA fauy qeArIHH £ UF Aifacr Se@ TR |

3. ST YUr 99 WAl & BT 7 U ATl el |

¥, faqid fasl ATy FEAIAr (Hetrosexual normativity) &1 Tsh IaTEUl
fe e |

Y. HERTHE [a9THl T3 IIREW a8y |

% faEwE g ddrcHs SFaREmHT RUcdl "9 W UHE g% ATIRES
TETary |

o iy ATHIIATHHRITH! TATT HeAh AT T3 IERET (& erd |

c.  URUTHe Afge ATHITATReRUTeh] AR A-HT & &l ?

R, ANIETE fedl RS qeHl &I AW & (991 7

q0. @EUAl AT ARl & & ?

9. AITAH ARG FTAIOON 099 (2.9.) ATAR AITAHT Afge AERAT FHH
TP F Th FRI AR |

w“a”

B I ASA I¥A (5 X 4 = ¥0)

3. AfsF AT (BT Fodrs AETF G 7 AGd  AATAA  GTHTSD
TR UTATs O Fed T TS, 7

Q3. At ammIiTE qoor &1 9 fI9FHT gt I e a9 qHeE

Q¥. ATATTSAE ATTRTATNT (b THATH! ATATAHAT g, 7 AT Tl |

Q. THITATFRRIT ATehT & & 7 AT QTHITATHHIUIHT THEHAEE & & & 7

1&. ARIATEHTACIETH ATTHT BIEHUHAT AU THE |

O, ATETE FHISHT oI T FANdes Jeord Tl |

i5. STl ASTATTHTHIEAT FTHTALHITH] ATRT AT ANTRR TRT ANTEaehT
AT AT |

R.  “wfearalasR AHFAIER &1 |7 TqHI AT IeTeUded TLATSTad |
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Hospitality Management

Grade: 11

Specification Grid

Subject code: Hom.

125

Unit

Content

Working
Hrs.

Knowledge

and

Understand

Application

Higher Ability

Total

Question
Number

Total
Question

Marks
Weight

Total
Marks

Very Short

Short

Long

Very Short

Short

Long

Very Short
Short
Long

Very Short

Short

Long

Very Short

Short

Long

Introduction To
Hospitality

12

Introduction to
Travel and
Tourism

12

Growth and
Development Of
Hospitality
Industry

12

Career
opportunities in
Hospitality
Industry

10

Rooms
Operation
Management

Accommodation
Management

10

%0

16

25

16




Hospitality As
A Service
Industry

10

Service
Marketing

Total

80

16

25

16

50

Remarks:

e Item format in composite should be met as per the specification grid.
e Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

o SQand LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of

cognitive behavior should be approximately to the required distribution.

e Thedistribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%

applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

e In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"

guestion.

«1




Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions. 9x1=9

1. Define hospitality.

2 Mention the basic components of tourism.

3 Write a way which helps to increase the day of living for tourist in Nepal.
4, Write any one importance of chain hotel.

5 List out any two key positions of hotel industry.

6 Classify hotel on the basis of its location.

7. List out any two personal skills of hospitality workforce.

8. Write an importance of market in tourism.

9. Define 'tourism brand'.

Group: B
Write Short answer to the following Questions. 5x5=25
10. State the importance of amenities in tourism.
11. Describe briefly the traits and attributes required for hospitality services.
12.  Briefly examine the functions of front office department.
13. What is organisation chart? Draw an organisation chart of large hotel.

14. Explain the role of service in hospitality industry.

Group: C
Write Long answer to the following Questions. 2x8=16
15. Define hospitality and explain its nature and characteristics.
16. Examine the factors affected to the growth and development of hospitality
industry in Nepal after 1950 A.D.

¥R
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HET 99 faer: ATaTed frer

quIe © 9y ERERHERCLE
qAHT JYRT AT Ber I e TX19 =1
Q. WHT Hed RTeTer TUIEHT SETHT SATUH! F Uk THRIHF FHG Jod@ Terd |

q0.

Mention any one positive change carried out by Human value
education in your life?

qIA FAA AT THTRR Gl SFaeRd 930 HEd 168, ¢ U ATRHA] deled |
How does honesty help to develop the good character ? Write in a
sentence.

AFRTHF ATEATE TIEHT SAETH FELA AT T TTATH G | BT Th FITEX
I THEE |

How do you apply positive thinking in your life? mention any one
example .

ArRel aRaR THHT &F 2T 7

What is ideal family?

el IRERHT e ANREATE FEAT SHFeR TKwg 7 F T ATl qeTerd |
What sorts of behaviour is done to the senior citizen in the ideal
family ?

AT TEeh! THITIHT ATHTNS TEHTE TGS qUIE ATATIHT FH T I AEqerd |
Write a way you have adopted to foster the social harmony in the
community where you live in?

ATFTTT FUTIRVIHT HA T ATATH ool THE |

Mention a dimention of personal transformation.

TR TR I TFIE G, HAT 7 Fe T FaTHT TeTerd |

Personal transformation is possible. How ? Write in a point.
FTATARNA T AT & B 7

What do you mean by environmental justice ?

UTeh{Teh TAH AT TR GRETTHT Tl AATHHT P 2 IaTexV [Gerd |

%



11.

Give any two examples of indegeneous practices of natural and
public heritage.

FERTHE AT Jool@ Tl |

Write name of an yogasan and mention a positive change carried out
by it in your life.

qAFEHT TIAH Gral I (Gere : Y X5 = ¥O

R

3.

9%.

9.

9%

qe.

qz.

AT AA RTETH Ao Iwid TR |
Mention the importance of human value education.
Fgar or
AT qeAeed! [T Ieoe T |
Mention the features of universal values.
faqca faeradl AT SHE T Aeds qiHHT Ay g7 W e Hargad!
THAT TAR AR |
Preapare a model dialogue on the topic of forgiveness and courage
have important role on personality development.
YFRTHF AT [T T o G ANFE® Jeoid THEIR |
Mention any five ways to develop positive thinking.
FaaFd afearHT aieatiied Fgafed T e gel gvg | a9 TATedrs it e |
There is more co-existnce and responsibility on joint family. Justify
this statement.
AR FHAT HIAH TH I Jodd THald |
Mention the ways to establish social justice.
TG TR AT FATARIAT A HEEd g 7 ATRAT dohee T&qd
THETH |
How personal transformation helps to the social transformation?
present your logics.
feTr faeprer woept & &1 7 e faeprar T fobe atmaeTs g 7

%%



What is mean by sustainable development? Why sustainable
development. is necessary ?

Fgar or

et feodf JeE

() chiﬂlh"ido HqHqlhl Hecd
(@) Importance of public heritage

(@) EFar GReTorHT famedier qiee
(b) Role of students on heritage perservation.

9%,  TIHYET T QTS FEAA TUGH TATHT ATTHT FH G THRCHE TAAEE
Joot@ TR |
Mention any five positive effects carried out by volenteers service
and social work in your life?

TAHT TEAH FAR [Ger 3IX&5 =¥

0. WHERTCHS Arerehl faaTadT gerar I ¥ FF T a1 Fecaqul & | [ 7 AR
TH TET T |
The habit of praise, love and respect are important for positive
thinking. Why? Give your reasons.

Y. AR IREARH = 65 g9 [qeudEE I ey |
Define ideal family and mention its features.

ggar Or

araTfaes fafaerdrer fafay gaes Swm@ T8 gt fafaaaretas qratas Twar
T AT FHIAH T IJUTIEEH AT TAR AR |
Mention the various aspects of social diversity and Prepare a list of
ways for mentaining social unity and harmony within social
diversity.

R T ATATERE TREA ¥ A aHTHT AT AMAAIT FIH AT T f5S

T AXPRHT THEATS A&l [HA(SP] THAT TR a4 |

A



Prepare the letter with suggestions for the head of local government
for the steps to be taken to perserve the local environment and
sustainable development.
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3. 9 e fquaeed fattieaor arfder T 9991 W ee

BIOLOGY Specification Grid 2077
Grade: 11 Subject: Biology Theory (Bio. 201)
Competency level ®
Remembering Understanding Applying Higher Ability % d (é
o o o o o o o o o o |23 %
- O O (@) O S 4 0
3 s 2 | S| 2| S| 3253253375
< =
z 5 Slel lg |2l |g |g |g |2l |g |g| |gl |¢
@ = X | 8 S S S g g | S S S S S
S8 5S 295 g8 82808282 5|8
o (@) o C| g g o o o o o
o o =} = g d o o o o o
4 pd Z Z 2 Z Z pd 4 Z Z
1 | Floral Diversity 30 18
2 | Ecology 11 6|26
3 | Vegetation 3 2
4 | Introduction to 1 1
Biology
5 | Biomolecules and
Cell Biology 15 9
6 | Introduction to 5 |2 [2 |2 0|5 [5 (1|5 (1|8 |3]3 |2 o1 (8 (1 |1 |3 |15 |1 [8 | 3021
Microbiology
7 | Biotaand
Environment 10 6
8 | Conservation
Biology 4 2
9 | Faunal Diversity 34 19
10 | Evolutionary 28
Biology 15 9
Total Marks 12 18 21 24 75 |75
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Item format plan
S.N. Type of item Score per Total item | Total score Time
item
1 | Multiple Choice Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours

Remarks:

e Item format in composite should be met as per the specification grid.

o Designated weightage in the combined cell should be met, but +2 marks variation will be allowed within a unit/content area. But no unit
can be nil.

e Atleast one LAQ, two SAQs and three MCQs must be included from each group/combined cell.

¢ Inthe case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

e The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and
30% higher ability level. Higher ability includes analyzing, evaluating and creating level.

e SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

® |nsuch case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution. In the case of SAQ there will be 2 "OR" questions and in the case of LAQ there will be 1 "OR"
question.

o)



Model Question

Attempt all questions.
Group ‘A’

Circle the correct one from given alternatives. (11 x1=11)

1.

~

Identify the correct bonding between nitrogen bases in DNA molecule from
given pair.

a.A=C b.A=G c.A=U d A=T

Miller and Urey designed an experiment and try to recreate the environment of
primitive earth to support the theory of biochemical origin of life. Which
composition he has used to produce simple amino acids?

a.  Ammonia, Hydrogen, Nitrogen, and water vapour

b.  Ammonia, Methane, Hydrogen, and water vapour

c.  Ammonia, Oxygen, Carbon dioxide, and water vapour

d.  Ammonia, Nitrogen, Oxygen, and water vapour

Which habitat is needed for xerophytic plants to survive?

a.  habitat with dry condition

b.  warm habitat

c.  habitat like desert

d.  habitat with little water

“Red rust is one of the destructive diseases in tea plants which results adverse
effect on tea yield. It is caused by a type of algae.” Which discipline of Biology
is related to explain the above statement?

a. Mycology b. Agronomy  c. Pathology d. Phycology

Which of the following is a practice of in-situ conservation of biodiversity?

a. Botanical garden b. Wildlife sanctuary

c. Zoo d. Seed bank

Which one statement of the following tells the favor of prop root?

a. It has the function of support

b. It has the function of absorption

c. It has the function of fixation

d. It has the function of conduction

Forelimbs (wings) of Dragon fly, Pteranodon, Hawk and Bat are given,



10.

11.

What type of organs are these?
a. Homologous b. Atavism
c. Analogous d. Vestigial

Which is the nearest ancestor of modern man?
a. Homo sapiens neanderthalensis

b. Homo sapiens sapiens

c. Homo erectus erectus

d. Homo erectus pekinensis

In the given figure, X denotes an organ of the
frog which produces a particular sound. What
does that sound indicate?

a. Danger

b. Hunger

c. Excitement

d. Sex appeal

Trichocysts is an important organelle in
Paramecium. Which activities does it associate for?

a. Defense, offence, and adhesion

b. Defense, reproduction, and nutrition

c. Offence, osmoregulation, and defense

d. Adhesion, osmoregulation, and reproduction

IUCN noticed the one horned rhino restricted in Chitwan national park of Nepal
as high risk group. Its population has declined due to habitat loss, excessive
poaching, low rate of breeding, human encroachment and other descendent
factors. According to this description, in which risk group does one horned rhino
of Nepal notice?

a. Near endangered b. Critically endangered

c. Endangered d. Least endangered

O



Group 'B’

Give short answer to the following questions. (8 x5 =40)

1.  Write any five characteristics of Chlorophyceae.

2. 'Gymnosperm is an advanced group than Pteridophyta’. Justify this statement
with any five points.

OR
Compare between simple fruit and multiple fruit in two points. How can fruit
play an important role for continuity of generation in plant life? (2x2+1)

3. How can ecological factors influence in pond ecosystem? discuss it with suitable
examples with respect to its structural and functional aspects. (2+1+2)

4.  Explain any five ways, how microorganisms play an important role in the field
of medicine?

5. The excessive and unbalance use of pesticides is one of the prominent
environmental issue since last few years in Nepal. Mention any three
consequences of over use of pesticides in your locality and suggest awareness
campaign that you have follow in two points. (3+2)

6.  What is transverse binary fission? Write its process in Paramecium. (1+2+2)

7.  How can pancreas of a frog play an important role in digestion? Explain it in
reference to physiology of intestinal digestion. (2+3)

OR
Describe with suitable diagram, how copulation and cocoon formation takes
place in earthworm. (2+2+1)

8. How does Darwinism explain the theory of organic evolution? Clarify your
answer. (5)

Group 'C'
Give long answer to the following questions. (3x8=24)
9. Why is sexual reproduction important in lower grade plant like fungi? Explain it

with respect to sexual reproduction of Yeast along with diagram. (2+ 2x3)
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OR
Explain the diagnostic floral characters of family Solanaceae with floral formula
and floral diagram. Write the botanical name of any two plants of this family
regarding medicinal and edible values. (4+1+1+2)
10. How excretion is performed in earthworm? Explain in analytical approach of the

structure of septal nephridia of earthworm with labeled diagram. (1+4+3)

11. Meiosis cell division is important in life of organism since it maintains the
chromosomal stability in offspring which is happen due to reduction and
disjunction of homologous chromosome. It is a multi-step processes and two

successive steps within this process is given.

Fig-1 Fig-2

a. Inreference to disjuction,what changes do you find between fig-1 & fig-2
? Describe it. (4)

b. What had happened in chromosomal stability if changes not occurs from
figure-1 to figure-2 ? (1)

c. Draw the diagram of succesive next one step after figure-2 with two
distinguishing features. ( 1+2)

oY
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rﬁ,\ C
Y| IERETT qor 12 | 7 23
WA 7, 99
SRIREE I
% |Gt = T (12 | 7
faret
o |fEerg T 12 | 8| 2 |- - 1 1 - 1 1 - - 1 1 4 | 3 1
EIEEIEIEE
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s |Rrem ¥ gHET 10 | 6 27
fereprar
R |¥TereRr faret 20 |13
qgfaer aie=a
ST 120(75| 5|2 | -3 |2|1|2|2|1|1|2|1|11|8|3 |75
¥ G, ASHIR T GHT qTieADT
F.9. | TR TFR | TIF & IiT Te7 ASHHR | AT Twy ()
ATFAR
q 8% BraT wed | 99 9 9 %
R BICARCED] S Y %0 %
3 ATHT 99 3 5 ¥ Yz
STHEAT R Y 9z0 faee (3 =ue)
e .

o FMHTITAT A ekl YeF 0 Iqerd, g dTEehl Y9 30 FIqerd, FART deehl Jed Y fqerd T == I&Tarehl 997 %
JiqeTd g B | AR HHATCHS STl TeeeAAaHd +3 8 T 997 (AT T Hib & |

o UBISAAH THEH! STFHT HABHT TYeh AIH T THEHAFT THSHT +3 HIh T 999 AT T Afehig O IAF
THTZATS FIF T T fooa=qert Jerdm Faw T |

o TIET YA T ATHI TIAHT T Wl oGl I ¢SS Ui Fied Ficbel & |

o I TFATARIIG [FTAT, HeAThA ¥ (AT T&+ T J9 AT T 3 |

o TIET YIAEE HeH F T3 AT ATAT Y9H T ATHT JOTHT TIAT AT I A ) |
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[Ed.203]
frerr < fq@re (Education and Development)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl

Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75
TR FHTFH AR 9TeTHT WAk AR faqg | [hARTAT fagusr agha quigsars
=g | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)
e & (Group A)

gfaq @i STes Teew (Very Short Answer Questions)

9 yyeeel I fae (Attempt All Questions.) ®Wx3I=10

9.

feretTerT TR FFIRER! ATH TETRH |

Write the name of any two forms of education.

e st fRrer f6d smavad g 0 EwY 3 FRUEE delerd |

Why is right based education needed? Give two reasons.

faviT aehTe 8 STwaTcepl RTeAT ¥l ded Jeield |

Write the education related goal of sustainable development Goals
(SDGS).

RFRRTT T Gl TR T U SATEelNe I defa | |

Write a practical way of transforming traditional local technology.
TTHTTSE =TT FEL JaIT T F TIT JRHT AT |

Write one way of promoting social justice.

THITIHT ATHITRT ATRT FMATRIHT AN RIETT Tl T qed qfAepT afg=m
THETH |

Identify one major role of education for empowering the
marginalized class of the community.

g AT T TF Wed ACTE |

Write any two importance of green economy.

)



SIS APl % BT 7

(=
What is livelihood?
<.  RTETHT "o & g3 YTAITE TRATH ATH AETed |
Write any two provincial organizations involved in education.
Q0.  TAUTEHT THITIHT TEHT ATTATSTAEH T 75 AFITAAEE ACTEI |
Write any two possibilities of income generation in your society.
9. feremrerr faspraepr wnfiT T GRSl G T9eT THE SHET Gl A |
Identify one role of local body in the development of education.
¥ @ (Group B)
it Savcs weew (Short Answer Questions)
T3 gyeEdh S} fager | (Attempt All Questions) & X ¥= ¥O
2. Rorerr ¥ Tqopr for=repl seREweTg TRATS TR |
Show the interrelationship between education and development.
e
faTeATeRT B ITASTET ATATHERHT T U ATl TN ACTE |
Write one practical application of each of the five dimensions of
education.
3. SiawTa fawrg afgafg T T T AEENE SRS qEHRTSTe |
Write any five practical ways of promoting lifelong learning.
V¥, faemera deewr Rramr wrdwae fad qur sieaaan fqaeeedr frem et T
F I AT JUTIEE HTSTE |
Write any five ways of ensuring soft sills and life skills based
education in school level.
. A T WEREEH H T Fede® Joid THE |
Write five importance of local oral traditions.
9%, QTHIS =TT AT RIEATH JHE = faearess G TR T F TEATITH

BICHAHAT AU THerd |

Nl



qe.

9z.

q-.

0.

1.

Write the main characteristics of social justice based education and

explain any two of them in brief.

Sfareprarste AT RIS Te FA I qTHBEER AT TS HT T5H]

BICHHT FUH THE |

Make a list of any five roles that education play in livelihood and

explain any two of them.

afeamR, faamerd T qeErata=ed Al aud Terd |

Explain the interrelationship between family, school and community.
ERE|l

TIIHT Foarad g iferd T faeergesr wifafafuar qug wadr Fearit g gs 7

IR Aled defed |

How do you participate in the education and development related

activities in your community? Write with example.

AYTAHT BT AN] HERaehl ATIRIA T (& §-3) I Thlhd ITSAFBHB! ST Ieold

THETH |

Write the structure of the basic level (class 1-3) integrated curriculum

of Nepal.

¥ T (Group C)
A ITHF Fee® (Long Answer Questions)

I gyeEd S fagere | (Attempt All Questions) 3 X 5= ¥
RFERRTT, YAfqarar T ATge  RIena=edl qmRam-ddis  gaevdied e
THETH |
Explain the interrelationship between traditional, progressive and
modern education with examples.
TATAHT FefepT AT RTETTehT Te=raT yfaqent @wrem T favir faerarsr Rrem vy
AL IR T ATARINF SUTe® feard Tare |

e,



R

Analyze the progress of access in education for all in Nepal and also
identify the ways of fulfilling the sustainable development goal
related to education.

qear
TATCTeRT fATETTehT SIS FaLT ATHINTR AT AT SIS F(HTAT ¢ Fed AR
JUTIEES] GIEhAHT AT THard | |
How can the educational practices be made social justice based in
Nepal? Explain any four in brief.
T TEHT & RIEATH Goe GUEEEwdle (e qardrs T9adRT aaqrgy &
R IUIEEH  BISHUHT ATEAT TR |
Explain briefly any four ways of enhancing the effectiveness of the
local level institutions involved in education.

O
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gTieTeh qeaTgeh fas @ iRt (Geo 205)
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o T TIAT YT q AHebIET T T ThOATH T THIZ TUIET LT 99 T9F & B |
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fasbed g9 @S |
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o A TEHT YUMGherl R0 UTAAHT TeIgH TN, I=aceTdrdedl 0 IqqqHT Tear TR T I
JEHTATILARATTAR I 787 T |
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[Geo. 205]

e (Geography)
THAT 999 9% R09¢ (Model Question 2077)
e (Grade): Xl
wa(Time) : 3 Hrs guitga (Full Marks): 75
TSt TEHEE AR AT AifdE SO AT | AR e aewer quiTeswars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)
T8 & (Group A)

afq e Sarcs Temes (Very Short Answer Questions)
o yeeEd I fae (Attempt All Questions.) (11x1=11)
Q. IRl BT TR SR |

Define Geography in short.
R IR GHEIT % gedel [qudes deterd |

Mention any two integrated subjects to geography.
3. QIR AT GAgH] THTEUT d5ddl deags deled |

Remark any two factors which affect to the earth crust.
¥, qUIEH &Rl ETATIHIArs TAEaT §edel dcdesdhl AH deferd |

Indicate any two factors that influences the climate of your area.
Y. ATAATAH EH g5 HIAHES ACTE |

Write any two mode of transportation.
% KB JHREE dEed |

Write the types of settlement.
S THEE gigATs FHI FH 75 ST AR |

Suggest any two measure to minimize the population growth.
5. [HaTeadrET qumelers AaaiadadrsT &1 75 ST JACTE |

3



0.

11.

Suggest any two measure to reform subsistance farming system in
to the commercial.

PISTATATE TUTAT ATTAR] R T&T AR[G&R] ATH AeTald |

Write the names of any two rivers of Koshi drainage system.

qUTE T FReTd FIMATICATTAG F 5% @IATAH] ATHAGTE |

Write the name of any two food crops that grows in your
geographical region.

TATCTeRT TSR FaaToTeiel a7 qUTSHT &FTHT TUHTHT Geadl hILaTes JTETeld |
Write any two benefits brought by the division of the provincial
states in your area.

¥ @ (Group B)
Tt ITreHs weew (Short Answer Questions)

a9 yeeEd I fager | (Attempt All Questions) (8x5=40)

AES

3.

9%.

9.

q%.

=raer fAaTTE gbRaT deTEe |
Mention the rock formation process.

Fga1(Or)
qeATH ATEd FARHHIHT ATARE qoae] TgAa3 et THard |
Mention the effects of endogenetic forces on the formation of earth
crust.
TAATIATE FATAIT o Tr=ael Jcagehl Ju THerd |
Discribe any five factors influencing the climate .
Explain the soil formation process in brief.
qUIEH STAHGT TAUTRTFIHIATE THAIIAEE e THe |
Identify the measures to protect your locality from the major
natural disasters.
qHTIHT HARATE T=AHT AN F TIT ATSTATRT THAT TR TR |

¥



qe.

qz.

q-.

20,

Design a model plan to protect from the effects of earthquake.
TATAHT AT TEAAFTIRT AT ATSTATRT Heed faeeqoor THEE |
Analyze the importance of planning for development of planned
settlement in Nepal.
TATAAT AL TANET & & & 7 Fel Uehebl ATCHT SISHIHT ACTEI |
What are the uses of water resource in Nepal? Describe any one of
them in
brief.

Fa1(Or)
TATART FHUIH TETAN BIEHAHT TETeld |
Write about the nature of Nepali agriculture in brief.
SR ATHT (A0 TCHT AT A= T AqeATs G T el
EICECEARCEIDEEIC (C R
Identify the effects brought by the uneven distribution of the
population. Suggest any five measures to overcome the effects.

g T (Group C)
N SacRe weAes (Long Answer Questions)
9 yreEad g} e | (Attempt All Questions) (3 X 8 = 24)
TIATAAT ETATATHIT I T FPT TAATFHT FILI THEIES, 76T T aTIel
F TF ETATIHATI T979 AETEr |
How does the permanent wind effects in the origin and nature of
climate ? Mention the effects of any one wind with reference to
any one climate.
A1)
qUiEe JeATH TACHT TTHIAHTIZAT AUHT & FHET AAEE 3&T AUH
EREIG N

=£3



1.

R

What kinds of effects have you seen on the earth surface by the
natural disasters ? Write down.

ITR{de 1T THE & 21 7 THH Hecd Joei@ el |

What is natural resources ? Explain its importance.

THITH FETAATA AR TATATE JUTATR]  ATARTHR |

Describe the drainage system of Nepal by the help of map.

a%



FrAfaT A

Grade 11
Specification Grid
Plan for Question and distribution of marks covered
Unit |Content Area Teaching |Knowledge Comprehension | Application Higher Total Question | Total | Total
Hours efficiency covered Marks
VS L VS L VS L VS L VS L

1 Concept and Nature of 12 2 1 1 3 1 |5 16
Procedural Law

2 Types of Procedures 15

3 Principles of Procedural |16 2 1 3 0 |6 18
Law

4 Law of Evidence 12

5 Court proceeding and 25 2 1 1 3 1 |5 16
Evidence Law

6 Civil and Criminal and 30 1 1 |1 1 |4 19
criminal Proceeding

7 Court Management 10 1 1 0o |2 6

Total 120 8 0 3 1 1 1 11 3 22 75

Notes:

6.  The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and
coverage of the contents.
7. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible extent.

5\



8.  Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. All
the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total
questions asked.

9.  There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative
question will be added to any one of the three questions.

10. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency and
in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to 19) and
long answer questions (Q.N. 20 to 22).

(SX=Y



[Prl. 207]
wrafaty & (Procedural Law)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl

THa(Time) : 3 Hrs.

T % (Group A)

afq e Sacs Tees (Very Short Answer Questions)

I yreeed 9w fee (Attempt All Questions.)

FrATafeT FTHT TAFT F 8T 7

What is meant by procedural law ?

A AT AT &b Ao, ?

What is meant by the General procedure ?

fre faes a1 g7 & 35 JARATET Iooi@ T |

State any two conditions for registration of writ pettition.
TEATIF FagTeepl arHT Jeferd |

Write about Principle of Res-judicata?

THTOT AT Al & &l 7

What is meant by Evidence Law ?

fafaa 7 At THITE=H BT TH FF FESTed |

Show any one difference between written and oral evidence.
HSTANT TR AAD & &l 7

What is meant by court fees?

THTS ToAT fobed ST TR 7

Why warrant is issued?

(=2

quiigs (Full Marks): 75
TSI AHATH AR 9TeZHT Hiferh X &q7s | FpRTAT faguedr sgswa quligmers
e | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

(11x1=11)



90)

9)

HGTHT HATHATT T FTSET & &l 7

What is the benefit of Mediation?

R ATl & Afvhveg, ?

What is meant by registration of complaints (Firadpatra).
HITATHT ITAAT AT H q5 IAHES Feoid e |

Mention any two rules which should be followed in court?

¥ @ (Group B)
Tfra Saree Teew (Short Answer Questions)

T3 gyeEdh S} fager | (Attempt All Questions) (8 x5=140)

.

3.

9%.

9.

9%

qe.

FrATATT FTAAHI Hecd AT == THe |
Explain the importance of procedural law.
srerar(or)

FATAT HTHAT T ARATT FIAA [T FXh GATITR | 7

Show the difference between procedural law and substantive law.
TekicTeh ~ATAH! [agTeiehl AT STl Tl |

Explain the Principle of natural Justic.

ATl THTH TAHT & Bl ¢ TG qbIT TRISET TG T FR(6¢ delald | 3+3
What is examination of witness? Write down the things to be
considered while examining witness.

AT JHIITATS fehel FATOTT AT fergae? aiem Tem |

Why hearsay evidence is no evidence? Examine.

FITAqETATE T8 T FAAT AT T TTBATH AHAT Foei@ TR |

Explain the procedure of response to the parties(myad ra suchana
jari) from courts.

ST AT AT & g ? Aedl @ [ fageg ? Ioei@ T |
What is meant by Filing of First Information Report? Why FIR is
filed? Explain.

RO



i, ATTIRTTT THl & & 7 ATARTIS 97 AUafsHT Frifafugsesr arear au THee |
343
What is bail and remand? In what conditions accused can be kept
in custody?
9%, AITAH] AGTATEEAT AT JUTCATR] TARTH] FAALITAT SATAT Tl |
Explain the status of use of information system in Nepalese courts.
Faar(or)
RITE qTHA T & &7 7 FIT& ATl Jihal ATt e |
What is a Mayad tameli (time limit )? Explain the procedures of
time limit( Mayad tameli) ?
g T (Group C)
AT STHF Teew (Long Answer Questions)
I yreeed I faer | (Attempt All Questions) (3 X 8=24)
0.  FHAEIT FAAH JFRES ATAT T |
Explain various types of Procedural Law.
. IARTATEATE TUHT AT HTATIIAT T ¥ Bl G=ATST HIAAIEe & Hedl S 7
Il TR |
What are the procedures of court verdict( phaishala) execution and
correction(sachyaune) of verdict by court. Mention.
R AT FrATERT TR F BT 7 AITAD] FeaoTHT SaTAT FrATaraeh] TATAHIATR] ATCHT

AT TR | Y
What is meant by civil procedure? Evaluate the effctiveness of civil
procedure in the context of Nepal.

srgan(or)
THT GHTT Ahl & B 7 GA& THIOT T AYTE JHIT dreehl (H~dl GeaTSTard |
What is physical evidence? Distinguish between direct and indirect
evidence.

TH |

29
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[Soc. 211]
gHrerer (Sociology)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl
Fwa(Time) @ 3 Hrs. quiigs (Full Marks): 75

RIS qHTFT ATRA e HT Aiferss gax farquwg | fhamran faguesr sgepet quiTeshars
s=rss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

g % (Group A)

afq e STrcs Temes (Very Short Answer Questions)
qY TYAEED IR i’q@‘m (Attempt All Questions.) (11x1=11)

1.

R

E

0.

11.

FATSLMEAFT frdqr AR Faars fafawg 7

Who is known as a father of sociology?

THTSIIET T qFABT FH Toh AR TH Fooid Terd |

Mention any one interrelationship of sociology with geography
qed WTEAT AR & 8l ?

What is micro structure ?

qUTS F7g THTATH FE e 7

How do you solve a conflict ?

TAHTT FHTSTHAT XA TehTIaTaehl HHATS a< ATHATT 1 Fihve, ? Ueb ATRIAT
TETR Y |

How can we accommodate the theme of structural functionalism in
the present context of society? Write in a sentence.

g ¥ Afqear Frre T UF ATl dTeTe |

Show the relation in between religion and morality in a sentence.
‘ATt e yaw =faved faewrg giear 8 a% feqar |
‘Socialization is a lifelong learning process’ Give logic.

AT TAT ATHITAE ASNTHAT AT Teh ATRIAT =TT T@ISTETd |
Differentiate between sex and gender in a sentence.

TATTHT ASNTHATEH! Ted TEavaHT JUEH! =R e e |

Give your opinion on gender-based discussion in Nepal.

HeAT A fafudT BT g5 FILET dETed |

Write any two advantages of case study method.

AT AT g A= GoAAT HbeATHRT AT T3 ATl I TSR |

3



Prepare two questions to collect information in case study method.

g @ (Group B)
Tire IaRTwe weew (Short Answer Questions)

I3 yyeEd SO} fager | (Attempt All Questions) (8 x 5 =40)

. 1. ST (ATl RS GREHAT TH-gHT aehAT ==l Tl |
Write in short about the sociological imagination of C.W.Mills.

93, AT FHTSTHT THISMEATT Fo=a-el ¥eed  2AmeT T |
Explain the importance of sociological thoughts in the context of
modern society.

¥, TS [Tl TR GHEAEHT A FHFEhl ARTEFR == THR |
Discuss the contribution of Aguste Comte regarding the
developmental stages of society.

ggan(Or),
FHTSTTEAR] &AHT AR TaXH] ARTETAAT. ST =T TR |
Briefly explain about the contributions of Marx Weber in the field of
sociology.

. SR T AAHATR] FAARAT TTHCHE A (hATATG R [T THR |
Analize the symbolic interactionist theory on the basis of interaction
proform by individual .

& TSI fa=raeert RO 9fe= T FH1ETHT 1T g5 3ATeT G9h1a faeid |
Identify the causes of social deviation and give any two suggestions
to solve it.

9. TUTAH AT ATATHHRT AT [FTAEE Jooi@ Tl |
Mention the fundamental features of present constitution of Nepal.

sgar(Or),
JERATE! Higarars T FATSTATE] Algdrare dref fq=ar Erserd |
Differentiate between liberal feminism and socialist feminism.

i,  AITAH! FAAT G AT 9fRar THEE AT et faEr e #&RT aeew
HATARHAT e TR |
The formulation process present constituon of nepal was based on
people's participation. Justify with facts.

9%, faepraaT diear gaiitar afg T4 U FFAT FHERE! THAT AR IHEE, |

Prepare a model of News on measures of increasing women
participation in development.

Q¥



e T (Group C)
T ST Tees (Long Answer Questions)

T3 yyeEd S} fager | (Attempt All Questions) (3X8=24)

0.

1.

R

JUTME TR & Bl 7 GTAINAE [FSTAHT AT qMEES AFGE, Siderd
HATEATT T IHH THd @S 1erd |
What is sociology? Show the relation of it's with other branches of
social science anthropology, history and psychology.

Faar(Or),
ATHATAE A JOTelleh] Hecd ==l Terd |
Discuss the importance of democratic ruling system.
THTSATS ¥ T SATRAT T GrgIcH e 3Iaehl hlel HIRIh! [GTeaHT S & | I
FRIHTR! ATATAATHE [T THRI |
The conflict perspective to undrstand and explains the society is
based on the Marxis theory. Critically analyze this perspective.
feregreepl qiRaToT fee g | AT e Havd [aeres Se@ Tad |
Define theory. State the major characteristics of sociological theory.

4
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TITHT THREE aifa ager qUISH

At Afere ged 19 19

Grar IAT ATSH I c %0

ATHT ITX ATIH I 3 ¥

STHAT R 2
g .

. AT FET I § ATHH &7 T T THATH Tl THg FHIET T 99 TIF @A B |

o T TIF YU ASHHT g7 T ¥ GHATH T UGl Fiataed gq T & FIT W@ I AT b 3 FIAAT faebeq fam
Tfereeg |

. THI 999 & ASHH &7 B ¥ 3 U @A B WY FH UF oA faweq faw afrrs |

3. S TEAT UGl R0 FITeaHT qae T, S=of T&7al qedT 0 UAATHT TeHeA TR T A= TeHl ATTLTHATTER T
& A |

0. F TEHAT fATABT Y T AAAFATAR AT FreT, BT T AT T A B | T TEHT T @IABT FIF TEATA
AfTaATIAT E49 | ST AT AT (AT, HeATSHA T FASTAICHE TEH T TEASA |

R



[Bus. 303]
srqaras seraa (Business Studies)
THAT 999 99 099 (Model Question 2077)
e (Grade): Xl
Fwa(Time) : 3 Hrs quiigs (Full Marks): 75

TSI Tha T TR Tl Hifersh Iav faava | fopamrar faguet dgse quigsars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)

T % (Group A)
gfa @i STres Teew (Very Short Answer Questions)
o yeeEd I fae (Attempt All Questions.) (11x1=11)
1. a1 e 9\ d & &
What is service enterprise?
2. FFEad FEARE Y g5 Gaes Jeord TR |
List any two sources of business ideas.

3. fafaw 99 991 & & ?
What is financial resource?

4, SEANET FHH T & JHAGS, 7
What do you mean by multinational company?

5.  HUTEHT AT HUH T g% HlecAshs HFAHHT A0 ool TR |
State any two public company registered in Nepal.
6. TIHSREF F 3Z FAAET Iooid@ TR |
List out any two duties of partner.
7. FF@ifaE Afqedre 99 derE |

Write the meaning of business ethics.

R



8.  UTHE FH F TZ IIEEE ool TR |

Mention any two examples of direct tax.
9. I FRH F qF AFTF AT AR |

Write any two essentials of insurance contract.
10. wrEfAs ¥ ATHANET AR Fh FATITR

Show the difference between filling and indexing.

11. FAr@T SFEEdT A & 8l ?
What is office management?

@ @ (Group B)

v Sacs weew (Short Answer Questions)
q TRVeEd 9 fager | (Attempt All Questions) (8 x 5 = 40)
12. ==a@md A9F & & 2 A9 FEEE a0 T | 1+4

What is business? Describe its functions

Faar(or),

AR ATHT AT & & 7 TAATIHT AN ATHIR] HEed ATl THe |

What is fire insurance? Explain the importance of insurance for

business. 1+4
13. =g9I® YHE Faesd W et T e |

Briefly explain major resources of business.

14, THAE SHaQr qEATT THH FRIEE T0H THET |
Describe the reasons for starting sole trading concern.
Faar(or),
AT SACHT TATE I T8 q0H THEr |
Describe factors influencing the choice of the firm.

15. ATRENT EATT AHE & BT 2 q9Ts AITAH] AEHAN] Fadrd A qaql THees, 7
A% T | 1+4

%



16.

17.

18.

19.

What is partnership firm? How do you register partnership firm in
Nepal ? Discuss.

ST ¥ ¥ dies FFIAEMH! =T FaarsTed |

Differentiate between public and private company.

EAITIH AT (FgTeaee T AR qE TUTCAl SHAaAIEH AfdTF TRl TIET
THETH |

Examine the ethical practice of Nepalese business organization on
the basis of ethical principles of business.

THETH |

You are running a business in Nepal, then describe how do you
register it in PAN?

TG ATTATIAH] FFILEI JUTATR ATHBTR! ATHT HATSHA T8 |
Evaluate the role of computer application in record management?

¥ T (Group C)
AT ITHF Teew (Long Answer Questions)

a9 yyeEd S} fager | (Attempt All Questions) (3 X 8=124)

20.

21.

THATCHEAT T ATTATHE ATIRU ACTeld | TAT FaHTT gorareh! fata fafaes
TN T | 3+4
Write the concept of creativity and innovation. Explain the
different techniques of generating new business idea.

Faar(Or)
FAIE ATATAIHT (A1~ Tcageehl auA TR |
Describe different components of business environments.
TITART AT FTpTaAT FEHRT FMST FEA AT AFANTF ST Tl Fih SIHT
AT Tedar | ATl Tl |
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22,

How co-operative organization plays different role than any other
business ogranization in economic development in the context of of
Nepal? Explain.

SITEH FaLITIT Tl & &l 7 ATAAAH] AGH FFII, (ea=ar ¥ faeprasm
AT e qul ST e T8 | faee=ET TR |

What is risk management? Insurance plays vital role in risk
management, stability and development of business. Examine. 2+6
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THAT TEATT - 099

ferer : AT ( Lin 217) e 9
qUiiEeF: 94 THY : 3 9O
qHqg (&%) Group ‘A’

(®) T FIAEEDT Teb AR Ieak e 4 X 99 = 99
Answer the following questions in one sentence.
q.  WTITRl FEET AHl & al ?

What is oral form of language?
R AUATCHE SATHIU AT & e, ?

What do you mean by descriptive grammar?
3 TRl IR ARIH ATRAT Ard Al & &l 7

What is the physical adaptation source of language origin?
¥, FqS T & RS 7

What is accent?
Y. AEH T bl % Bl 7
What is written language?
% IR R F &l 7
What is a dialect?
. FrortasTeR areaTie e |
Define lexicology?

S, qEE ATH] AT & iR, ?
What does lingua franca mean?
?.  fafq 9=t & &1 ?
What is a script?
Q0.  WAIUF &AHI AT & v ?
What do you mean by language decline?
9. I FHIHIT AR & &l ?
What is language empowerment?
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3.

9%.

9.

q%.

qe.

9z.

q-.

Q)

0.

qAHT TR Bl Jax [GRI : 4 X 5= ¥0
Answer the following questions in short. 5x8 =40
AT ST ¥ TeIEAIeh TRl feTaresl ==l T |
Mention the differences between human language and animal communication.
AT ARAAAN gmg WAl BT TS WBHT gara ¢ debdied saTedl THerd |
Do you agree that language is changing? Explain with examples
ERC]
AqTIT JATAHT B g3 TPl T T |
Describe any two sources of the origin of language.
ATIepT T ST Sleilehl [T s@rserd |
Differentiate between dialect and idiolect.
qTHT ¥ GBI FARA ArqgFarad grgd, a0 Tare |
Describe how language and culture are interrelated.

HTghiceh AT el & SA[¥hes, ==l T{ad |

What do you mean by sign language? Elaborate.

What is corpora? Describe.

TATEAT ST AT T SMqes [a=ehl AraRaeaedel == THed |

State the interrelationship between castes and the language spoken in Nepal.
TATRIS ATHTH AGHATTAT AT T T AR TReHT ATIRE® Ioold Tl |
Mention the bases of measuring language endangerment according to
UNESCO.

ERCH]
ATUTh ATHAGTRII AT & Sf¥hee, == TTaE |
What do you mean by language documentation? Describe.

qAHT Tl AN Ja% G : 5 X 3 = ’¥

Write long answer to these questions.

ATTeRT = 6 aet fafa=T qeewe! av THer |
Define language. Explain various levels of language.

q0%¥



1.

R

FHTSTHATIGRT el & e ? T, ST 3T ATHISE AT Hafer=repl
freraT ITERvEEd T aTE e |
What is sociolinguistics? Explain the differences among language, dialect and
language variety with examples.

ERL
TATETAT ST ATIEEH HHI JAT fqaRoreme == THed |
Analyze the listing and distribution of the language spoken in Nepal.
ATITTTATAET o =T YA &6 Gaewmad! qe= faqe |
Explain any four fields of applied linguistics.

qoy
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FET 28 SR AFIIF [P0s.223]
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T
-
wﬁ a'ar ) 3T (Knowledge Eﬁﬂ' ‘EI'Zﬁ'*T ﬁ- _&dr PN
)fq’ /Remembering) (Understanding) (Application) (Higher Ability, S]E\_OFW
E TaT HA)
1 RUEEEHEHEE
| SEgE s T graes o | % 12 - 7 |y g
R | SHETEEE e 30 | & |- |- 9 9 - v |« &
EEREEIFAS ELk 90 | % 9 - - - 1 v | u %
¥ | = T geq 12 e | ¢ - - e L |- 2 |y 9
4 | TETEEE T g 92 | % - v e |- ; e |- 2
% | afaw Afwrwar ¥ e sttag | 2R | < - |- T <
o | TReTTEEATERT FAFAT T T 22 |9 2 - 2 ?
TATEST
¢ | STEgEAT eI T Awe 92 |0 |- 9 9 - 90 9o
Q| SHTEAT ALATAHRTATHN ATHTT 9y | o 9 9 - 9 2 |u ©
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9o | TETEAT AT ARASATFA | 24 | 4 9 9 CE Y 9
T FAEE
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YT G&T, ASHIR T GHT qTieAHT

FA | TR TER | T GE@ | 9 TN AEPNR | ST AEHER T ()
q 8 e ged | 9 q 9 %
R el 9o g 'y %0 _%
3 ATHI J9 3 5 Y Yz
STHEAT R 9y 9z0 fq=e (3 Fuar)

o TeAYH [AATT T FPUHT UhTeesd] AFARAT H¥F TG T G Ired T |

o  ITHITAT AT dEhT Y= 0 FiaeTd, e dgeht 999 30 Fiaerd, WA deahl Y= W Yiaerda T I=o g&Tdr dgdl 99+ Y wiaerd qifaw
3 |

=9 FATANT [AeA, HATHA T fasiar @ T Jed (AT T9 3 |
THTE 9,3,3 T ¥ AT AT §% 2T AqRFT SIel TITes TIH THE L& T 9 a7d Tl ¥ ATHI ATqiead Jo7 et oos | fq qevee ded
JIPUHT T& T TRH FAIS,
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THAT T
TAAEEAT FETIT
e ¢ (VeDh)

qwF © } "9
T h: AT BIET ITCHE TH (39x8=39)

Group A: Very Short-answer Questions (11x1=11)
STHEEIT AT Gr(-2Id Pl g3 TToRIgseh! 8 Seed e (K (
Name any two disciplinesrelated to population studies.
R0& ¢ | ST SATAR UTCTHT Ttk &1 STTEET SHASEATeh! foraworm
VU STHTATR F Teh HRT Aeferd | (U(

Mention any one cause of unequal distribution of population by geographical

region as per the census 2011 AD.

N Y

TATAR! HTAAA bl T HICH AN [FdTE bl AN FATH FHT Hid

-~

qlehebl & 7ETRd |

Write down the age mentioned by nepal government to both girls and boys
for marraige K (

for Tameed HTEH(WHO (1 STER Hegetrs TR THerd] (K(
Define death according to WHO.

GITI ¥ A0 YeIET TATE TTEE A AATSHT TSR & T b &
T (HA(
Fooding style and nutrition will affects the death rate of human being. Present

a logic of your own.

ATASITE TfT FARM(Brain drain (U SAfRITT T@aTE TUTSC o6 TH Hagwo, Fl
TS AT IURIEE TR | (A(

ALl



g2

gR.

What role can you play from your side at individual level to prevent brain
drain,? Mention any two ways.

TeRRTITrerEerTHT GRIEITE SFeeht ST TATEHT ATTACTE o g3 THRTTEs [Ee,
| (HA(

Give any two suggestion to your friend to be safe from drug addiction.

SISl gIeaR g1 A T (Population Doubling Time (70T ™ el St
TR | (K(

State the formula for estimating population-doubling time.

SUAT Q08¢ FTHR U] SHESE hGal 2.34% P 9 Hid qu

STEEEAT qTseR gran? (U(

What is the doubling time for the population of Nepal as per the population
growth rate of 1.35% according to census 2011 AD?
ST hTefeh! g T farsToraT sreqerd | (U(

Write down one feature of project work.

SIHSEAT FATHT TRATSHT HTRIHT AT F Toh Mhehl Teb JI9T e |
(HA(
Choose a title for a project work and write it's one objectives regarding

population studies.

TE W: BICRWIHS THTE (Lx4=10)
GroupB: Short-answer Questions (8x5=40)

ST FAThH! TR fad T8ehT F i ILaes Joai@ T | (K)

Introduce population studies and mention any three objectives of its .

q0%



¢3.

R%.

..

¢&.

Or
STHEEAT ST F qfedel ied Ioid e |
Mention any five importance of population studies.
SO T AT HAeTorhl gt e | (U)
Compare population census and sample survey.
< IR SHCHT T ferameet safereTs wreft sfiament qamdy 7 srere o fires™) o
YT 8 THRE(HA)
Marriage at appropriate age provides adequate time for the preparation of the
future life of a person . Justify this statement.

Or
ATAHT T TR SEATEehT Ses[E Ui R0 a9 T fodTe T =ei =ame |
quTSehT fo=reaT J9eh! e gsﬁum“atﬁﬁﬁw SUIh daeT FheHg® Sl
e |

Despite the various governmental efforts, there is still prevalence of marriage

before 20 years. Give any two main determinants and three appropriate steps

for its prevention.

qUTE STTHATS FUATEIE ST o FHET YT ATASS AT AIHT B2 Bl
qi= AT IR TR | (A)
Present any five ways that you are adopting to be safe yourself from

morbidity.

TITCHT SIHHSEAT SATEATIAR] &A1 ST W o Uie Hgleweh! HaquT ==

TR | (K)
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gR.

Briefly mention any five issues in the field of population management in
Nepal.

HeIoHT egerd | (U)

Explain any five roles you can play as an adolescent for the population
management in the society.

R4 A T R0E ¢ T SFHTUMT STTHTL UTCTeh! SHASEAT AT 3,39,48, %33
T R,8%,%%,40% Teeh! fORIT 99 Ik SATURAT wrargehia fafer st i Jurerehr
ST RGat FRTeTRE I(A)

The population of Nepal was 23,151,523 and 26,494,504 respectively in 2001
and 2011. Find out the population growth rate by using exponential growth

method.

QIGEISTHT fcreigehl TEehT TATHT TS SRINT T SRUTES HETHT e e |
(A)

Briefly explain the steps that you can adopt for writing the project report.

TUE T ATHISTICHS THEE (IXC=Y)

Group C: Long-answer Questions (3x8=24)
“TATTHT [EHTET T URTSHIE LS &ITHT SHTSES THe®eh! & JuHT agq Teteehl B
T TR H(F -1 SHTSEERT FITATS UeHd T TR WA Eo Fool
AR T2 T Ui TR ()
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RR.

There is annually increasing trends of migration of people from mountain and
hill region to the Urban and Terai region of Nepal. Explain any four roles that
your local governance can play to prevent the such uncontrolled migration.
TUTETHT UeheT URETRT YT S1G3 SHaT SI8 TRTHGheh] 2TTE Ueh THETShT T9HT 3T
74 | SUB AN SCaTeshl AT SFIed FeWTRIATE quTseh! o J&dd
TRl (HA)

Care of senior citizen has been emerged as a social problem of Nepal due to
increasing trend of nuclear family. Present your opinion regarding inter-

generational participation for caring senior citizen.

ToRRTIRISRRTIISRT ATTeT HHTSTHT |THTISTE forehTeet ATHT quTSel T Ta e T
ST T 9IEE] (A)
Clearify the the role and responsibilities that you can play as an adolescent for
the social development of the society.

Or
TRITRIEET T @Y JaeT TRl qaledl dleddars I Aa<drdl @ a4

afeedd T Al W AHEad GHEE FaeTIH T4 AIAT3 I IUTIEe THd

=1 TG Ueh I Te{erd|
Write one lettters to your sister who has just entred to the adolscent stage by
mentioning the changes appeared, problem should faced and ways to

management it in that age.

9%



HET ¢ 99 foor ¥€@a : Dance [Dan. 229]
fafrfteseur afeesr
ThTg RICREES RIET A T qEF FaEe 9 | Io9 q&ar ST G¥ | SR HFAR ST
IR & quq SE3
At | |dmr |afq | ST (A |t | e | || At || | | Ffa | |«
e e e e e
9 |AYTerET gt 20 (6 (1 {1 (1 (3 o |2 |1 |1 |9 |5 |2 (16 |9 |25 |16 |14
ATFAcTH! =g qgr
gfearaT
R AYTAHT YA A |28 16
TAH IR=T TAqT
gieTeT
3 UEATA A ( 22 15
TRAATETH) AT b
T
¥ TIRT WII@UE TR |10 5
REAL
STEAT 80 |6 |1 |1 (1 (3 |o |2 (1 |1 |9 |5 |2 |16 |9 |25 |16 |50

T |

o  TIHI TAT FIT T FIT TEH JYT ¥O FITerd, FANT T [T T&EF J97 30 GIasrd ¢ F== F&aTH J9T 30 Gaod &7 &7 | A7 A HE
T TEEEHT THA +3 &7 T J9T 81T 77 Flrd & |

o TFETTF THEH THIT JFH] FYF TG7 T THE [T THZHT +2 HTF T 97 [FHIT T7 GlFAeg 77 g (HEaE 797 G T
fragaregar Fear #1777 |

o ST FIT T FTHI JITHT UF T d&] IT F9TEE GiT GIeT qlebd & 1

o T FEAT JHIT VAT, HATFT T g FF T GIT [T THIT &
FIeT TOTET 7 9 §% SIeT Tl YT T ATA GYAAT UFel FIar g9 T & |
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) T TAEAR THT TR |

3 FE A AT % AR (Ieetd TR |

¥) el eEEwel ATl TR |

¥)  FAreerg Fuies are qgid dEr fafreg THEr |
T T

AT IR ASA T
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¥, J9 GHEH fauagEd! faRiieder Qe T A IEeE
CHEMISTRY
Specification Grid 2077
Grade: 11 Subject: Chemistry Theory (Che. 301)
Competency level
Remembering Understanding Applying Higher Ability
o o O o o o o o (@] o
= O O O O )
3 = = | S b= S| 3 b = | 5 S E
< < =
& £ g | a | g 2 g |9 |9 |[¢g |¢g |g |¢ %
@ 2 = | s S |8 g |8 S g |9 |g |so S B
8 S | 8lggygle g dedege e ool £
2122323/ 2352212:22:2:52:32 =23 =2
o O o o o o o o o o o
o = o =] o =] o =) =] o o
pd pd pd P p P p P P 2 P
1 Physical chemistry 48 28
2 Inorganic chemistry 35 20
3 2 |2 |2 105 |5 |1 |51 |8 |3 |3 |2 |10|1 |8 |1 (1 (3 (15 |1 |8
Organic chemistry 30 18
4 Applied chemistry 15 9
Total 128 12 18 21 24| 75
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Item format plan
S.N. Type of item Score per item | Total item |Total score Time
1 | Multiple Choice Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours

Remarks:

e Item format in composite should be met as per the specification grid.

o Designated weightage of the units/content areas should be met.

¢ Inthe case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

e The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying

and 30% higher ability level. Higher ability includes analyzing, evaluating and creating level.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

e Insuch case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution. In the case of SAQ there will be 2 "OR" questions and in the case of LAQ there will be 1
"OR" question.

9%



Model questions
Grade XI Subject: Chemistry (Theory)
Subject Code : Che. 301 Full marks: 75
Time :3 hours
Attempt all questions

Group ‘A’
Circle the best alternative to the following questions. (11x1=11)
1.  How many atoms are there in two molecules of water?
a. 3
h. 4
c. 5
d 6

2. What is the number of moles of ammonia gas formed when 0.5 mole of nitrogen
gas is reacted with excess of hydrogen gas?

a. 0.5
b 1
C. 2
d 3
3. Which of the following bonding is responsible for the solubility of ammonia gas
in water?

a.  Hydrogen bonding
b.  lonic bonding
c.  Covalent bonding
d.  Van der Waals' force
4.  What happens when Sulphur dioxide (SO.) gas is passed through an acidified
solution of hydrogen sulfide (H2S) gas?
a.  SO2is oxidized to Sulphur
b H>S is reduced to Sulphur
C.  SO2is oxidized to H.SO4
d.  SO;is reduced to Sulphur
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Which of the following property of crystalline substance describes the similar
chemical composition?
a.  Isotopism
b.  Isotopism
c.  Allotropism
d.  Isomorphism
SOsgas is formed as an intermediate during the manufacture of Sulphuric acid
by contact process. The formation of Sulphur trioxide from sulfur dioxide and
oxygen is reversible.
280, +0; = 2SO3 AH =-196 kJ mol™*
Which conditions of pressure and temperature favor the reverse reaction?
a High pressure and high temperature
b.  High pressure and low temperature
c Low pressure and high temperature
d Low pressure and low temperature
Which is the correct order of ease of carbon dioxide production by heating the
Group Il metal carbonates?
a.  MgCOs >BeCO3>CaCO3>RaCOs3
b.  CaCOs; >MgCO; >BeCO3;>RaCOs3
Cc. BeCO3>MgCO3 >CaC0O3>BaCOs
d. BeCO3 <MgCO;3; <CaCO3<RaCOs
Which of the following is related to Batch process?
a.  Requires high- cost equipment
b.  Can -not be controlled easily
C.  Generally available in fully automated plant
d.  Involves sequence of steps followed in specific order
Sodium-glucose pump is an example of
a.  Primary active transport protein
b.  Secondary active transport protein
C.  Primary passive transport protein

9=



d.  Secondary passive transport protein
10.  An intermediate compound X is formed during the production of urea through
ammonia/carbon dioxide technology. What is the molecular formula of X?
a.  NH2COONH:
b.  NH2COONH4
Cc.  NH4sCOONH:
d.  NH4sCOONH;4
11.  Which of the following are recycled in the manufacture of sodium Carbonate
by Solvay’s process?
a.  COzand NH4CI

b CO2 and NHs
c.  NaCland CaO
d NaCl and NH3
Group 'B'
Give short answer to the following questions. (8 x 5=40)
1. Anelement X has 2 electrons in K shell, 8 electrons in L shell and 5 electrons in
M shell.
I. Identify the element X and write the number of protons and electrons in
it. [3]

ii.  Size of X- - - ion is greater than that of X atom though both contain the
same number of protons. Give reason [1]
iii.  c¢. Write down the formula of one of the compounds of X where X is in -3
oxidation state. [1]
OR
Know -how about ionization energy (IE) of elements is crucial aspect in the
study of chemical bonding whether they form ionic or covalent bond. The first
ionization energies of period second elements are given below

of elements
onization energy(kJ/mol)
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I. Define first ionization energy. [1]

ii.  Name a factor that affects the value of IE. [1]

iii.  Which of the element is most difficult to ionize? [1]

iIv.  Why is there steep rise in IE from carbon to nitrogen? [2]

When electricity is passed through the molten NaCl in the presence of CaClzin

the ration of 2:3 by weight using graphite anode and iron cathode as electrodes,

sodium metal is deposited at cathode and chlorine gas is liberated at anode in the

electrolytic cell

I. Define electrolytic cell. [1]

ii.  Find the mass of sodium metal deposited at cathode when 0.1 ampere of
current is passed for half an hour and the process has 75% efficiency. [2]

iii.  Why does calcium metal not deposit instead of sodium at the cathode? [1]

iv.  Agueous solution of sodium chloride cannot be instead of molten sodium
chloride for the same intended product? Give reason. [1]

Derive the relationship between K, and K. Give one example of chemical

reaction where K is greater than K¢ [4+1]

OR

Derive the ideal gas equation PV=nRT where the symbols have their usual

meaning. State two conditions under which behavior of real gas approaches

that of an ideal gas. [3+2]

Concentrated sulphuric acid can be used in the laboratory to produce hydrogen

chloride gas by the reaction with solid sodium chloride.

I. Hydrogen iodide is not produced by the same method as for hydrogen
chloride. Why? [1]

ii.  What is the difference between hydrogen chloride gas and hydrochloric
acid? [2]

iii.  How could you identify the bottle containing HCI using ammonia gas?
[2]

Depending upon the nature of minerals present in the ores, calcination and

roasting are mainly used for the conversion of ores into their respective oxides.

i. What do you mean by roasting and calcination in the metallurgical
process? [2]
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ii.  Name the vessel in which roasting is carried out [1]

iii.  Write the name of two possible impurities that are removed in the
roasting [2]

One of the examples of homologous series is given below.

H
H.OH

X
H.CH>CH.OH

I. Define homologous series. [1]

ii.  Find the mass difference between successive member of above
homologous series and calculate the molecular mass of X [2]

iii.  What is the reason behind the highest boiling point but least solubility of
the fourth member in the given series? [2]

An unsaturated hydrocarbon B upon treatment with Hydrogen bromide produces

compound C. Compound C reacts with sodium metal in the presence of organic

ether produces compound D of molecular formula CsH14.

I. Give the chemical equations for the conversion of compound B to
compound C and compound C to compound D [2]

ii.  Write down the IUPAC name of compound C and D [2]

iii.  Give the structural formula of positional isomer of compound C [1]

Urea is a very much demanded chemical fertilizer in agricultural country like

Nepal because of the lack of domestic production. One of the raw materials for

urea production is ammonia which is obtained from Haber’s process.

I. Draw a flow sheet diagram for the manufacture of Ammonia by Haber’s-
Bosch Process [3]

ii.  What is the major challenge in establishing chemical industries in the
countries like Nepal? Mention how such challenge can be strategically
overcome? [2]
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Group 'C’

Give long answer to the following questions (3x 8=24)
In the presence of platinum catalyst ammonia is oxidized to nitric oxide. The
reaction is given below.

9.

10.

4NHsz+ 50— 4NO + 6H,0
Calculate the mass of Nitric oxide produced by the reaction of 2 mole of
ammonia with 2 moles of oxygen. [2]
What is the importance of limiting reactant in chemical calculation? [1]
If 2 moles of ammonia produce 50 grams of water upon reaction with
excess of ammonia. what is the percentage yield of the reaction? [2]
Calculate the volume of HCI gas required at 20° and 750mm Hg pressure
which can completely react with 2 mole of ammonia gas to produce
ammonium chloride [3]

Oxygen is the third most abundant element by mass which readily forms oxides
with other elements. Some of the oxides are given below

Na,O |AlLbO; |CO SO, FesOs [H202

Identify the acidic oxide, basic oxide, neutral oxide and mixed oxide
from the above table [4]
Write two chemical equation to prove that the particular oxide is
amphoteric in nature. [2]
Why is CO a harmful gas? [1]
Write any one industrial applications of oxygen gas. [1]

OR

Sulfuric acid is one of thelargest volumes of industrial chemical produced in the
world. Over the last decades the contact process has been used to produce
sulfuric acid, replacing the traditional (Lead Chamber) process.

Write the four steps of chemical equation for the manufacturing of
sulphuric acid by contact process starting form iron sulfide. [4]
Give any two chemical equations in which sulphuric acid acts as
precipitant and dehydrating agent. [2]
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11.

iii.  Write the chemical equation producing fertilizer using H2SO4 [1]

iv. Why does H>SO4always act as an oxidizing agent? [1]

An alkene X undergoes ozonolysis and gives two compounds Y and Z of

molecular formula CsHeO. Y and Z are functional isomers of each other

I. Write the two-steps chemical equation for the conversion of X into Y and
Z.[2]

ii.  Write the structural formula of Y and Z. Why are they called functional
isomers? [3]

iii.  What happens when hydrogen gas in the presence of nickel catalyst is
passed over X? [1]

iv.  What is the application of ozonolysis in the organic reaction mechanism?
[1]

v.  How can you prove chemically the compound X is unsaturated? [1]

End
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Eco. 303]
srsgmrer (Economics)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl
Fwa(Time) @ 3 Hrs. quiies (Full Marks): 75

TR AHTFH AR T Hi(Ah AR [GIS; | [FAREAT fagUHT Sgehel qUTgherg
s=res | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)
T8 & (Group A)
afq e STrcs Tees (Very Short Answer Questions)
I gyeEd IR fagere (Attempt All Questions.) (11x1=11)
1. et a&q 9w & &l ?
What is an economic good?
2. afg 711 ®eq : Qg = 150 +10P ¥ 9fq wer: Qs = 300 — 20P wu a=qfera
e Ol TS Terd |
If demand function is: Qq= 150 +10P and supply function is:Qs =
300 — 20P, find the equilibrium price.
3. = AdqHA TR & B 7
What is the closed economy?
4, ARG AT FEE AOAT AR ?
How is the disposable income calculated?
5. enfds fasre wwer & & 7
What is the economic development?
6. SIS AITHAFT FA TZ (AATAT ACTRI |
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Write any two features of Nepalese Economy.

7. T AW WS TEIRTHE B qE STAN Seold TR |

Mention any two uses of mineral resources in the agriculture sector.
8. TrEATH FH T ITAN AR |

Write any two applications of internet.
9.  SAYTEHT AR FF T& TANT ACTE |

Write any two uses of Mathematics in Economics.
10. 3x? % fewfmrae TUE® o1 FSHEE |

Find the differential coefficient of 3x2.
11. 3= faewA(2, 3) 7 B(5, 7) are i fadr w@rsl a9l a s e i |

Find the slope of the straight line passing through the points A(2, 3)

and B(5, 7).

w8 @ (Group B)
Tt ITreHs weew (Short Answer Questions)

I gyeEd S fagere | (Attempt All Questions) (8 x 5 =40)
12, HATART ATATEABT TRATI AT TR |

Explain the Marshallian definition of economics.

gaar (Or),

SH TPl & BT 7 THHT [G9Tdes ATl THerd |

What is labour? Explain its features. (1+4=5)
13. #wTeRr R e TR |

Explain the law of demand.
14. feSUHT AARIHRI ATARHT TART eAeER I [GAeld |

Answer the following questions based on the given table.
(2.5+2.5=5)

T (/%) [Price(Rs./Kg.)] | 5 10 15

o a5 1 2 3

RS



15.

[Quantity supplied (Kg.)]

AL Hed T Y AT dfg AU F QY &aT gl A 9l s ey |

Find the elasticity of supply when the price of a commodity
increases from Rs.5 to Rs. 15.

TEH Hed T, Y M g B, Q0 BaT Iiqebl A= Il A3 ard |

Find the elasticity of supply when price of a commodity decreases
from Rs. 15 to Rs. 10.

[ESUHT ATAHTH ATIRHAT TAHT TeAEEH AT (Gqard |

Answer the following questions based on the given table:
(2+1.5+1.5=5)

SUHNT TTRUH &R TS | A ITANTAT = ITAIRTaT
(Unit of commodity | (Total utility) (Marginal utility)
consumed)
1 5
2 9
3 12
4 14
5 15
6 15
7 14
8 12
gl aTfereht OR7 TTHET |

Complete the given table.

TR TRUT A(ARTEE Fel T AT JUATNTAT Fh <@l ToA Tere, |

Draw the total and marginal utility curves from the completed table.
F T ATATT ITANTAT ahe@Tier=iehl r=d @3 ard |

Show the relationship between total and marginal utility curves.
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16. wETH FHEE Iooi@ TR |
Mention the functions of money.

17. Surer anfees fasraet gfearn afe arel FRUEES! d@rsdl T8 |
Evaluate the causes of Nepalese economy lagging behind in the
process of economic development.

18. <Toram™ qRREc ol TATAH! AITAHT T THEEw ATl T |
Explain the effects of climate change in the economy of Nepal.

19. fag A (-5, 10) aTe YRET T9T 39 FETHT SRTER GUE FATSH [T T@TF]
FHHI IAqT AS AR |
Find the equation of straight line which passes through the point A

(-5, 10) and makes equal intercepts on both axes.

ggar (Or),
Aty ® TIaT A= fqguh gaared e Q = 4L + 312 + 713 5 s qera
JeEs FHTET THeE |
If the production function is given by : Q = 4L + 3L2 + 7L3, then
solve the following questions):
®. AR IR Hed 9aql ASerd |
Find marginal production function.
g HH Y UHTS garehl AT IATeA Ol ASerd |
Find the marginal product when unit of labour is 5.
¥ T (Group C)
Ml SaeHs Tees (Long Answer Questions)
T yeeeed 9uv fager | (Attempt All Questions) (3 X 8 =24)
20. fagusT AT ATTRHAT TAR JIAeEH IR & |
Answer the following questions based on the given table:
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A AAATHT | THET UHE | el ICATIA AT AR | GrHTT Ired
(Land in (Unit of & SILHAT & ST &, ST
Ropanies) Labour) (Total (Average (Marginal

product in product in product in
Kg.) Kg.) Kg.)
15 0 - - -
15 1 10
15 2 30
15 3 60
15 4 80
15 5 90
15 6 90
15 7 80
15 8 60

21.

22,

A ¥ AT IATE AT T qTART TRT THR |
Complete the table by computing the average product and marginal
product.
JCATEAHT AT FRUBEATS TEIAAT @l AT TR |
Show the three stages of production in a diagram and explain.
AT ST fARTEE SUEEAT ARG AT AT T (b F{EA1S 8w | AT
THETH |
Why measurement of national income is more difficult in
developing countries like Nepal? Explain.
TATAHT FHTRT ATITAHIRLT T TAATATHLITHT AU FATTETH ATl Tl |
Evaluate the efforts made for the modernization and
commercialization of agriculture in Nepal.

gaar (Or),

430




TATCTeRT  afYer fasTareT ST ST iR THTET TR |
Examine the role of industrial sector in the economic development
of Nepal.

The End
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Remarks:

o Item format in composite should be met as per the specification grid.

o Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

) SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should
be approximately to the required distribution.

o The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

. In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical.
The figures in the margin indicate full marks.

Group: A
Write Very short answer to the following Questions.  9x1=9
17.  Define tourism.
18. What is mass tourism?
19. What do you understand by 'the market' in tourism?
20. List out the name of National Parks situated in Terai region of Nepal.
21. Define eco-tourism.
22.  What is adventure tourism?
23.  Write down the name of any two mountain peaks above 8000mt height.
24. Point out any two major health problems to be faced during mountaineering
expedition.

25. Mention any two risks of mountaineering.

Group: B
Write Short answer to the following Questions. 5x5=25
26. Define motivation and describe the distinct characteristics of allocentric and
psychocentric tourist' motivation.
27. Assess the major challenges of the global tourism development in recent time.
28. Explain the role of Nepal Tourism Board in tourism product marketing.
29. Segregate Nepalese tourism market on different bases.

30. Write the impact of homestay tourism in Nepal.

Group: C
Write Long answer to the following Questions. 2x8=16
31. Define adventure tourism and explain its features.
32. Describe the requirements and process of mountaineering expedition in

Nepal.
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Marketing

Specification Grid

Grid for Grade: XI
S.N. |Content/Domain Area knowledge Comprehension Application Higher ability Total Question Marks | weightage
Unit Very | Short | Long | Very | short | Long | Very | Short | Long | Very | Short | Long | Very | Short | Long
short short short Short Short
1 INTRODUCTION OF
MARKETING
2 EVOLUTION OF 2 2 1 1 4 1 1 17 30
MARKETING
CONCEPT
3 MARKETING MIX AND
ITS COMPONENTS
4 COMPONENTS OF 2 1 1 1 3 1 1 16 26
MARKETING
5 MARKETING
FUNCTIONS 1 1 1 3 1 24 40
6 MARKETING 1 1 1
ENVIRONMENT
7 BUYER BEHAVIOUR
AND BUYING
DECISION
8 MARKETING 2 1 1 1 3 3
INFORMATION 1 18 24
SYSTEM
Total 7 1 - 4 3 2 2 2 1 11 8 3 75 120
Notes:

11. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature,

depth and coverage of the contents.
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12.  Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

13.  Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible
extent. All the questions shall be compulsory. However, two alternative questions will be added to any two
questions among the total questions asked.

14.  There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.

15. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher
efficiency and in other level question may be asked as per necessity.

Types of Question

Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type

Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22).

13%



[Mar. 307]
sormer (Marketing)
THAT 999 99 099 (Model Question 2077)
e (Grade): Xl

Fwa(Time) : 3 Hrs. quiies (Full Marks): 75

TR THAFH AR MeEH] WA IO [Gquws;, | fFaRmAT faguesr dgee quigswars
s=res | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)
T % (Group A)
Ffq | ST gyaee (Very Short Answer Questions)
o yeeEd SR fae (Attempt All Questions) (11x1=11))

1. SR qqR & & ?
What is marketing?
2. RSN ITARRT Il F I3 Hed Iooi@ Terd |
Mention any two importance of marketing towards customer.

3. ISR AT AE ATIRUIH AT e |
Explain modern marketing concept.

4, SRR T ATIRUN T (T ATURUT ATl F g5 (qAT I@IITE |
List out any two differences between product concept and selling
concept of marketing

5. Feeme IEHueE 99 qeled |
Write the meaning of marketing mix.

6. HIT =MEAT W= FEd A g ?

How demand is different from want?

939



10.

11.

FARHATE qRATIT TR |

Define Market.

faaeor a=ITel & gRg ?

What is meant by distribution?

GEHATH AT d&Terd |

Write the meaning of buyer.

TARITEA FAAT YOTATHT F 35 [ITATET Feold TR |

List any two features of Marketing Information system.
ATARE AT TUITATeh AT ATAT THa |

Explain the concept of internal records.

@ @ (Group B)

Hiwr Saas wes (Short Answer Questions)
T TReeEd 9 fagere | (Attempt All Questions) (8 x 5 = 40)

12.

13.

14,

15.

TSRLTE AATH (AT~ ATIRIES ATRAT TR |

Explain the different approaches to the study of marketing.
Faar(Or)

FARITEAH] VTR [ThTaH BT aAT BA®RA THed |

Discuss the historical development of marketing.

TS ATRAT FLEATATHT TN JCATEA T AUHT G T IR [l T

AEAES | TS FAL ITh ANTFAH] AN FoIAT THgg ? AT T |

If you have produced vegetables from your kitchen garden and you

want to sell them. How do you create demand for vegetables?

Explain.

TR D] AT ATATERITR] TN TR |
Explain the internal environment of marketing.
TATAD THTAT T [ahalehl SR FFed HTAeedh! U TRl

3z



16.

17.

Describe the marketing functions of wholesaler in the context of
Nepal.

Fara=oT JUIETT USiee ¥ @31 SATIRIh] Headd qHien  THe |

Review the importance of agent and retailer in the distribution
channel.

SYATTHTH! @XE YIHATHT THTT 917 Jcdee & @& g | dulsdl (q=H @RTH J497d
qT HEdqul dcd & al?

What are various factors affecting consumers buying decisions? In
your opinion which factor is more influential?

18. Examine the need for studying buyer behavior.

GRe FEER AATTH] ATAIHATH] [Fa=A1 THe |

19. IR Mg FUTATRT Heed 0 T |

Describe the importance of marketing intelligence system.
waar(Or)

Explain about the process of marketing research.

TSRLTE ATHATAHT ThATETH AT T8 |

¥qg T (Group C)
AT ITHF Teew (Long Answer Questions)

I gyeEd S fagere | (Attempt All Questions) (3 X 8=24)

20.

21.

IR fafe TFUROMEZRT SATRAT THETE | TUTSHT (a=HT  Afeciehr

FHTHT TSR] FHA ATIRIT Tel FATAd S 2

Discuss about the various types of marketing concept. From your
view point which concept is popular in present scenario?

TR fafa=T YopRes SaeRvl afed SA®S THe AT ATl FoeepT faererar
Tl Te |

Discuss different types of market with suitable example. Also,
explain the features of Nepalese market.
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22, ISRATEAH FEd 9T AIATAT ATATERVIH] HFIRIT ¥ (q90des gaha

TR | TSRS AT ATS (b TTb AT o<l G ? ATl TRl |
Discuss the concept and features of macro or uncontrollable
environment of marketing. Why marketing manager needs to study
of it? Explain.

zgar (Or)
FEINTT @REFATH GT IFAEe AT TR | FENd GRE TqeRdrs g+
qT GH@ Jcaesl ==l TR |
Explain the buying process of an organizational buyer. Also explain
the major determinants of organizational buying behavior.

9¥0



el e @R e

FE 19 T R fawwr wgda : Get. 309
fatfeesor aifee
THTg RIECEEN EIED] A T g EERICARE] I=a TET ST YO F@r | ST HFAR ST
TR g9 P
afg | grer | e | afa | @i | e | ata | grer | | | afdg | e | arEn gfqa | grer | @

FEdrelier afmg 18 12
ECUIEICal
TS AT 11 6
FETAATHT STAT
qEI®
LRI ED
giaarT 16 9
T g
R qar
AR arEET 20 6 3 1 314 0 2 1 2| 11 8 3 22| 11| 40| 24 13
ATl ST
@I @ THRIT 20 13
TR TS
AN T
et afHer 15 8
RTATHTH
EULTCRICEIR T
AT IS
G RAT 20 14
ST 120 | 6 3 1 314 0 2 1 2] 11 8 3 22| 11| 40| 24 75

9¥9q




(LSS I

o ITHT TAT FH T Mg qEHT 9¢9 ¥O GIqLd, JART qor a9 q@eht qe7 30 gfqerd T I== I&TdTeh Y97 30 Jaerd g+ S | a¥ ASAcHS
ST TEETT FHA +3 & T 99 TR T Al 3 |

o  UFETARI THEH THAT HHHT HXeh AT T THE [HAHT THSHT +3 H¥eh T YA (AT T F(bs, a¥ T THare g g T
farTrrareqert Juar g T 1 |

o  TIAT I9 T ATHT TITHT Uk Wl el 3T UIHes 9 Jied Al T |

o I TAAT A=A [qEA, HeAA(eh T FSIAT @+ T e (A T 3 |

o  TIEI YIFEE HeH o g% AT AAAT G ¥ ATHI YO TIaT HIaT J7 Ao+ g |

¥R



AHAT URAE?

T
i B IW A=A T Q1 X9 =199
Q. Al BT AT FET ANIRE TAR &7 ¢ Tk ATHET qelerd |

R SHIEArS e ATGHR 9 ATch H g ?

3. favewr @ g1 9E WSS ANRE TR GAF FA €T

¥, WOTHT St ARTRER T T Jq9d g1 & FRdTs AhISE 7

Y. gHEH A JSABTAAT g1 T HIZaT & &l ?

% B ATHAB He Ie¢d & &l ?

o U ANREATS TR THAERA & A5 THISS 7

5. URARHT S5 ANREH Hed @ad F9d T68, 7

. AT FEANTH e Th ATITRAT Jooid TeTd |
Q0. FUTAHT %0 qU AT HITIH SIS AN FATS HITHE Hid IATT (a5 7
9. TCAHITHT FEAT AERF 2ATIH T TE 7

el ST AS TN X X ¥ = ¥0)
TEATAT TG |9 I fafues & & g9 7 Sedal deTe |

JEATET RTEAHT AFeTHdT b el B 7 oot TR |

TATEHT SIS ARTRERR] AAANIF AALATH TFIHT FaT8 TAR Tl |

AT ATHTH WTER FF=AT BT ATAIE HAHTIAH == T8 |

TEATCAT FALATHT I AT THTEEH aCHT AETerd |

FEATEl ATTATHT g ATHINTF THESH! AT ACTR I |

SIS ARTREHT ATALAFAEEH] AT TAR TR |

5. FEAHA AEIAF T FAIANE TEANTH Hecd oo e |

K I s

e
AT AR ATIA T 3 X § = ]¥)
Q. ACAHTAAT ATZA ARF THLATEEHT (AT T |
R FCIAHIH] ERA FHIEEH qRHT =T TR |

3 U ANIRGEETH ATALARATEEH] AF-IHT (=T Tl |
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TTS( A THEH! STFAT AHHT Heh A9+ T FHE (AT THSHT +3 Bk T 99 (AT T Flhas
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Hel — 9
faua — arrare
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Af B IR A8 T R X9 =R)
) AT BT THRET grd 7

) qEATH AT (FARD) T RN (@) B JANT [obd TR ?

3)  Prare sfa|mETer e e e

¥)  ¥adg AT AT AT EA T8 AlF ATIH] ATH ACTR |

W) YRITSY dTddTs (AT deted |

%) @Al Hid HTATH T Bl 7

9) TG FHAE S, 7

5) 9 FHAYAE TH HA ATAR I FATHR gAg-Al 7
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q)  PEE AT & GRS 7 IR Aled AR |

) daerd R faarsd (Tune fafa s yeerer e |
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¥) AT AR AR BIEH Al AETRd |

W)  HIEAR F—A T AU TR |

e
AT IO AT T8 R X5 =19%
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) P & 9 FERTTE ¥ Tedr ? fqeTg afed arawve ara fatrEr qeEe |
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Constitutional Law

Specification Grid- Grade 11

Plan for Question and distribution of marks covered

Unit |Content Area |Teaching |Knowledge |Comprehension | Application [Higher Total Total Total
Hours ability Question Question Marks
covered
VS|S|L|VS |S|L|VS|S|L|VS|IS|L|VS|S|L

1 Concept & 8 1 1 1 (1102 6
Definition of
Constitution

2 Constitution |12 1 1 1 (11|02 6
Making
Process

3 Types of 6 1 1 1 |10 |2 6
Constitution

4 Fundamental |20 1 1 1|2 1|3 10
Rights, Duties
and Directive
Principles and
Policies of
state

5 Power 20 1 1 1 (1112 9
Distribution
Structure of
State

6 Structure of |22 1 1 1 1 (11113 14
Federal
Government

9%




under
Constitution
of Nepal.

7 Structure of |8 1 1 1 (11|02 6
State
Government
under
Constitution
of Nepal

8 Structure of |8 1 1 1 (11|02 6
Local level
Government
under
constitution of
Nepal

9 Security 8 1 1 1 (110 |2 6
Agencies of
Nepal under
Constitution
of Nepal

10 |Commissions |8 1 1 1 |10 |2 6
and
Constitutional
Bodies

120 3 12 |0 |3 1 1 3 411 (2 |11 |11 |8 |3 |22 75

Notes:
16. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature,
depth and coverage of the contents.
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17. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

18. Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible
extent. All the questions shall be compulsory. However, two alternative questions will be added to any two
questions among the total questions asked.

19. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.

20. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher
efficiency and in other level question may be asked as per necessity.

Types of Question

Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type

Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer
questions (Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22).
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[Col. 317]
et @A (Constitutional Law)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeTHT Hifeas gav faquwg | fhArrr fagusr sgeper quiteshars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T8 & (Group A)

gfa @i STres Teew (Very Short Answer Questions)
I3 yyeEH S fager (Attempt All Questions.) (11x1=11)

1.

lagrare A=Hl & &l

What is Constitutionalism?

SlaaaaTgRT aATEUHl Aiauars fhA dfe gSdted "iiMeg ¢ UH T
AETET |

Why the Constitution is more democratic made by Constitutional
Assembly? Write in a sentence.

TR HTATAH] B T2 €S ACTA |

Write any two merits of Unitary Constitution.

Hifdeh g T & THAES |

What is Fundamental Rights?

AR (e (g el & &l 7

What is Directive Principles of State?

TR FIAT ATAR FE HAF §F EATH ITAR g HawdT G 7

What are the provision of Remedies in the violation of Fundamental
rights according to the Constitution of Nepal?
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7. UpCHS 9T AGEAT ¥ WETCHE STTE SaRATHl F Teh (Tal deTare
Write a difference between Unitary Governance System and Federal
Governance System
8. U T IURTSEUCHHT TRTATIER! HALATTF HALATHT AHT AT eTd
Write the constitutional provisions about the tenure of President and
Vice President
9. HUTAH FFAHATIR TATAITATIGATE HETATTANT TS Akl FH Teh PRI
AETEN |
Write a cause to file motion of impeachment to the Chief Justice
according to the Constitution of Nepal.
10. Heaw=r Mgl T oeT & & g
What are the conditions for the appointment of Chief Ministers?
11, wfear TN A9 ANTH! Hed a1 qegTa ™
State the importance of Commission for Investigation of Abuse of
Authority.
¥ @ (Group B)
Hfrer Saree weew (Short Answer Questions)
o yeveed 9 fager | (Attempt All Questions) (8 x 5 = 40)
12, <faaee qer a7 HEeaes an F=@ ) THed
Describe the major features of the Constitution
13. &7 &7 ubwarare afaer fAamer 79 afeg ¢ BT UF GBRATET aEr =F= THE
What are the process to make Constitution? Discuss anyone of them.
14, FIR T TH "iag™ fq= T TR |
Compare between rigid and flexible constitution.
15. Saraer Sfaam qTar e Hahie SaaeTEsd aHT ==l THe |

Describe the provisions to appoint the Judge according to the
Constitution of Nepal.
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Faar(or)
FEAT HARATHT HifeTeh gheeshl 27 g7 T i@ e
In which condition the fundamental rights derogates? Illustrate

16. wfth Ul Mg dTER ISTH FT & Teedh! qHF Joei@ TR |
Describe the role of state organ according to the Separation of Power.
17. @EAWHR] FRAETHE & & & ¢ ACTa
What are the functions of Executive body of the State? Write
18. SOTA®! TRET TRYGHT TS T FAHF! AHT WA == T
Briefly discuss the composition and role of Security Council of
Nepal.
Fraar(or)
& A YU HEcd JanTd F0HT JETard |
List the significance of Self-governance System.
19. wftca FwTaell ATHRTE FE@d! ATCAT TehTeT e
Mention the importance of National Inclusive Commission
¥ T (Group C)
AT ITHF Teew (Long Answer Questions)
o yeveed 9 fager | (Attempt All Questions) (3 X 8=24)
20. @9 wHa AIFRET Hiidd &F elgAd ¥ 99 HiidH gF AAIATER G |
fTeeiuTeR® de Y& T |
"All human rights are not fundamental rights but all fundamental
rights are Human Rights."” Present analytical reason.
wgar(or)
HifeTeh & T FHercaepl aTeAT Gral famd el |
Write Short Essay on fundamental Rights and duties.
21, e oI EA YUl SR & B 7 AATAD] HGATT AR AGRT AT GHAT Sl

Il THEE |
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22,

What is federal system of governance? Discuss its composition
briefly under the constitution of Nepal.

Fedy =t atafaer Tnfaa TeET AT ORI FTEwE! (SRR T ¢ Ao
Gfaar s ER =ataed afafdesr w7 qar afwar aRAT ST e |

How judicial committee deals the pity offences in the local level?
Discuss the functions and power of Judicial Committee according
the existing Constitution of Nepal
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[Cul.323]
gagia (Culture)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeTHT Hifeas gav faquwg | fhArrr fagusr sgeper quiteshars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T8 & (Group A)

gfa @i STres Teew (Very Short Answer Questions)
I3 yyeEH S fager (Attempt All Questions.) (11x1=11)

9.

A T S AT AR F TF A TR |

Write any one difference between tangible and intangible culture.
TATCAT FHTSTRT AATATHT AT cTH FTAPT F g5 TAN Foord T |
Mention any two uses of literary source in the study of Nepali
society.

AATAH] Tl ATl & &l 7

Which is the first dynasty of Nepal?

Why are Kirati called nature worshippers ?

TATEIAT HeeA bl o g5 ATHITAF JIREE AR |

Write any two social reforms of Jayasthiti Malla.

Who built Taleju Bhawani temple located in Kathmandu?
HEAFTA FATHT F T2 (FTATES F&d THEr |

Write any two features of medieval art.
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AR QMEH 1 T HEadul [qed SIS TeTard |
Write any one important divine counsel of Prithivi Narayan Shah.

?.  9WTg FEIETAR! T AT & & 7
What is the major belief of Vaishnava cult?

Q0. IMH Fgehl IUSUTETE TUTGH! ATHHAT SHEATHT GHl F Uh JHATT Joeid@ TR |
Mention any one impact of preaching of Gautam Buddha in your
life.

9. TEATH T TATS gH SR F g5 (AATEE TR |
Write two differences between Islam and Christian religion.

w8 @ (Group B)
it Savcs weew (Short Answer Questions)

S TReeEd 9 fager | (Attempt All Questions) (8 x5 = 40)

R, RIATcEF TFEIRTR AATTHT & F&AT AIqeedl TART T ITIh A 7 IITa0
qled JETRH |
What sources are appropriate to use while studying archeological
heritage? Mention with examples.

3. FHTSHTST FTHTHT TN (b FHaLT TUHT foar ¢ wfereq == T |
How was settlement developed in Kathmandu Valley? Discuss in
brief.

waar (Or)
HeARTA FeAl FERIAHT [T Joei@ THer |
Mention the features of art and culture of Malla Period.

1%,  fa=sfa wIeET FoA1, AMfecT T AT T & Hedl ATITHT 94T 7 Joord TR |
What was the status of art, literature and language in Lichhavi
Period? Explain.

Y. IR TR ARHIAe TFvdel THY THHIAT Farel] GeIaT (aehrEeT AT Ha<r

TAT TATTHT F3T | e IreaeT FRUES F&qd T |
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9.

9z.

q-.

How had inter municipal cultural relation played the important role
to promote overall development of Medieval civilization of Nepal?
Give any five reasons.
TATAHT TR G, ATl THTSTHT S@TILeHT TRATTEE FaNTT $IH] ACTerd |
Write down the changes seen in Nepalese society after the
completion of unification campaign of Nepal.
“FUTTH SAFATHT AT TITeA] THTST Teh [T THTS {937 | 7 T8 FIAATS
afte TR |
Nepalese society based on Varnashram was distinct. Prove this
statement.
forat » SETE |
What role had played by four noble truths of Buddhism to develop
society and culture? Write down.
IRATRIE ITE TS TR ATSTd HATSA qdig & F&AT FUAFHES Ters, 7
AETET |
What programs do you launch to generate family entertainment
while observing festivals? Write.

graar (Or)
AT AU TGHT TROTHEEH] AT T{a 1 |
Evaluate the consequences of Anglo-Nepal war.

g T (Group C)
A Saeas geew (Long Answer Questions)
a9 yyeEd SO} fager | (Attempt All Questions) (3 X 8=24)
0. FAAHT FATSHT (AogfaTed TRIare! T41d [aequ o THar |

Analyze the impact of Lichhchavi period’s civilization in present
society.
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1.

R

FISHTS! SUHT FATMEXHT AT AT TSTEwH] ATHINTEF TTEHITF TEHT A=A
TR |
Highlight the socio-cultural aspects of Baise and Chaubise states
outside Kathmandu valley.
TATTAT HATe H&T i=ael Areqadrn aard T{ad |
Explain any five major festivals observed in Nepal.

waar (Or)
feT=adl TS AIEE JIHFT AT ool T4 g TATTHT FRTGTHER 0 TR |
State the biography of Lichhavi king Manadev First and also
explain his contributions.
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Fashion Designing

Fashion Designing (Fad. 325)

Specification Grid- 2077
Time: 2 Hours

Class: 11

Unit Scope - Knowledge Understanding Application Higher ability Total Item Item wise total
§ (K) () (A) (HA) number marks o
z =
g; VS | S L VS S|L|VS |S|L|VS|S|L|VS|S L VS S L g
10 - 1 - 1 - - - - - - - 1 1 1 5 - 6
g, |Inwoductionto 351, | ) by L] 1 1] - | - |1 4 2|1 ] 4 10|82
Textile
3. | Design Studies | 20 - - | - - - - - -1 - |1 - 1] 1 - 5 8 | 13
4 Garment 10 1 | ) 1] ) ] ] 1 1 ) 1 5 ) 5
" | Studies-I
5. | Fashion S T R I S I T e A 3 |- - ]3] -]-]3
Ilustration-I
Total 80 4 1 2 1|1 2 11 1 2 9 5 2 9 25 16 | 50
Question and Mark Distribution
SN | Types of questions Number of questions Marks per gquestion Full Marks Time in minutes
1 | Very Short Questions 9 1 9 22
(VSQ)
2 | Short Questions (SQ) 5 5 25 60
3 | Long Questions (LQ) 2 8 16 38
Total 16 50 120 minutes (2 hrs)

91




Remarks:

¢ A balance between the working hour and the weightage must be met for each unit.

e 1 extra short question for each question no 11 and 13 and 1 extra long question for question number 15 should be
asked.

e Questions should be formulated in such a way that analysis, evaluation and creation can be done under high
efficiency.

e Generally, 20 percent questions of knowledge level, 30 percent questions of comprehension level, 25 percent
questions of experiment level and 25 percent questions of higher ability level should be asked.
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Model Question

Subject: Fashion Design Class: 11
Time: 2 hours Total Marks: 50

Attempt all the question
Section-A (9*1=9)
Write any one importance of fashion design ? U
What is textile fiber? K
Write the 2 names of man-made fiber ? K
Ladies mostly choose Chiffen clothes why give one reason? U
Mention any two things that should be considered while dyeing? A
What is “Apparel”? K
What do you understand by the term “flat sketch”? K
What should be done at frist while drawing block figure? A

W N O U kR WD

What is the most considerable things while draping process? HA

Section-B
Attempt all question (5*%5=25)
10. Describe the career prospect of fashion designer in the fashion industry? K
11. Classify the textile fiber with example? A
Or
Write down the printing process with suitable diagram.
12.  Which types of fabric mostly used by youth and women in context of nepal
and why write with example? HA
13. Explain the elements of design in details? HA
Or
"Rhythm and contrast are important principle of design" why? Give your
agruments with examples.

14. Diffrentiate between drafting and drapping in grament making.
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Section-C
Attempt all question (2*8=16)
15. Explain the flow-chart of dyeing process in details? U
Or
Classify the textile fiber in details with appropriate examples.

16. Describe color wheel with labelled diagram in brief? A

AR



Livestock, Poultry and Fish Farming

Specification Grid

Grade: 11 Subject code: Lpf. 329
Unit Scope Knowledge Understanding Application Higher ability Total Item Item wise total
3 (K) (@) (A) (HA) number marks °
= &
g 5
‘é vs|s|L|vs|s|L|vs|s|L|vs|[s|L|vs|s|L|vs|s | L | Z

Introduction to
animal
1 | husbandry 4

Mechanism m of
animal
2 | reproduction 5

Animal nutrition
3 | and feed stuffs 5

Common cattle
and buffalo
4 | breeds 5/66 |11 1 |3|0| 2 |11 9 |5|21]16|9 | 25| 16

Common breeds
5 | of swine 2

Common breeds
of sheep and

6 | goat 4
Care and
management of

7 | livestock 8
Milk and its

8 | nutritive values 6
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Poultry
9 | production 15 13
Introduction to
aquaculture and
10 | fisheries 8 6
11 | Pondfishculture | 18 13
Total 80 6| 1|1 13 |02 11 9|5| 2| 16| 9| 25| 16
Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.
SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of
cognitive behavior should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding,
300% applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating
In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"
guestion.
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Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions.

Write the scientific name of pig.

list the hormones of reproduction in female animal.

What is the length of estrous cycle in goat?

List the names of any two leguminous fodder crops.

Which fodder is also called as king of fodder?

list the names of indigenous breeds of buffalo.

Where is hurrah pig found in our country?

Which breed of sheep is famous for fine wool production in the world?
Define aquaculture.

© o N o gk owhdRE

Group: B
Write Short answer to the following Questions. 5x5=25
10. How will you care of manage newly born calf.
11. describe the process of paneer preperation in detail.
12. Discuss about the management of chicks in the broder.
13. Explain the types of fish pond.
14. writeb about importance and scope of aquaculture in detail.

Group: C
Write Long answer to the following Questions. 2x8=16
15. Classify and describe the different classes of poultry.
16. Describe in detail about different types of fish culture.
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IIT, qfearer, arrdredt, sfies @reerar HeAaTe A A
T, AT, T red
ITERQTTHT, (M) Aifecafagrea Guge TeReTlad, T4, T T
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English (Optional)

Grade XI (Eng. 333)

Contents Types, numbers and description of questions
MCQs | Short answer questions Long answer questions
A Historical Survey 2 2
of English Tracing out outline, explanation, -
Language and classification, comparison and short note.
Literature
Introduction to 2 2
Language and Definition, explanation, classification, -
Linguistics comparison and short note.
Prose 3 2 2
Summary, narration, comparison, Justification, critical appreciation, plot,
justification of the title or meaning, character sketch, comparison and
evaluation, compare and contrast, contrast, appreciation of the fictional
explanation with reference to the context, elements and discussing particular
character sketch and discussing particular . .. . .
i T ' social/ cultural/political issues with
social/cultural/political issues with reference
0 a text reference to a text.
0 a text. .
. (Note: one question from the Novel/novella
(Note: Questions should be asked from both | .
- . is a must)
fiction and non-fiction texts.)
Poetry 2 1 1
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Explaining with reference to context.
Summarizing, giving the central idea / theme,
critical appreciation, comparison,
justification and discussing particular social/
cultural/political issues with reference to a
text.

Justification, critical appreciation,
comparison and discussing particular
social/cultural/political issues with
reference to a text.

Drama 2 1
Character sketch, describing the elements of
drama from a seen text, writing a
summary/plot, writing a theme, justifying )
title, message of the play, analyzing,
comparing and contrasting, reasoning,
writing critical appreciation and discussing
particular social/ cultural/political issues with
reference to a text.
Total number of 11 8 3
questions
Marks 11x1=11 8x5=40 3x8=24
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English (Optional)

(Eng. 333)
Model Questions for Final Examination
Grade XI F.M.: 75
Time: 3 hours
Group A
Choose and copy the best answer. (11x1=11)
1. In which of the following genre did Victorian literature achieve its greatest
success?
i the essay ii.  epic poetry
iii.  lyric poetry iv. the novel
2. The ., age tended to favour the taste and search for truth in art.
i. Classical ii.  Romantic
iii.  Victorian iv. Elizabethan
3. The smallest unit of words is called ...............ccee... .
I. phoneme ii.  allophone
iii.  juncture iv. morpheme
4.  The word ‘communication’ has stress on .................. syllable.
I first ii. second
iii.  third iv. fourth
5. Inthe story "The Cactus' by O'Henry, Trysdale proposes to a woman. How does

the woman respond?
I She sends him a cactus with its name in Spanish.
ii.  She sees him at dinner and says yes.
iii.  She ignores his proposal.
iv.  She sees him at dinner and says no.
6.  What is the narrator telling us about in the story '‘Boys and Girls'?

I. Her life in jail. ii.  Her life being rich.

iii.  Her life in a fox farm. iv.  Her life being famous.
7. According to Bacon, the chief use of study is ............c..........

I. ability ii.  ornament

iii.  delight iv. adornment
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Shakespeare's 'Sonnet 18 is addressed to .........c.ccevveenens .

i his wife ii.  Queen Elizabeth
iii. ayoung woman iv. ayoung man
9.  What does the 'black ocean' represent in the poem 'Still | Rise'?
I.  the speaker ii.  adeserted place
iii. aswamp iv. Africa
10. What is not the theme of the play 'The Boor'?
I. money ii.  infidelity
iii.  emancipation of women iv. industrialization

11. The character Madana as depicted in the drama 'Chitra’ is ............... .
i.  the god of springtime ii.  the god of love
iii.  aprince of the house of Kurus iv. the god of eternal youth

Group B

Write short answers to these questions. (8x5=40)

12. Write a short note on the development of English language during Elizabethan
period.

13. Compare between the modern age and postmodern age in English literature.

14. What characteristics distinguish language from animal communication? Explain
with examples.

15.  What are the different types of phrases in English? Explain each of them with
examples.

16. Write the three questions the king asked. Also, write the moral you learned from
the story Three Questions'. How will you apply the moral in your real life?
Explain.

17. How did the Silk Road affect towns and cities along trade routes? Give an
example. (The Silk Road in the World History)

18. “Sometimes too hot the eye of heaven Shines, And often is his gold complexion
dimm'd,” What does the expression ‘the eye of heaven’ refer to? What aspect of
summer’s day is presented here? How does this aspect of summer help to
establish the superiority of the poet’s friend? (Sonnet 18)

19. Isthe title 'The Song of Death' suitable? Justify your answer.
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Group C

Write long answers to these questions. (3x8=24)

20. How does Steninbeck explore the theme of dreams in Of Mice and Men?
Analyze it with reference to the dreams of major characters.

21.  "Her inability to deal with ideas helps her to become a writer" Why do you think
Didion says that? How is writing a way of finding out more about
our surroundings and lives? Also give examples of your own. (Why | Write)

22. Critically examine the poem 'United Fruit Co.".

The End!
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Applied Mathematics

Specification Grid, 2077

Subject: Applied Mathematics (Ama. 403)

Grade: 11
S | Content Area | Wo Competency level
N rki Knowledge Understanding Application Higher Ability
ng (16%) (24%) (40%) (20%)
hou
r (%2}
o o o o o o o o o o o " S
@) @) @) O 2
S|3 |2 |38 |3 | ¢ |5 |3 |8|8|3|%| %
2 &
2 S
[%2) [%2) [%2) [%2) n n [%2) [%2) [%2) [%2) (%) ; —
c c c c c c c c c c c g 8
stole g 1el.g.le.l2g.lg .12.1¢g.|¢s s %
© © © © © © © © © © ©
212192259 :259:22259:359:2935939¢=2 ¢ s
o o o o (@] (@] o o o o o
o o o o o o o o o o o
prd prd prd prd prd prd prd zZ prd prd Z
MCQ: 1
! azt:ldlin 23 14 |SAQ:1
g LAQ: 1
MCQ: 2
2 | Measurement | 19 12 SAQ: 2
Consumer
3 . 26 16
Mathematics 21202 s5|5]1]5|1]8 olal|?1]8]2|2]1|5]1]s8 MCQ: 2
Selecting the 0 2 0 SAQ: 2
best .
4 value/alternat 19 12 LAQ: 2
ive
Selection and
MCQ: 2
5 ,sb\rrangement 11 7 SAQ: 1
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Probability _
6 | and 11 7 g"fg'f
prediction '
Linear MCQ: 2
! modeling 1 ! SAQ: 1
MCQ: 11
Total Marks 120 12 18 30 15 75 |SAQ:8
LAQ: 3
Question format plan
Marks Number of questions Total
S.N. Types of per _ L Higher number of I\;otalil
Questions question | Knowledge | Understanding | Application Ability | duestions arks
1 Multlple Choice 1 5 5 5 5 11 11
Question
Short Answer
2. Question 5 2 1 4 1 8 40
Long Answer
3. Question 8 0 1 1 1 3 24
Grand Total 4 7 7 4 22 75
Note:

Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure
based questions should be prepared for blind students.
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Questions should be prepared by giving the context and one question may have more than one sub-questions.
Application and higher ability questions can be made by relating the other content areas.
Questions should be made by addressing all the sub-areas of content.

At least one multiple choice question should be asked from each area (Consumer Mathematics and Selecting the
best value/alternative).
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Secondary Education Examination
Modal Question Paper-2077
Grade: 11
Subject: Applied Mathematics (Ama. 403) Full Marks: 75
Time: 3 hrs.
Attempt all questions.
Group A(1x11=11)

1. If a shoe manufacturing company wants to know the most demanding number of
shoes, which one of the following measures represents the best central value?

a. Mean C. Mode
b. Median d. Range

2. How much ‘Aana’ consists in one ‘Kathha’?
a. 10.65 b. 65.10
c.11.65 d. 65. 11

3. If the area and the breadth of a rectangular table are 24x%y — 18xy? and 4x — 3y
respectively, then the length of this table is:
a. oxy C.4x + 3y

b. 4x-3y d. — 6xy

4. If the cost of 2 kg tea is the same as the cost of 3.3 kg sugar, the cost of 2.2 kg
sugar is the same as the cost of 0.5 kg coffee. Then how much quantity of tea is
same as 2 kg of coffee in terms of cost?

a. 5.3kg c. 3.5kg
b. 0.75kg d. 7.5 kg

5. If a person has two children and there are 5 colleges in his/her town. In how
many different ways the person can admit his/her children among those 5
colleges in the condition that both children do not want to admit to the same
college?
a. 10

b. 20
c. 25 d.5
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6. A shopkeeper wants to buy stationery items costing Rs. 50 per unit and playing
items costing Rs. 200 per unit. But the person has only Rs 20,000. Let x and y be
the number of stationary and playing items respectively. Then, which one of the
following mathematical models best describes the given condition so as to decide
the maximum number of items to buy?

a. 50x+200y = 20000 c. 50x+200y < 20000

b. 50x+200y < 20000 d. 50x+200y > 20000
7. A student has a probability of getting a grade A in mathematics on a test is 0.55

and getting a grade B is 0.40. What is the probability that the person will get both
grades?

a.0.95 b.0.22
c.0 d.0.73
8. What is the probability of getting 5 Saturdays in a month of 30 days?
a. 27 b. 1/6
c. 5/7 d. 1/7

9. How many numbers of three different digits less than 500 are formed?

a. 400 b. 288
C.24 d. 27
10. Observe the following table carefully and select the best value in the missing
place.
X 2 5 7 10
Y 10 22 30 ?
a. 44 c. 42
b. 50 d. 38

11. If x=y in every point (X,y) on a straight line then which of the following
statement is true?
a.  The straight line is X axis.
b.  The straight line is Y-axis
c.  The straight line through the origin and divides the first and third
quadrants into equal two half.
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12.

13.

14.

15.

d.  The straight line through the origin and divides the second and fourth
quadrants into equal two half.

Group B (5 x 8 = 40)
If consistency in the scores is the criteria for awarding the students, who should

get the award based on the following performance of two students X and Y in
six tests of 100 full marks? [5]

X 56 72 48 69 64 81
Y 63 74 45 57 82 63
If the height of a square-shaped room is 10 feet and the volume of the same
room is 1440 cube feet. If the room has a door with 7 feet height whereas its
breadth is half of the height. And, the room has two windows covering the area
double than the area of the door. How much should a person pay for plastering
on the 6 faces of the room at the rate of Rs. 20 per square feet? [5]

If the distance between two cities A and B is 40 Km and the distance between
cities B and C is 50 km. How much time does a person need to travel from A
to C through B if the person can maintain the speed of 30Km per hour in the

beginning and then he can increase the speed by 10 Km more for each next 20
Km? [5]

Look at the following tariff rates of electricity consumption shared by the
Nepal Electricity Authority.
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16.

17.

18.

19.

20.

If A has a meter box of 15-ampere capacity and consumes 188 units in a
month and B has a meter box of 30-ampere capacity and consumes 175 units
in a month. Decide which will pay more electricity bill? [5]
To prepare a team for the volleyball game, 6 persons are to be selected
including 2 girls. In how many different ways such groups can be formed from
10 boys and 4 girls?  [5]

Define independent events with an example.

A person wins the game if she/he obtains head on the coin and even number in
the dice while tossing a coin and rolling a dice simultaneously. What is the
probability of winning the game by the person? [2 + 3]

A farmer can buy two types of fertilizers. A bag of fertilizer M costs Rs. 50 and
contains 6 kg of nitrogen and 3 kg of potassium. Another bag of fertilizer N
costs Rs. 40 and contains 3 kg of nitrogen and 3 kg of potassium. If the farmer
wants to add at least 30 kg of nitrogen and at least 18 kg of potassium to each
plot of land, formulate a mathematical model for minimizing the cost of
fertilizing a plot of land. Also, solve it. [5]

In a book, there are 825 pages and each page contains 45 lines.

a.  How many lines should be there on one page if the entire book should be
completed in 700 pages? [2]

b.  If a page consists of 50 or more lines, the cost of typing the page is Rs.
25 whereas per page typing cost is Rs 20 when the page consists of less
than 50 lines. In which of the form (printing the books with 825 pages or
700 pages) will the cost be minimum? [3]

Group C (8 x 3=24)

The following box plots describe the scores of students in the test of
mathematics taken in the evening and in the morning.

Testin };[Dﬂﬁng + +
+ Test in Evening
*—

1
50 55 60 65 70 75 B0 85 50 95 100

Math test score
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21.

22.

Now, compare and explain the scores of the students based on the following
parameters:

a.
b.
C.

o

Median values [3]

Deviation on the scores [3]

Taking math tests in the morning results better grades than taking the test in
the evening. Do the data support this argument? [2]

What do you mean by decision alternatives? Describe with an example.
[2]

Define decision-making under certainty with examples. [2]

Mr. Indramani has Rs. 1,00,000 to invest in one of the three options A, B,
C. The return on his investment depends on whether the economy
experiences as inflation, recession or no change at all. The possible
returns under each economic condition are given below:
Options | State of Nature

Inflation | Recession | No change
A 20000 10000 15000
B 30000 8000 10000
C 25000 12000 18000

Suggest the best option to invest using minimax and maximin criteria. [4]
What is the difference between simple and compound partnerships? [2]
Two persons A and B started a business in partnership. A contributed Rs.
30,000 and B contributed Rs. 75,000. At the end of 6 months, C joined as
a passive partner, who contributed Rs. 45,000. They arranged that A and
B shall share equally 20% of the profits and all three will share the
remaining. The profit for the first 6 months is Rs 21,000 and for the
second six months Rs 27,000. How much A, B and C get from the
business at the end of the year? [6]

The End
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Business Mathematics
Specification Grid, 2077

Grade: 11 and 12 Subject: Business Mathematics (Bmt.
405)
SN | Content Area |Work Competency level Areawise |Number
ing Knowledge Understanding Application Higher Ability Marks of
hour | (16%) (24%) (40%) (20%) Questions
o4 o o4 o o o4 o o o4 o o
O o O O
= $ = $ 3 = S S s S 3
2 2 2 2 2 2 2 2 2 2 2
S S S S S S S S S S S
S 8|2 8|2 S| 28| 2|8|2 18| 2|8|2|8|2|8|2|8|<2
O| s | O 8| O 8| O 8| O 8| O 8| O 8| O 8| O 8| O | O &
5| 2|5|2|5]2|%52|5|2|5|2|5|2|56|2|%5]|2|%5|25]2
=} o o =} =} =} =} =} =} =} o
P4 P4 P4 pd pd pd pd pd pd pd P
1 |Algebra 21 13 MCQ: 3
g SAQ: 2
MCQ: 2
2 |Calculus 40 25 SAQ: 3
LAQ: 1
. . MCQ: 3
3 |Financial Math| 17 11
2 2 2|10({5|5|]1|5 |18 22| 4]120(1 8|22 1|5 1 8 LAQ: 1
Linear
4 |P i 10 6 MCQ: 1
rogrammin
9 g SAQ: 1
Problem
5 |Statistics 20 12 MCQ: 2
6 | Probabili 12 8 SAQ:2
robability LAQ: 1
MCQ: 11
Total Marks 120 12 18 30 15 75 SAQ: 8
LAQ: 3
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Question format plan

Number of questions Total
SN, | Typesof Mser:( ; i : number | Total
Questions question | Knowledge | Understanding | Application Higher of Marks
Ability | questions
1 MultlpIeChmce 1 5 c ) , " "
Question
Short Answer
2 Question 5 2 1 4 1 8 40
Long Answer
3 Question 8 0 1 1 1 3 24
Grand Total 4 7 7 4 29 75
Note:

. Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure
based questions should be prepared for blind students.

. Questions should be prepared by giving the context and one question may have more than one sub-questions.

. Application and higher ability questions can be made by relating the other content areas.

. Questions should be made by addressing all the sub-areas of content.

. At least one multiple choice question should be asked from each area (Statistics and Probability).
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Secondary Education Examination
Model question — 2077
Grade: 11

Subject: Business Mathematics (Bmt. 405) Full marks: 75
Candidates are required to give their answer in their own words as far as practicable.
Attempt ALL Questions.
Group A (1x11=11)
Rewrite the correct option in your answer sheet.
1. If the demand equation for a certain commodity is Q = a - bP, then the expression for

elasticity of demand is

Qa dP QadQq P dQq P dP
V40, L ) Qi ap 170,
2. The roots of bx?>+ax+c=0 are equal, if
a) a-4bc=0 b) b2 -4ac =0 c) b2+4ac=0 d) c2-4ab=0
3. If loga 5 =a, then log 2 is equal to
a) k)%S +2 b) Iozias c) 2Iof‘g5 d) Iozé
4. If y =x", then [x"dxis
a) X:l e b) :ﬁ +C o) zni d) ’;n__i +C
5. If x+2, 3x and 4x+1 are in A.P., then the value of x is
a)3 b) 2 o1l d)4
X -x for x#0
6. If f(x) = 2x and if fis continuous at x =0, then k =
k for x=0,
a) -1 b)-1/2 c)0 d)1/2
7. If the true discount on a certain sum for 5 months at 12% p.a. is Rs.200, then the present
worth is
a) Rs.2000 b) Rs.3000 ¢) Rs.4000 d) Rs.5000
8. If an equal amount is drawn at the end of each month for 6 months, the interest on drawing

calculated on total drawings for an average period
a) 2.5 months b) 3 months c) 3.5 months d) 4 months
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10.

11.

12.

13.

a)
b)

c)

14.

A manufacturer of radio sets produced 600 units in the third year and 700 units in the
seventh year. Assuming the production uniformly increases by a fixed number every year,
the production in the first year is

a) 500 b) 530 c) 550 d) 570

The sum of the percent frequencies for all classes will always equal

a) one b) the number of classes

¢) the number of items in the study d) 100

You are allowed to choose four whole numbers from 1 to 10 (inclusive, without repeats).
Which of the following is FALSE?

a) The numbers 1, 2,9, 10 have the largest possible standard deviation.

b) The numbers 1, 5, 6, 10 have the largest possible standard deviation.

c) The numbers 4, 5, 6, 7 have the smallest possible standard deviation.

d) The numbers7, 8,9, 10 have the smallest possible standard deviation.

Group B [5 x 8 = 40]
The demand and supply functions of a good are given by
P=-Qd+125,2P =3Qs +30.
Determine the equilibrium price and quantity. Determine also the effect on the market
equilibrium if the government decides to impose a fixed tax of Rs 5 on each good. Who
pays the tax? [5]
Given a basic Keynesian macroeconomic model: Y = C + I, C = 60 + 0.4Y, Iy = Rs. 300.
Determine the equilibrium level of national income (Y.) and the equilibrium level of
consumption (Ce). Amongst 50000 people of Nepal, a person infected by a Corona virus
disease (COVID-19) had recently returned back home from a foreign country. The spread

50000
of the COVID-19 through the person body is given by the equation, P(t) = 7749999 o-0at

, where ]P(t) is the total number of people infected at time t days.

How many people are initially infected from COVID-19?

The country will luck down, if 10% of the people are found to be infected from COVID-19.
On what day will it close?

How many people will become infected eventually from COVID-19? [2+ 1+ 1+ 1]

tuatetim BEENEEE 1 the ollowing limits when they exist
Evaluate lim 1(x-a) . Also find the following limits when they exist:

X—a

filx) = x+4 forxzz}
atx =2

2X +2 forx<2

[3+ 2]
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15.

16.

17.

18.

19.

1
The total cost C of output Q is given by C=300Q — 10Q? + 3 Q3. Find the output levels at

which the marginal cost and the average cost attain their respective minima. Also, show
that the marginal cost and average cost function are equal at minimum average cost. [5]
6x2—6x +5

Evaluate: (a) J\/m dx (b) [ x In x dx [2.5 +2.5]

A small industry manufactures necklaces and bracelets. The combined number of necklaces

and bracelets that it can handle per day is not more than 24. Each bracelet takes 1 hour of
labour to make and each necklace takes a half hour. The total number of hours of labour
available does not exceed 16. If the profit on the necklace is Rs.80 and the profit on the
bracelets is 50. How many of each product should be produced daily to maximize profit?
Solve the problem graphically. [5]

Calculate Qi, Ds and P7s for the following data: [5]

x: 5 4 9 |12 15| 6 | 10
y: 8 6 12| 8 6 9 | 10

Following are the marks obtained by two students Ram and Hari in 10 tests of 100 marks

each.
Test 112 (3|4|5|6|7|8]|9]10
Marks of Ram 54 | 60 |56 |68 |72|52|48 |76 |80 |44
Marks of Hari 66 |57 | 51|72 (69|63 |60|54 75|48

Who has more consistent performance? [5]

20.

21.

Group C[8 x 3 = 24]

3x+5
(@)  Define derivative. Use it to find the derivatives of XT . [4]

X

. ﬂ h ——_—
(b) F|nddxw eny—1+|0gx.

(4]

a) A, B and C have respectively Rs.50,000, Rs.35,000 and Rs.25,000 invested in a
business. A and B receive respectively 20% and 10% of the annual profits as salary.
The residue of the profit is divided among them in proportion to their capitals. If at
the end of the year A receives altogether Rs.1,200 more than B, what does each
receive? [4]

b) The difference between the true and banker's discount on a certain bill due three
months hence is Rs.5, the rate of interest being 4% p.a. Find true discount, banker's

discount and amount of the bill. [4]

%3



22.

a)

b)

A man has 10 friends of whom 6 are relatives. In how many ways can he invite 5
guests such that 2 of them may be relatives? [4]

Ram and Shyam appear for an interview for two different posts. The probabilities of
their selection are 1/4 and 1/5 respectively. Find the probability that both of them

will be selected, only one of them will be selected and none of them will be selected.

(4]
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Library and Information Science
Specification Chart/Grid
Grade 11 Library and Information Science (Lis.409)
SN Unit/Area WH | Marks | Rememberi | Understanding Applying Higher ability No. of Marks Total
ng guestions Marks
VSQ | SQ |VSQ|SQ |LQ|[VSQ|SQ |LQ|VSQ|SQ |LQ|VSQ|SQ |LQ|VSQ|SQ |LQ

1 |[Library, 14 9 2 1 1 - 1 - 1| - - 1 - 3 3|1 3 15| 8 26
Information and
Society
Types of Libraries | 14 9
Library 14 8
Management

4 | Collection 14 9 2 1 2 1 - 1 1)1 - 1] - 5 4 11 5 |20 8 33
Development

5 |Library 20 13
Classification

6 |Library 18 11
Cataloguing and
Subject Heading
Assignment

7 |End Processingand | 9 6 1 - 1 1 - 1 - - - - |1 3 1|1 3 5|8 16
Book Shelving

8 |Circulation System | 9 5

9%




9 |Preservation and 8 5

Conservation

(PAC)
Total 120 75 2 4 2 2 2 |1 - 2 |1 |11 |8 | 3| 11 [40|24| 75
Question and Mark Distribution
SN Types of questions Number of questions Marks per question Full Marks Time in minutes

1 Very Short Questions (VSQ) 11 1 11 25

2 Short Questions (SQ) 5 40 155

3 Long Questions (LQ) 8 24

Total 22 75 180 minutes (3 hrs)

Remarks:

Item format in composite should be met as per the specification grid.
Weightage in the combined cell should be met, but +3 marks variation will be allowed within the combined cells. But cannot

be nil.

In total cognitive distribution should met. +3 marks variation will be allowed within the cognitive levels.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding,
25% applying and 25% higher ability level. Higher ability covers analyzing, evaluating and creating levels.

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Model Questions
2077
Grade: 11 Full Marks: 75

Library and Information Science (Lis.409) Time: 3 hours

Candidates are required to give their answers in their own words as far as

practicable. The figures at the right margin indicate the full marks.

Attempt ALL the questions.

Group ‘A’
Give very short answers to the following questions. (11x1=11)
Which stage of the development is indicated by the Parchment Library?

How do you define Zero Based Budget?

Write any one difference between national and academic library.

Name any two book selection tools.

Write any two features of Dewey Decimal Classification.

Write any two importance for writing an accession number in the clue page of
a book.

How can you determine subject heading of a document?

8.  Where a Call Number is written or typed in the main card?

9.  Atwhich page a book pocket is pasted in a book?

10. How can you control the stealing of library resources? Ide

11. Write any two major function of a circulation system in an academic library.

o a ks wh P

~

Group ""B"
Answer the following questions in short. (8 x5 =40)
Briefly describe the role of library in society.

How do you apply the 4™ law of library science in day to day practice?
How can you justify the importance of public library in a society?
Describe the types of documents with suitable examples.

How do you build appropriate call number of a given document?

ok~ 0DdPE
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6.  Describe the objectives of a library catalogue.
7. How can you justify the need of subject heading in catalogue?
8.  Why stack reading is essential in the library? Explain with suitable examples.

Group "C"
Answer the following long questions. (3x8=24)
1.  Explain any four needs to be taken care while designing a library building.

2. How can you construct the classification number according to Dewy Decimal
Classification?

3. How do you preserve and conserve the library resources in the context of
Nepal?

Rz



Home Science

Plan for Question and distribution of marks covered

Specification Grid- Grade 11

Unit |Content Area WH Marks | Knowledge/ Understanding | Application | Higher No. of question | Marks of Total
Remembering Ability questions Marks
VS |S |L |[VS |S |L |VS |S |L |VS |S VS |[S |L |VS |S
1 |Home Science a 3
Multidisciplinary subject |5
2 |Human nutrition and 6
The Nutrients 10
3 |Basic six food group and 6
Balanced diet 10
4 | Food preservation 5 3 2 -2 0-1-121 -1 -/- 511(1]|5]|5 18
Introduction and Stages 5
of Child Development
and Reproductive
1 |System 7
Prenatal and Post Natal 5 19
2 |Care 8
Brest feeding and 3
3 |Complementary Feeding |5
Infant Mortality, 6
Common Ailments of
4 | Childhood and Common |1 1 - - - 11 - - 1 1= - - 11 2! 1/1 |10

929




Accidents Among Child
Inside and Outside
Home

Home Management

Maintenance and Care of
Home

12

Family Income

Applied Physics

20

Classification of Fibers
and Their Properties

5

Weaving

10

Fabric Selection and
Sketching of Human
Figure

10

Terminologies used in
Clothing and Fashion
Designing

18

120

75

Question and Mark Distribution

SN

Types of questions

Number of questions

Marks per question

Full Marks

Time in minutes

Very Short Questions

11

1

11

26

Short Questions

5

40

96

Long Questions

8

24

58

Q00




Total 22 75 180 minutes (3 hrs)
L | | |

Remarks:

o Item format in composite should be met as per the specification grid.

o Weightage in the combined cell should be met, but + 3 marks variation will be allowed within the combined
cells. But cannot be nil.

o In total cognitive distribution should met and marks variation will be allowed within the cognitive level.

) SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more
cognitive behaviors.

o The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30%
understanding, 25% applying and 25% higher ability level. Higher ability covers analyzing, evaluating and
creating.

o In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"
question.
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[Hos.411]
e (Grade): Xl
THa(Time) : 3 Hrs. quiges (Full Marks): 75

TRl FHTFT AR 9TeFAT Wit a2 faqqg | fFARmAT fegusr sagsa quigswars
wrss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)
T & (Group A)
afq e STrcs Tees (Very Short Answer Questions)
I3 gyeEdH S fager (Attempt All Questions.) (11x1=11)
1. e fasmer & 3% faar Jetey |
Write any two disciplines of home Science.
2. I[Ad ASAATE TR TR |
Define Balanced Diet.
3. HHF TR @A T G 1 3% e died e |
Identify any two importances of food and nutrition in human heath.
4. 8 [aSER SEHT SATARRI ASHNT T ¥ ASHT drerebl el s@rserd |
Differentiates between wage employment and self employment in
thr area home science.

5. @ QR F T TERN qRHT Ge=rT THe |
Identfy any one traditional process ofpreservingthe food.

6. a9 A AHR & v v
What is an exclusive breast feeding ?
7. E EAEMOAArs GRATHd THEE |
Difine home management.
8. UIRARIF ATRETHIHT F qeadl AT ool THE |
Mention any two sources of family income.
9. 9d e F I3 [A9AT AT |
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10.

11.

Write any two characteristics of a good home.

TR feba fAa=ret ® 3% IR deE |

Write any two control measures of household pests.

"SIFfeTE TRt WTAET Hed STl WA TANT ThgaH faked en' & Tk ak
feea |

"The use of Bio gas is one of the best alternative source of energy"
give one logic.

w8 @ (Group B)

T STRrRe wRew (Short Answer Questions)
T3 gyeEdh S} fager | (Attempt All Questions) (8 x 5 =40)

12.

13.

14,

15.

T SAAH] AT FeA[ed WIS HEcd Joei@ Tald |

What are the Importance of balance diet for a healthy life ?
Faar(Or)

G RETH FH g5 fataesed! el T |

Explain any two methods of food preservation.

AlEATAIH THIHT W T TARTE LI T dXHEs ATl THald |

Explain the ways to maintain the health and hygine during the

menstruation period.

999 T4 T G9d TYATT EARE FH IR Hed qfeand THard T & ol sAre

Ter |

Identify any four importanc of prenatal and postnatal care and

explain any two of them.

e SHALATIHHT H e AfHHT T I TR |

Write any five roles and responsibility of a home maker.
waar(Or)

XY [IgA qREATHT IUIRE [ AIATST 9as, 2eATell TRl |

Explain why we adopt electric safety measures in the home.
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16.

17.

18.

19.

IYNRT foretTer quige! 3 o @ UaTSH T FE AN M6, ¢ I FJETaT
EESRIEEURI GG

How consumer education helps to minimize your daily
unnecessary expenditure ?Elaborate in five points.

XH EXALR T AXAHTS & HaLATITh! Hecaqul 9&7 &1 | ITIh STy afeq
afte TR |

"Cleaning and caring home is the major aspect of home
management" Justify it with suitable examples.

TS 1T FHTOTRT qIqamT Fael THEws, ¢

How do you do pre preparation of clothing construction ?

faetrg T g Ao faedrees & & g 7

What are the differences between weaving and knitting?

e T (Group C)
AT STHF Teew (Long Answer Questions)

I gyeEd S fagere | (Attempt All Questions) (3 X 8=24)

20.

21.

22.

e AT9E qcAl FHIA BTHl SEREHT HEl q93 I g, 1Tl T el |
How do you apply your knowledge of food and nutrition for
maintaining good health? What will be the consequences of micro-
nutrient deficiency in our health? Explain.

TATHT 19T ACIERHT AT HTXIT T FRUEE ool Teld | ITh THET
FHTEITE AN ¥R [GTerd |

Explain the existing situation and causes of infant mortality in
Nepal. Give suggestion to reduce this problem.

TR IAMTeReh] AT F&AT THReb! X0 ITH 8eg, 7 ATeMeh (AHIOHT ST=iTehl Haed
T THer |

0%



What type of clothing should be best for school uniform? Explain
the importance of pattern in clothing construction?

Faar(Or),
qreTrer AT AT 78, 39T ¥ aTEe Fadl i TEws, ! [aeqalesor
TR |
How do you select colour, design and texture of clothing material ?
Elaborate it.
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Environment Science (Ens.413)

Grade: 11
Specification Chart/Grid

Unit/Area WH |Marks | Remembering | Understanding | Applying Higher No. of Total

N. /Knowledge ability questions Marks Marks
vsQ [sQ [LQ [vsa [sQ |La |vsQ [sQ [La |vsa [sa |La |vsQ |sQ |La |vsa [sa [LQ

1 |Fundamentals of 8 5 1 1 - 1 - - 1 - - - 1 2 2 1 2 10 |8 20

Environmental Science
2 |Population Dynamics 12 |7
3 |Ecosystem Dynamics 12 |8
4 |Environmental Resources |12 |7 2 - - 1 2 |- |1 - 1 - - |5 2 |- |5 10 |- 15
5 |Biodiversity 12 |8

Conservation
6 |Environmental 12 |8 1 1 |- - - |1 - 1 |- |- 1 |- 1 3 |1 |1 15 (8 |24

Degradation

Environmental Pollution |13 |8

Environmental Hazards |12 |8

Chemical Environment 12 |7 1 - - 1 - -1 - 1 |- 1 |- |3 1 (1 |3 5 |8 |16
10 |Quantitative 15 |9

Environmental Analysis

Total 120 |75 5 2 - 3 2 |1 |2 2 1 1 2 1 11 8 3 11 (40 |24 |75

RO%




Question and Mark Distribution

SN | Types of questions Number of questions | Marks per question Full Marks Time in minutes
1 | Very Short Questions (VSQ) 11 1 11 25
2 | Short Questions (SQ) 8 5 40 155
3 | Long Questions (LQ) 3 8 24
Total 22 75 180 minutes (3 hrs)
Remarks:

Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but +2 marks variation will be allowed within the combined cells. But cannot be nil.

In total cognitive distribution should met. £2 marks variation will be allowed within the cognitive levels.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviours.

The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding, 25% applying
and 25% higher ability level. Higher ability covers analysing, evaluating and creating levels.

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Model Questions
2077
Grade: 11 Full Marks: 75
Subject: Environment Science (Ens.413) Time: 3 hours

Candidates are required to give their answers in their own words as far as
practicable. The figures at the right margin indicate the full marks.

Attempt ALL the questions.

Group 'A’
Give very short answers to the following questions. (11x1=11)
1. Identify any two environmental factors that affecting population growth in

Nepal.

Write any two examples of K selected populations.

Mention any two mineral resources found in Nepal.

Define subtropical forest.

Which method of conservation would you suggest to conserve the species
which are about to extinct in the wild?

6 Suggest any one way to minimize energy pressure in your locality.

7. Write any one importance of hunting reserve.

8.  Define hazard.

9.  Write anyone effect of soil erosion.

10. Mention the WHO standard of Arsenic in drinking water.

11. If the pH value of soil in a locality is below 7, which two species of vegetation

ok~ wn

are the farmers supposed to cultivate?
Group 'B’

Give short answer to the following questions (8 x5 =40)
12. Describe Earth as a closed system.

R0g



13.  How do you explain positive, negative and neutral interaction between the
species?

14. Explain the eco-centric and anthropocentric perspective of resource
management with examples.

15.  Write short notes on.

a.  Rara National Park

b.  Annapurna conservation area

16. ldentify and explain the consequences of air pollution on human being and
organisms.

17. Describe disaster risk management cycle.

18. Analyse how individualization and urbanization affect sustainable agriculture.

19. Enlist different chemicals found in the environment. Explain how the
knowledge on such chemicals help to reduce industrial pollution?

Group 'C'

Give long answer to the following questionsi (3x 8=24)

20. Explain and relate the structural and functional aspects of ecosystem with
suitable examples. (4+4)

21. Describe environmental degradation. Analyze various causes of environmental
degradation. (3+5)

22. There is a pond in your locality, if you need to analyze the water quality, what
kind of instruments and parameters you prefer. Give logics.
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General Law-I

Specification Grid- Grade 11

Plan for Question and distribution of marks covered

Unit | Content Area Teaching | Knowledge | Comprehension | Application | Higher Total Total | Total
Hours ability Question Marks
covered
VS |S |L |VS |S VS |[S |L |VS|S VS | S
1 Concept, Nature 20
and Purpose of
Law 1 1 1 1 2 2 4 12
2 _ 16
Law and Society
1 1 1 1 2 |2 5 20
3 Functions of Law | 16
in Society
4 Autonomy of law | 12
and legal system 1 1 1 |1 2 |1 4 15
5 Structure of Law 12
in Nepal
6 Principles of Civil | 12
Law and Civil
Rights in Nepal 1 1 1 |1 3 14

o




Sanctity of Natural
Person and Law
Relating to Natural
Person

10

Rule of law and
Separation of
Powers

10

Dispute settlement
mechanism:
Formal Court
System and ADR.

12

14

120

11

22

75

Notes:
The alternative short questions will be asked from chapter 5 and 9 and long questions will be asked from chapt

21.

22.

23.

1.

Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to

the possible extent.

Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible
extent. All the questions shall be compulsory. However, two alternative questions will be added to any two

questions among the total questions asked.




24. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.

25. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher
efficiency and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22)
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[Gel. 415]
= &1 (General Law)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeTHT Hifeas gav faquwg | fhArrr fagusr sgeper quiteshars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T % (Group A)

afq e Sacs Tees (Very Short Answer Questions)

o yeeEd I fae (Attempt All Questions.) (11x1=11)

Q. BT ARl F BT 7
What is Law ?

R AR H gl [T TR |
Write any two characteristics of law ?

3 HATAH JFRET Iooi@ Tl |
Mention the types of Society?

¥, IR FHSATS TEATT Tl |
Define the homogenous society ?

Y. faggears aiwiva THEE |
Define the term " Bill".

% T4 BIAT AD B Bl 7
What is state law ?

o FAT TR TAE F A 7
What is legal person ?

5. HIAAT ATEA T & &l 7

What is Rule of law?

K



2. YIRYAHIFLT AATA & Aohee 7
What do you mean of separation of power ?

Q0. TXHNRT ATHATTARATER F AT STHFT AT |
Write any two role of public prosecutor ?

9. HAIAT AH & Bl 7
What do you mean by Mediation?

¥ @ (Group B)
it Savcs weew (Short Answer Questions)
S TReeEd 9 fager | (Attempt All Questions) (8 x 5 = 40)
9. D I3 & BT 799 TRl |
What is the purpose of law? Discribe briefly.
93, BIAAHRN THiAH AHT SARA THaY ?
Discuss the nature of law.
¥, FAAH AR ANdF FAEE ool THRI ?
State the four economic functions of law
Y. “FHIATA FHSTHT FTHIAE HeITI A TGRS |7 TR |
"Law maintain social welfare in society." Justify.
Faar (o)
“HiGTT HTATR THE F&ATES 2l |7 qRedHerd |
"Constitution is the fundamental law of land." Justify
9% SUTHT FET B HE AN 57 7
How does federal law apply in Nepal?
9. TSIAA ¥ FEsiie & a9 =T sarserd |
Differentiate between private law and public law?
iz, aTAdTiRl F¥adT faare TATETTHT Sl =T qHIRT fagero
THETH |
Analyze the role of district court in the settlement of juvenile disputes.

¥



<.

Forar (Or)
Jepfeaeh faaTs THTATTRT JUTIEE TFvaHl FGAh THE |
Discuss about the alternative dispute resolution?
oTfh ARl [HgTeeehl ITAT AL HAT 7Tl THeld |

How was the theory of separation of power originated ? Explain.

¥ T (Group C)
T STrHSF Tees (Long Answer Questions)

T3 gyeEd S} fager | (Attempt All Questions) (3X8=24

RO.

9.

R

TR AN F (b HEAT & 7 ITYH IaTeTUIH Aled
AR T |
Why is political function of law important? Discuss with appropriate examples.

SUTETAT BIAAT YU FIaes B TART greg ?
How is the sources of legal system applied in Nepal ?
AT HTAAHT WA [FgTa@ehl ATl THald |
Explain the general principle of civil law?
Forar (Or)
FIATH] AUV TEIIH AR T4 FTAAR Hecd THT T |
Discuss the concept of law and shed light the importance of law.
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5. [irad o fAsieq|  qo q q 9 | ¥ %
IR
. MMHiE® BN, [ q q 9 | 4 %
e W= ® ¥
o= e
FATIETdE HFIAT
q0. Tl AT AUer| R0 | 1 S R E
T
STHAT 90 S 3 R 19 99 | ¥O | RY¥ | 9
TIAEH THREE
Gl JhREE BlEEIERE] qUITg®
afq gferea ged 99 99
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STHAT R Y

segeg .

o AT AT UOH q USHHN & T ¥ AHATH Tl THTg THIEST T 99 F9F & B |
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DIl T9F YU ATHHT &7 T ¥ THATH Tol UhIgehl Fiqiaed g4 T & TIF T8 T AT b 38 JOTAT faebeq fam
Tqfer B |

ATHT T99 & AShHT &1 S ¥ 3 WIF T8+ B 919 % Ueh YOFHT qebeq fam Tfepet 3 |

T TEAT qUIEHHT R0 FTTHT TG T, I=o T&TAT TeHT R0 FIATHT T T T AT TeAT ATaLAFATTAR
99T B B |

qI TEHT ATt geBla T Aas AR dfd g, SeT ¥ A YIT e S | g GEHT A Grethl §IF @A
ATTATIAT €39 | S TEAT AN [AYATT, FeATgHA T [qoiATcHE qEehl I e |
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[Fin. 417]
ferrer (Finance)
THAT 999 99 099 (Model Question 2077)

e (Grade): Xl

THa(Time) : 3 Hrs. qutigs (Full Marks): 75
TSt TEHEET AR AT AifdE SO AT | AR e aewer quiTesars
srss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T8 & (Group A)
gfa @i STres Teew (Very Short Answer Questions)
I3 yyeEdH S feer (Attempt All Questions.) (11x1=11)
1. faaemesr 99 JeRe |
Write the meaning of finance.
2. dArfas i T fafqa gwafa dreesr wiF gaarsTard |
Differentiate between real assets and financial assets.

3. ufqa 97 99 e |
Write the meaning of letter of credit.
4. (e« giqaiaes = & T¥Es ¢
What is meant by fixed income securities?
5. DEMAT d@rar 97 & &1
What is a DEMAT account?
6. W qUTEA ATHRAT PTEATHT TF I AATIFT & 2000 FAT [ATTAT | FHATHT AT

TR 95 % B | IS SF FSATH! AT Hiq THM THIES, |

Suppose you borrow Rs. 2000 from bank for one year to finance
your education. Interest on loan is 18% per annum. How much
interest you pay on your bank loan?

ESA



7. Tafaddrs 9RATNT TR |
Define microfinance.

8. Sifgwars afvatfud T I3 qHT faerd |
State risk with some examples.

9. Sad A ? fASiEd A A e gears e |
Differentiate between life and non-life insurance.

10. amHfes T HE AR F 2
What is mutual fund?

11. =FhadieRo 9HH & &1 7 TIaT IaTex0 (&l |
What is compounding? Give an example.

g @ (Group B)

T Saas yees (Short Answer Questions)

T TReeEd 9 fagere | (Attempt All Questions) (8 x 5 =40)

12. fafqa saazarads! SHaeddiET FTIesd aAT SARA T |
Discuss the managerial functions of the financial manager.

13. areHr fafae [HeTH el S Tedesd TR aHT FEaHT au THe |
Describe briefly the different types of depository institutions in
Nepal.

14, St @1 FAT fAfHESH araaraHT @t (e [afgd Fertaad aeHr [aguat
B
Following information are derived from the balance sheet of Nepal
Auto Company Limited:
et 95t (Share capital) Rs. 3000,000
erR e (Share premium) Rs. 2000,000
gfqatra  ama (Retained earning) Rs. 1000,000
a.  HFEIATHT ARGATRT AT AT GE HA I &l 7

What is the shareholder's equity of the company?
b. Td AT 10000 AR bl & A= iq SR fepdrell Ao widq a1 7
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15.

16.

17.

What is the book value per share if the company has 50,000
shares outstanding?
fFerTert YebRes & & g1 ¢ FETHT AT TR |
What are the types of deposits? Explain briefly.
FEHNF [FgTes ATl T{eld |
Explain the principles of cooperative.
T3l SiEad T HFIET 20000 AT GREhdes Wwdl S | T [l
Givadhdies I W g9 ¥ 0000 SEd A1 TRAT | FFA |1 1 T qTMNE
fafrem el @REHANT A IoI6es A @REHdIH! o AUH GUSHT AE
FicTohel RhTAT T4 Fichrg) | FRATTET 34 THAT HGEY 1000 SATHT 3 1 B T
HETH! AT 9% | TIAdl aREbeedrs qTite STAT [T a7/ @ T
H(ETehl T b ATTATETATS AThTAT T ThH T B |
A life insurance company has 20,000 policy holders. Each policy
holders with the age of 35 has Rs. 250,000 for life insurance. The
company is willing to set an annual premium rate to charge to these
policy holders so that it will have sufficient cash to pay off the
beneficiaries of any policyholders who die this year. The expected
death rate for age 35 is 3 per 1000. The cost of money for the
insurance company is 7%.

a. gwEIad gogax TUET T |
Calculate the expected death rate.
b. & Feaeer awafad g g3 Fq SRR THIEE |
How much the insurance company pays for the claims for the
expected death?
C. I aitawarars T THIHT FFIA FA ok IOI3G 7
How much the company charges from the policyholders at the
beginning of the policy period?
gt (Or)

i



18.

19.

aiftasr AT TR TS ATHT Yorg ardd (M ATeee Ggus o |

Term life policy offered by Rastriya Beema Sansthan is as follows:

wrar 9\ ge@ ER (Amount of term life policy) = Rs. 675,000

e Aegee (Annual mortality rate) = 3%

Heer arra (Cost of money) = 10%

T fqT 9eE |

If you are willing to purchase this term life policy, what fair amount

of premium you must pay?

T rHfEd AT BT XY Z FFasre 4000 fear 9w & o @1 w7 ABC

FHHIAH] 2000 fFdT X %, 1¥0 FT T FRIAR AT G | HTET 4000 fq=a=

R FET G |

A mutual fund has 1000 shares of XYZ Company, currently trading

at Rs. 150, and 2000 shares of ABC Company, currently trading at

Rs. 140. The fund has issued 10,000 shares.

a.  HIYH GT FET HA B a7
What is the NAV of the fund?

b. XYZ & R % 950 o gig T ABC &#Hie#! 997 5. 990 & =ear
If investors expect the price of the XYZ Company's shares to
increase to Rs. 180 and price of ABC Company shares to
decline Rs. 110 by the end of the year, what is the expected
NAYV at the end of the year?

F Tk AR (T fafaa st afrawer T8 yare fagusr o |

The following cashflow of a project occurs at the end of each year.

7w (Year) == yare(Cashflow)

1 Rs. 700

2 Rs.900

KR



Rs. 200
Rs. 600
Rs. 400
90 % FeereY ATIR FAHE HA ITUET Tl |
Calculate present value by using 10 % discount factor.
b. 90 % =rhadieu AR ATEl Hed T THEE |
Calculate future value by using 10% interest rate factor.
zgar (Or)
bl AT o g 7 ATNhId JbRes el Tad | 2+3=5
What do you mean by an annuity? Explain the types of annuity.

» U~ W

g T (Group C)
qHr STcRe weAes (Long Answer Questions)
o yeeEd Iu¥ fager | (Attempt All Questions) (3 X 8 =24)
20. =T Y, R030 F fawn fowe faq fafaa dwarer qurer fudma fafra fafaes
(NEPSE) w1 U& #RERST T HIeH qd Joid TRUH G |
Consider the following stock quote for Chhimek Laghubitta Bittiya
Sanstha Limited derived from NEPSE trading as on March 5, 2020.
Symbol | Close |Vol. | Prev. Diff% | 52 weeks
close High Low
CBBL |1070 19040 | 1021 4.80 1343 | 751
a.  PRER o g [G7TAT ITh &bl AlTH e Hiq faar ?
At what price did the stock close on the trading day?
b. fo#e wafaa fafaa dxarer 3w f&q #fq ores FREAR quF 9 7
How many shares of CBBL stock were traded on the day?
C.  HIEIHH ¥k FEL TUMAT TG 7 TR A4 & &l 7
How do you calculate the quote "Diff%"? What does it mean?
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21.

22,

YR EATHl FATET ATTHTH T FATH FRIAR T Hidq H(T &l 7
d. What is the highest and lowest trading price of stock during

last 52 weeks?

gaar (Or)

ATAHT QTAREE GREHT AT e {ad [q-ATeAT JUITellehl TANTHT SATHT AT
THETH |
Explain the C-ASBA system used to apply for purchasing shares in
Nepal.
TR A= G ¥ I IR agTiee e Tl |
Define insurance and explain the fundamental principles of
Insurance.

qUTE & 40,00,000 FH1 4 TF 43 Yo T TTeT qUT AHAHIV FebeaT | fe AT
e |
You are planning to borrow Rs. 1000,000 on a 5-year, 12% annual
payment fully amortized term loan.
a. I HUTH HATE ATHTT Hid 8l ?
What is the annual payment on the loan?
b. I HH ST SR AlTH TS AHTAT Bl 8l 7
What fraction of payment made at the end of second year will
represent the payment of interest?
C. S WU JH TUH[ AAT HHTA F(q 2 ?
What fraction of payment made at the end of third year will
represent the repayment of principal?
d. S e afedw auEr AT T Fiar R B &l 7
What would be the amount of interest and principal paid in the
final year?
Best of luck !
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Computer Science

Specification grid 2077

Theory (Com. 427)

Grade: 11
Competency level
Remembering Understanding Applying Higher Ability kY,
5+
S
8 o4 8 o4 g 8 o4 2‘ 8 o 9:* @
8 3| = S |3 | & 3 = | & - s | & 4 | =
< < =
z 2 2 5
» k) 2| 2 2 3 & & & & 2 & 2 & =
5 5| .8 S g |8 S g g S g S ge 8
[+ (T| (T| (T| [+ [+ [+ 5~ [+ [+ 5~ o
215232332323/ 323232:5/252323¢
o O g g (@ (@ (@ O (@ O O g
o o g g o g [ = o = o O
pd pd Z b p Z Z p 2 pa P
1 | Computer system 20 12
2 | Number system and conservation 1 v
Boolean Logic
3 | Computer software and Operating 12 8
system 1
5 | Programming Concepts and Logics 8 5
6 | Web Technology | 8 5
7 | Multimedia 6 4
8 | Information security and Cyber law 10 6
Total Marks 80 8 12 15 15 50
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Item format plan
S.N. Type of item | Score Total item Total Time
per score
item
Multiple Choice Questions 1 9 9 | 20 minutes
Short Question Answer 5 5 25 100
Long Question Answer 8 2 16 minutes
Grand Total 16 50 2 hours
Remarks:
. Item format in composite should be met as per the specification grid.
o Designated weightage of the units/content areas should be met.
. In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.
. The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying
and 30% higher ability level. Higher ability includes analyzing, evaluating and creating level.
. SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution.
. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 1 "OR" question.
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Model Question

Grade XI
Time 2 Hours
Group A: Multiple Choice Questions (9 x1=9)
Tick the best alternative.
1. Which one of the following is an input device?
a) speaker  b) printer c) monitor d) mouse
2. Which of the following is NOT a bus type?
a)  Address bus b) Databus ¢) Memory bus d) Control bus
3. How to represent Boolean F(x,y)=x.y in logic gate?
oA —} . ZBIZ—}
EE.:E]EE:DZ“EEEE?}ZEj)j o
4. Which scheduling algorithm allocates the CPU first to the process that requests
the CPU first?
a)  first-come, first-served scheduling c) shortest job scheduling
b)  priority scheduling d) Round robin scheduling
5. Which operator is used to start for enter the formula in in Excel cell?
a % b) @ c)= d) +
6.  Which looping process checks the test condition at the end of the loop?
a) for b) while  d) do-whiled) Nested loop
7.  How to insert an image in web page using HTML tag?
a) <img=..> a)<imgsource=...> ¢)<imgsrc=...> d)<img href=..>
8. Which image format is best used for photographs and offers a small file size?
)
a) PNG b) GIF c) BMP d) JPEG
9. Which of following is monitors user activity on internet and transmit that

information in the background to someone else? (U)
a) Malware b) Spyware ¢) Adware d) Virus
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Group 'B’

Give short answer to the following questions. (5 x 5=25)
1.  Explain different types of secondary memory of computer system.
OR

Describe the decimal to binary number conversion process with example.
2. What are the functions of operating system? Describe.
3. Define different types of CSS.
OR
Explain the different components of multimedia.
Differentiate between the do and while loop.
5. Suggest the prevention methods of cybercrime.

Group 'C'

Give long answer to the following question (2 x 8=16)
6.  Explain computer architecture with block diagram and functions of its

components.

OR

Write a program to input the elements of 4 x 3 matrix and prints its elements

properly using array.
7.  Draw AND, OR, XOR and XNOR gates with truth table and logic gates.
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Apiculture and Sericulture

Grades: 11 code: Aps. 429 (Grade 11),
Specification Grid
Unit | Content Knowledge and Application Higher Ability Total Question Marks Weight Total
] Understand Number IS Marks
g >
5 [
o o
= Very |Short |Long |Very |Short |Long |Very |[Short |Long |Very [Short |Long - Very |Short |Long
Short Short Short Short Short
Introduction
1 |to Apiculture 5 3
Biology and
2 |Bee Colony 8 5
Apiaries and
3 |management | 20 12
Equipment
. 6 1|1 1|3 0 2 1 1 9 5 2 16 9 25 16
4 |and foraging 5 3
Introduction
5 |to Sericulture 5 3
Silkworm
6 |rearing 21 14
Cocoon
7 |assessment 16 10
=T 80 6 1|1 1|3 0 2 1 1 9 5 2 16 9 25 16 50
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Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" gquestions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical.
The figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions. 9x1=9
q. W g3 HRIPT AT ATH ACTE |
List any two species of Bee.
. HEMHS WHR & &l 7
Write short note on swarming.
3 HIOUEAHT YART &9 % g% YAl AHARSH AW Jeod TR |
Name any two protective weare used in bee keeping.
¥, STEAT W SR AT SYARN &9 HeX 33 YSTdesdl ATH qeield |
Write any two bee flora found in Nepal.
Y. T [T E g3 e AT ETE e |
List any two species of sillz worm.
% Protozoay (Pebrine) IR #R# fSamre a4 defer< |
Write causal organism of protozoay (Pebrine) disease.
s, Mounting #1 #+ T# A Ii@ TR |
Write any one importance of mounting.

S, HET I & qheS 7
What is Cocooy?

R, Hd HIEAATE O qlE= g
How will You identify dead Cocooy?

Group: B
Write Short answer to the following Questions. 5x5=25
Q. WOTCTHT A GATH] FFATAATR] AIHT Ao |
Write about the scope of sericulture in Nepal.
3 T [T SiETEEEl qUE TR |
Explain about the life cycle of silk worm.
3 U FRAH! [AAEE S THe |

EEE!



Write the characteristics of good quality cocooy.

¥, JUTAHT W T Heed AR |
Write about the importance of apiculture in Nepal.

Y. ORI WE SCATEHR] AT WD BIATwTR] a=aTas Hadl TR, ¢
How would you manage bee colony for good honey Production.

Group: C

Write Long answer to the following Questions. 2x8=16

Q. =R =T fafae gerew ud fafresedr sEearad e aue e |
Discuss about various types of combs and their management.

. A [BATATHT ATaed S T ATAUESH! AT == e |
Discuss about the materials required for silkworm rearing.
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[Beh.431]
Hreadere qar Swreean forem (Beautician and Hairdressing Education)
T 939 97 099(Model Question 2077)
e (Grade): Xl

THa(Time) : 3 Hrs. quige (Full Marks): 75

TSI qHTFT ATRA Mo HT Aiferss gax farquwg | fhamran faguesr sgepet quiTeshars
s=rse | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T8 & (Group A)
afq e Sarcs Temes (Very Short Answer Questions)
I yreeed 9w fee (Attempt All Questions.) (9x1=9)
9. AT A TR & B !
What is aesthetics?
R radepell RTEATHE FH e Hewd TRy |
Write any two importance of beautician education.
3 I WISTTAT B 8 2T docdgedl AH TETa 4 |
Write the name of six elements of balanced diet.
¥, TAHATRRT AR & BT 7
What is sterilization?
Y. gieS TTaT FATHT FHET EUAT I YTATHE IR THE 7
What do you get first aid if skin rashes problem appears during
threading?
% 9T AATAITF I BATSH ATAISH F geadl "R [afuew deTR
Write any two homemade processes of removing unwanted hair.
S, HYTAT UTSH Iadl dee&dl ATH detard |
Write the name of three layers of a hair strand.
S, TR AN GART g AAael ATHAEEH A9 deTard
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Write the name of any three materials used in spa.
. FE qUISH AT el B W FE VER THEs ?
How do you care your skin when it is dry?

¥ @ (Group B)
Tire SaRTwe wew (Short Answer Questions)

% yeeEd SR fager | (Attempt All Questions) (5x5=25)
0. YRR FRRATHANTATATHA FE HEd RATSS, ?
How does physical exercise help for physical beauty?
waar(Or)

qATHE ITAR, AXRTS T MHATHRIH q=d faqerg
Give introduction of first aid, sanitation and sterilization.

Q. Sfreae fafaerr TRt T A EReE SATavaE A Barg ATl FUH T |
Describe the depilation method of removing unwanted hairs from
the face.

Q2. TS Bl IATATHl ITAR FEA TEs 7 qUF TR |
How do you treat foot sole cracks? Describe.

3. BRI ATHERSP! Gle=d TR SR TAT AT &l A8 g 7 fersereror
THETH |
Write the procedure of the make-up on round face. What will be
the result if make-up is done without identifying the shape of the
face? Explain.

¢, TRl T G | TR B G FAEE g THE
Give introduction to skin. Write any five functions of skin.

waar(Or)
BT AXARTE (FIHHRIR) T HER TH qRH deTald |
Write the procedure of manicure and its decoration.

w18 1 (Group C)

e



M STrHSE Tees (Long Answer Questions)

I3 geeEd SR fager | (Attempt All Questions) (3 X 8=24)
. HAAT @ FHET T fqFEr FRUEE 9few THeE | B WERE AN uR

Q%

SUTIETH] AEcdd! (a9 THE |
Identify hair problems and their causes. Analyze the importance of
household measure for hair care.

AR TEHRET I=rT faHere ¥ TGl HeTd AU TR | Thidd ATeRdTs

HTFYF TATSH ANFEE Ioofd TRl |
Give introduction to the facial make-up and its importance. Write the
techniques of making the natural face attractive.

BRI
SATGTE AAH & BT 7 SATgTe I ATKHT T AWHT RISaT TaH dhISaTeE Jooid THerd |
What is blow dry? Write the techniques of blow dry and its
advantages and disadvantages.
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Plumbing and Wiring

Grade: 11 Subject code: Plw. 435
Specification Grid
Unit Content Working | Knowledge | Application Higher Total Marks P
Hour and Ability Question Weight é g
Understand Number S 3 I
VS|S |L|[VS|S|L|VS VS | S VssIL |E& |¢°
1 Introduction of Plumbing | 2 6 |1 |11 02 ([1(1]|9 [5|2]|16 25 | 16
2 Tools for Plumbing 12
3 Plumbing Pipes and 10
Material
4 G.1./PVC Pipe Fittings, 10
Joints and Valves
5 Measurementsand symbols | 4
used in plumbing
6 | Tools and accessories 14
7 Concept of electricity 6
8 Electric Circuit 12
9 Electrical Power and 4
Energy
10 | Cell and Battery 6
Total 80 6 |[1/1/1 (3|02 |1,1|9 |5|2]16 9

%0




Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive
behavior should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"
question.
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Model Question

Candidates are required to give their answers in their own words as far as practical.

The figures in the margin indicate full marks.

Group: A
Write Very short answer to the following Questions. 9x1=9
1.  Whatis plumbing?
2. Write the full form of CPVC. CPVC.
3. For what purpose can we use reducer?
4, How can volume of material of pipe be measured?
5.  Write the applications of micrometer.
6.  What s the function of switch?
7. Define electric circuit.
8.  Abulbis rated with 100 watt. What does it mean?
9. Define 1 unit electrical energy consumption.
Group: B
Write Short answer to the following Questions. 5x5=25
10. List out the steps involved in laying of pipe.
11. What are the different types of pipe joints?
12. Differentiate between AC and DC.
13. What is series combination of resistor? Find the equivalent resistance of it
mentioning its characteristics.
14. Mention the different methods of charging a battery. Explain any one of
them.
Group: C
Write Long answer to the following Questions. 2x8=16
15. List out the different types of tools used in plumbing works. Mention their use
also.
16. Explain in detail about the construction and working principle of fluorescent

lamp.
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Hotel Management

Grade: 11 Subject Code: Hom. 439 (Grade 11)
Specification Grid
Class 11
Unit Content Working | Knowledge | Application Higher Total Marks Total Total
Hour and Ability Question Weight Question | Marks
Understand Number
VS|S |[L|VS|S VS|S|L|VS|S|L |[VS|S |L

1 Introduction of 10 6 |1 (1|1 [(3|0|2 |1|1|9 |5|2 |9 |[25|16/16 6
Plumbing

2 Tools for 12 8
Plumbing

3 Plumbing Pipes 12 7
and Material

4 G.1./PVC Pipe 12 7
Fittings, Joints
and
Valves

5 Measurementsand | 10 6
symbols used in
plumbing

%3




6 Tools and 12 9
accessories
7 Concept of 12 7
electricity
8 Electric Circuit 10 50
9 Electrical Power | 12 6
and Energy
10 | Cell and Battery | 12 8
=T 6 1 (1 |13 (0|21 |[1|9(|5 [2|16|9 |9 |25]|16 7
Remarks:
o Item format in composite should be met as per the specification grid.

o Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

o SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should
be approximately to the required distribution.

o The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

. In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.

Section A
Write Very short answer to the following Questions. 9x1=9
Define Chain Hotel.
When and how Nepal did open its door for foreigners in terms of entry?
Who is Domestic Tourist?
Write any one function of Skipper in Hotel.
Write down the full form of GRE and FIT.
What is the function of the Emergency Key?
Who is responsible for preparation of cold food items?
What is the French term for Senior Captain?
What is the standard size of Square Table for four covers?

© o N o gk whdRE

Section B
Write Short answer to the following Questions. 5x5=25
10. What the difference between Downtown hotel and Resort?
11. Explain the Basic Components of Tourism.
12. Explain the Telephone Handling Etiquette.
13.  Write the major responsibilities of Room Attendants.
14. Explain the major outlets of F&B Department.

Section C
Write Long answer to the following Questions. 2x8=16
15. Draw a neat diagram of large hotel organization and explain it briefly.
16. Highlight the coordination departments of kitchen with their relationship.
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AqHAT I3 9T

F&T 99 UTegeh ATHI=ER T Iepleal
qUISE: Y FHA: 3 "I

TE #
Gropu A

AAET FEAREH A T IR f&egE 1 (Very short question)

9.

q0.

.

HuHAfgar (SMCR) &1 1 &9 «&Ted |

What is the full form of SMCR ? (K)

TR YR AT ARRTT ST HIAHHAT & U H&T AaRd Ioord TR |

Mention any one major interference of communication process in printed
media. (U)

TGB! AGIRT FHA a9 ATTHT 8l ?

From where the concept of penny press is originated? ( K)

TAFINATRT EA R AT TR |

Write down any two significance of journalism. ( U)

ATATAR TAFIRATS & FEAT AT HGTHT AT YT THILE, 7

What type of burnning issues should be delivered by environmental
journalism? (A)

FHTARHAT STATSA (b IJooid TR, 7

Why should dateline be mentioned in news ? (K)

TAFRAT FA TF FH ACAR |

Write down any one duty of journalist (K)

What is information ? (U)

Jureet vl H U FATaETdTATS AT FATIEIATS AT [aq b X G¥hTaes [ |
Give any two suggestion about the things to considered by good reporter to the
journalist that you know well. (U)

TITAHT FraTeahl GxaTd Higiare HUH! al 7

When the internet service has been started in Nepal ? (K)

AT TAFATHT B R qT fAfHaares defard |

Write down any two limitation of Online journalism.(U)

G



TE T
Group B

JqH TSR Aga Sux faerd | (Short questions)
R TSAREH TFNET IoAd e F UHH GIel ATl TR |
Mention the types of communication and explain any one of them in brief. (U)
93 TS TABIRATHT (TTTTTHAT AR B Teb THTHAEHT THAT TAR TR |
Make a sample of news on the subject matters based on eco-journalism ? (A )
Agar
FHTAT HeAH! Hed ¥hesb WY U G¥ITR(6TH] THAT TR qTHad |
Make a sample of editorial being focused on the news values. (A)
¥, AT AF KM TET T [ 99 FRee =0 T e |
State the things to be considred while conduction research based reporting.
(HA)
. FHMERH Faee THET TR |
Highlight the sources of news? (U)
EREI

AT T JRU THAFIATHT & F¥eh G 1Foci@ T erd |
What are the differences between print and broadcast journalism? Mention it
(V)
9§ FEMER J@AE ET FEl gy At gu TR |
Introduce the news structure with figure. (A)
9. UTF A FATERTAT GAFT AN AT@eTH T AT T [UEeE Ioid TRl |
Mention the qualification and qualities required to be good reporter. (U)
iz, fagmra Roifdgsr T9A1 @ TUR AR |
Make a sketch of model of Beat reporting. (A)
9%, AAATEH TABATH] ATTLIHAT T AEA ACTRd 7
Write down the importance and need of online journalism? (K)

T T
Grop C
JHT TEEeR ardr gax fae | (Long question)
0. FEER YIRAT HEA THIA grg ¢ At AT TR |
How we complete the communication process? Explain with figure. (A)

¥



9.

R

TATAHT ATAATIF TAHIATR ATAAHAT [F TS, ATHRAT dbated e T |
Explain the importance of professional journalism in Nepal with suitable
arguments. (H.A)

EREI

fore frdifes T s @raTToHe Riffeg®r qovTcas faeayo THae 7
or
Make a comparative analysis between beat reporting and investigative
reporting? (H.A)
ATHITSTS Fostrerel ATH FARHT TREBT THATAHR] [T THar |
Evaluate the positive and negative aspects of social media . (H.A)

000
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F9. IR JehR 997 qSEAT 9fd 997 ASHAR STFT SRR THT ()
q a4 Frar ged 19 q 19 3%
R grar ged S %0 %%
3 AT g9 3 ¥ Yo
STHAT R 9y, 950 fAee (3 "van)
A

o TIAYH [AAI T FFUHT THTeeshT AFHRAT H¥F AT TN G Iled T |

o  JIHTHAAT ATH TEH YT R0 GIqerd, e deehl G99 30 FiaeTd, YIRT q8ehl F9H Y G ¥ S=a S&Tal deehl 99a W gfasrd difas = |
o ITU TLATARNI [eT0, TeAiehd T TSI T T Je (00 T G |

o UFHT ¥SE, T 9ATE W TE el ATRET BIEl JIAET UAN TS 3,3 ¥ Y AT T T ATHI Afaread qed drey og | fT qeew frew

TIFTHT TE T THN ETIS,
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ey T e fran (Optional Health and Physical Education)

AHATIIA (Model Question Paper)
H&TT(Class) © 99(11)

qUITEH (F.M.) © 9% (75) THA(Time): 3 H9CT (3hr.)

TUE & (Group "A''% X 2= 22
el 99 ATAT FITEERTATT WWW?%‘F@?{ (Answer the any 11 Questions in very short)
1. NI TREEENIAR & Bl
What is physical fitness? (K)
. I THRE dedl (eafdH I s FE0 T a7 7
Write a way to practice the first position of suryanamaskar. (A)
3 FEETESITH ATEHT I B T AT W@ qHEES & g7 |

Write down two main health problems that appear to be due to lack of

carbohydrates. (U)

¥, T Al @RS g9 ¢ fohd, U AT deTRid 17
Why should our lifestyle be healthy? Write in one sentence (HA)

Y. AfEATETIRT THAAT AUATST T % Ub AT FaeR AETed |
Write a safety behavior that can be adopted during menstruation. (A)

S 2 o R AT U A
When was South Asian Sports Federation established? (K)

9 AT GABTET g5 AT Hecd deerd
Write any two importance of International Games. (U)

c.  TTHTeT feHel AHATIe arsfaeiaHir Tl Hiqarer farars ars fegwsr
How many byes are given to ten teams in constructing Knock out Tie sheet (Fixture)?
(A)

%, WTEIRY APl F UF Hed qCTR |
What any one importance of the local games? (K)

Q0. TqUTEHI MSURHT e H Tk TATHTA Al Ufg=Te T TFRT FA Teh
feartreTar eretad |

Identify any one local game played to your locality and write one feature of its. (U)

4R



11.

TIT GeAPT JagT THHT AN ATATSH I FH Teh JITT AT |
Write any one ways to promote the local game. (A)

e @ GroupB

qABT Jeeed Seaar e | % X & = %0

Answer the following questions in short.

AES

1=

9%.

.

Q%

q9.

HIEE SITHT ST 9T MM [RTETTeh ATTIAHATATS IS FiEd T

TR |
Clearify the need of health and physical education in human life with examples.
TATAHT HAMAT @I FRAFHB! TATARIAT TFGHT ATRAT Thes T

{ H;%x q | Give your arguments about the effectiveness of vaccination program in

Nepal

~IHITAT TUHT FH T (GHHATE IT IS T b U ABTNF GHTAEE
> \l

Give any five preventive suggestion to your neighbour to prevent the pneumonia.

ARTIETS TEIATTHT o 1T STHHIT AAREE Joold TeTd |
Explain any five long term effects of drug Misuse.
OR

ARTIRTS TREAD! [HAAVHI AT ATl T RTEAT JITAhbT FIHT

o A o T AT ACTerq |

Write any five that role do you can play as a health education provider in controlling
drug addiction.

TeTrele =RITEE ¥ [ IME= HROT T AETUHT ATIRAT AT T8I |

Compare among Anxiety, Neurosis and Depression on the basis of causes and

symptomps.
{Tad THEH HiATET [aHes &=l HAANTAT g 7ol [EHES HE Gl

Mg, 7ETed |

Write down, How many teams compete in the World Cup Football? How are these
teams selected?
OR
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qUTEHT fa=mean fagamerasr d=ray e emuer Teadfa g fires
I TATNTATATS STaedd TTHT GoTAT T4 FdeIF JIUEE Ioold
TR |

In your opinion, what should be done to run the Presidential Running Shield

Competition effectively? Write.
i5. 9TEE AAFTE GAbl Slel == T e |
Explain an ancient Olympic Games in short.
9%, 93 ¥TaT faH® THATIE JUTAHT ATSHEA TTANTATH arerae qar
THETH |
Prepare a knock out tie sheet of 13 teams for a Badminton compition.
e M(Group )3 x5 =¥

defcbl YrAeh] ATHT 3dX I(\G"lﬁlﬂ\ |

Answer the following questions in long
R0, TWRATU T QY SAAR] ATNT QMLAE [FATRATTR Hecd T AL
Ii@ TR |

Mention the need and importance of Physical activities for the healthier and

longitivity of life .

. T FAFFAR] ATTTAH] AN TATES HFTAFT T ARBEE ATS JETHT
FUF T |
Descirbe the ways that you have adopted to follow the healthy lifestyle in eight
points.

R IFY YA YUITATHT AFeeh HIH AT ATl THel |
Explain the functions of male reproductive organs with labelled diagram.

OR

AT AfeATERr AT TAT ISTAT TATERT ATHI TALATHN THTET
Tlﬁ%\'l'{ | (Critically analyze the current sexual and reproductive health status of
Nepali Women.

The End!

LY



goepe fasme

fafirsdiereor it 090
& : 9 fow : @eg fa= (Sps.445)
997 AT TIT AGHAR [T
THTS SEPACAES FY | Hb A ELE] TANT I eIl AN SEHT [STEET
U AR AIHAR HFAR
afq |@rer| @ | wfq |@rer afa |@rer afq |@rer| @ | afq | grdn |«
Ber Ber Ber Ber Ber
1 |UedE AR FEgRe | e | ¥ | % | % | - | 1 | - - |- T -] - 3% | 5] 9%
3 |iq fasm 9|
3 |weee fafedar s | %
¥ | Ed%E HAES @B s | 9| -] -] -1]19 e T Rt e O I T O A S AR R 1
Y WAk GITeo e | %
% ke FILIIA c | ¥ - | - - q - 9 |9 q - - 3 Ed - g
© CECANIITCAC I EE 5 ¥
qRET T AATSHA
c  |uaefea Y& | - |- |- ]9 |9 - |- N E T % | -] s
] | a9 ¥ e ¥
Lctasil
0 |@eETE ® ¥ | % |9 - |- - 9 - - - - - 9 ] % | - %
99 |€wEr @ ¥
ST O 10| 3 9 3 E q q ) q ROl R | 9% | ®o

REES




YAEs fIATH JI7 TP THA =

F. | TWAH THR | T4 GG | TfT T AEPAR | ST ASHAR g (e
q 8¢ e g9 | & 9 ? 30
R Brar g9 Y Y Y, q00
3 ATHT 997 R c 9%
STEAT 9% 40 930 AT (R =van)

- K
JYTEE HIEAT AT TANFUHT THEETHT Tedhl THedld TSTAR T HBARE] Tlad (Hed TR JF Fred T, |

THEH! STHAT HBHT X AT T THETART THISHT £3 FiZeh T T (AT T Ficbris, d¥ s THIgane Y97 g T favaasga

AT HTAH TIG, |

JTATATAT T TEHT TIH 0 T, aTeT TEehT T 30 FIqTd, TANT T8N TIF U FIqA9Td T = &IAT qgehT FIT Y Fiqered Fifee 3 |

I TAATAT [0, AR ¥ Fqsr @ T g9 (A T 3 |
T T 99 T IR AT I3 AT ATARET BET JeAET TAH 97 7 4 AT T3l T ATAT AfaRad 99T qie 991 |
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THAT /T
Model Question
fawT : @Qoge a9 [Sps.445] qHT } O
Attempt all question
TIE & : TOABTILAEEH T AHAT STR AETRd | (RX9=R)
Group A: Write the answers to the following questions in one sentence. (9
x1=09)

1. waks faw W & & *What is sports Science? (K)

. A deere AT STST aTaT dA il gardedl A g5 ¢ What type
of liver is used when erecting an electricity pole on the ground?
HA)

3 GATSIESH ATAORE THEES AN T AIATS Al & Ul I TETard |
Write down a solution that can be used to solve the physical problems
of players (U)

¥,  Athcddls HAAA  HAREENERT WE g1 ‘How many types of
personality are there according to Krestcher? (K)

Y.  UARIHT THIHHIGE AT JART T §5 FRUEE  Aarsderd | Suggest the
reasons for using anthropometric measurements in sports. HA)

% GARg JGAINTarET "Eeasa gy w9 & af What is human resource

management in sports competition. (K)

S YATSIEEH G HITAB] HUT T FH T 3rd wrererd | Write down a way
to measure the sports performance of players. (U)

c.  ONMEAHl JANEE  HANHATCHS  Hrgar w9 {aq @ik How to get
psychological benefits from the use of yoga (U)

?.  Hegd @l Aardd daee % & g1 ?What are the basic skills of football
?.U)

RES™



THE @ : qAHT YIAESh Blal IuR AGard | (AXY=3Y)
Group B: Write short answers to the following questions. (5 x 5 = 25)
0. WAHR [aAHH IaedET GlAdg THa |
List the objectives of sports science. (K)
9. URTETUTRT AR WAl & BT 7AHE JPRES TATH TR |
What is training Load? Describe its typesU)
sgarOr
GAETHT GO HEed I ATTLIRAT I TTHa 4 |
Clearify the need and importance of nutrition in sports? Explain. (U)
IR, UARSHT TIGTATES ATTAR] TAN & THE, 7
How do you apply anthropometric measurements in sports? (A)
et Or
IR TREEINHT AT AWTRTHRT AN T AANRATCHE HTZaEs e THerd |
Identify the use of yoga practice and psychological benefits for
physical fitness. (A)
3. UINCHIaTs qRINT T4 ETESTFIeT FRUEE qU TR |
What is athletics? Explain the steps of the high jump. (U)
¥, Head GAH! JECHE T ATHTHF OMIAee Iocid T erd |
Mention the defensive and offensive strategies in football games. (U)
FHE T @ AABIIAETH AT IAX AE@F | (RX5=9%)
Group C: Write long answers to the following questions. (2 x 8 = 16)
. TAHIHN 8T T GATNGH! AT AT AT AeAaw (b TE0 B 319 qob el
HIRAT AT I T |
Study of Kinesiology is essential for sports person and in the field of
sports? Present your logical arguments. (A)
grear Or
G AHIfasTars afefa 78 age aew gu e | Define Sports
psychology and describe its areas. (U)
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1§, GATSIEEH! A T AAHBATH ATAFNG THRT AT T E ANAH FBIAHHB GIHT TAR
e | Prepare a one-week training program to increase players'
speed and flexibility (HA)
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93, 94 ¥ 9 TEERH YIFESHT Ueh ATqad qe= i 3 |
TSl FARATE I FITEEHT A, AT, TART T I=o T&TATRT Y97 J[AAE THIgard T Aled Al o | d J9F FeaT
T GITRT TR TR THITTT 7 g0 B | TehTs ThATE ATHI 9 AT S | TG FoSaHT Glal Afaad Joe aTeat
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QI AT QAT AT Rrear [Sol.447]
qUITgeh: 5% qAT: 3 °U

o N

T JedesHl A% faqe |

qHe &

qAHT TIAETHN AT Bral S G | 99 X 9= 19

9. ITHI® AT ¥ FraffeTesd [aam faaesl araRaw = Ush ardql Sooid
TR |

R IRASAT FE A (FATATHT THITART ATRTEEHT HaL FRIHHN 6
T8 ? Ueh ATRHT J&ard |

3. ZeaReHl JANT &l Arag™l 9413 98g, | {67 7 % us d% g
T |

¥, g i wTHE ST & U 9T e 7
ERISIEA AWH! SfqeTeer! AfAd [EAhH! ATH AETalT |
TqUTE F TATARUNT AT TG, ¥ AqA TITZHT SAATH qTRHT HT
Teh TATT Telard |

S ST ¥ TS fwR HT TF BRF AT |

5. AYTAH] AMTT FATH! [HaT=Tbl ATNT H&ql [Har=r gumel v
TRTHT B 7

. IHHATAAT ARl & Bl ? U ATRMHAT AETald |

qo. IFHY F&AT T Wer T fa=repl & Tk FI=IaT STeTerd |

-~

Q4. ANIRTIR TAGTATE T F Tk IUTT TERTSTE |

qqg g
qAHT JIAEEH Bel I (eI | T X ¥ = ¥o
qR. ARG THTE ATTHT FATAHRRT FTANT HaLT T Fleprss, ¢ ATRAT AT

F qTFFST GFHTIEs T THar |

&3



SREI
FIAX TAT a3 feisTee [SHISHdT TANTS qUiSh! SHATHT T
HPRICAE THTEES delald |

93.  ITATAA IITRT SIAA TgATehT [a9drars qi=adl Ml Joeid el |
¥, STFiTterer fafaerdrer Tdes &eaT T YoTaes et e |
Q. TR el faeaaT IUTHATRT ST TRAT | T AATSeTS e
T |
EREI
BATGT [GTEGeh! HIAAT AT FATABN] § AR FRIEE T(=ac]
T Tl e |
1% FHN fad q9d & 81 7 IAEUEed IHRT [axehl Hdes Iooid
THETH |
O, TG fAAROTHT I 9T B Y Teaeserl AT A |
95, ETHT 39Tl ATHT FREATHT ATNT FHEAT UG Faervard T deg T
TEHAT AT qRET IRUGATs ehadied 99 el |
9%, ATHAT (R TAT JATHALATH AdEseATs AT TR TAT AT T HT
AT YR T THAT TS HE0 IR T ?
He T
AT FEAEER! AHI IR (&6 | 3IX & =RX¥
R0, TATIATE THTARRI TTHT EATIA T H & ATl FAeINE I3hTaes
TEI TR |
9. AIEATE G TS B qAT TAAT AT FATROT EAAT FA A

HIl G TRRT 9T ? & JATell FHISTHT B T qeATedd bl FHTS
e Alhrg 7 HE ?
ERLI
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